(~— ==
"/’\ ~
e ot




Y  Specialized in Manufacturing
mveomvons— AJT Kinds of Toggle Clamps

A
KD-202-FL

¥

== )
oS =
' o

KD-225-D

'KD-303E /39\\
——t

)

KD-302-D




H #% % 5l

1-15

BSBIBERE, SHIER  EiMER

SIEEERE SIZER N EERE/RR
[EWE REZER REIES BERES
TREERS /e TIRERR RENNIE]IE

EFiE/ ETES FBES
ERIRzRAE/TRIKMBRE,/ XEER
BIKEs,/ ZERECIEH

EREIME RENR

A B | 16

Ex=TH 17~22

iS5t/ Fi8ds RT)es /SIEW
BB TEHE, /KRR, XD
SIVEF/HERE
EERT\BEE)REE /FINIEE
IR T iR B

= 23-24
25-29
s/ i el s0~34
35-36
G s 37~49

AR/ SETRiT
EWINRERE IR LN
SREBEIL, WIEES
IBSLIRSFHHIRE

iR BN

AEEAEHE 50~53

LEEER /SR T BR/RI2E
AlERICAIS /IR ties
REER =B/ ERER, /BB RIR

i EHIERHE 55~62

B ERE R A
iR SRR ER, /KHEE
VEE=AE Elo

SR EsE 63~69

AER/ftEsV s  FiTR
fRilEEss TeEBERR » TR
EfR/BEBR
SIRE RS =HER

e 70~91

= 92~97

SRR KSR NERE WITRER
ERET EES IRhR AR
STEETVAIIR ST 8NEs



H #% % 5l

S i

SOBR/BERER
EER/AER/NIBR
ER/7TUTR/#ER /R
FHER/ PIVE BBF R FiR
DER/BER,EiRR

B2/ 1888,/ 1HhIER

&R R

BER REN/ER A

S —118

HIIRT

ZZIRR /B /fhsai /0=

119

Nl ek 120
===

B HEEETBRE
ABEER / EHEEE

121~123

e

EEm®/ ZEw / EEililss

124~125

=112

SET )\ TN 126~129
EZET A 130~140

Bie B e/ #ilbes/ IDR®
ISR/ LDEDHH1E] B a ]
O]/ BRht/SHEE
KOw@st MEET] /ESEE 85
HEYTIEEE, EEAIIR EiE BUIE
HRE/FEM/ ) /I8 |RaR
oS Vi) 3LV~ YIVE WAV i
=RBilJ)/ Bt/ ¥ HWIEEHE
BEWThRER S FER S BIET]
RTIEE /I iNES /R8s

FTE 141~151
eSS tE] EiEs  BEEH
BT/ BERS / BEORSF
BIERTHE, BRI SHE,/ B ORTHE
O, RO,/ #HIKEER

R ESEINRT iR RS

EResH EER i, Ry
EBEREE S BIRT BB
REFEN2: /O FEIR S

ES
TERERTERT/ETESRT

FEER EEHE/ EEEH
RENER/REESEHT

152~161

= I\iA5H 162~169
2R IN ST 28/ T4 0179



SEAREERR

Efﬁ\

Sl

A1



LAle

iy:l=)

LAle

RIMEESS

STER FOBERR

ZJOBEAR

A2



VRIS S

}

L%

aESTERER

\C
[ree fe "

/J\i%mﬁm&r MBSt SRRSO R

\z.\»

SEAWEE SO I%I"]ﬁﬂ"l‘i%?h

= E
e SHE WmEx =~ EEI

Fy y = ,
. ‘\3@\& | |
« , @ !
mrEnE @ & ' 1

¢ ir\mékx_ /

A3



i BB Z EHRIR

ERSHREE B
GLASSLA1 = 385 240
GLASSLA2 B 385 240

WM BB S E
)= =
ERSHREE
EARG 300
b5l & B ZE
H

ERSHREE AR BI%
EAR 3M EENF (BEe) 20
EARS 3M BEEARHHE (BEe) 18
EARA EAR EZENHR (FE) 20

A4



EhsRER

H42C14
H42C16
H42C21
H42C23
H42C4
TS1C15

i SRR N

H42C21

TS1C15

R
1BE 145x145% 1£5 150mm &
1242 220x160x90x 15 300

1242 300x300x300L T 230

JEAZ 150x150% T 120

a8 125%125x130 TIHEEE
TJAIEE 200mm (ZEHTIHER)

A5

- H42C14

H42C16

B
30000
7000
9000
5000
16000
30000



EhsRER
H41
H41A
H42
H42A
H42L
H43

H42L

R
Y2 150x150x50mm T HIER
1242 150x150x50mm
JEHF 150x230x50mm T HER
1242 150%x230x50mm
FEAE 150x230x50x400L (1K) TIHEE
FE48 230x350x50mm T

A6

Bt
3840
4840
4800
5800
6800
8000



rrin
SVSIt

NDB1000

- ] NB3000#3
NB3000#3A

EhsiRoRE R B
NB1900(S10-S20) JJ4EIN102717] 680
NB3000#3 JJED03277) 400
NRB1000 AR 200
NDB1000 LRI\ 1000
NB3000#3A AETHRIF#E 640

INoOGT
DEBURRING BLADES

EimoR AR fE1%

NBS10 BS1010 §A$RLERE 56
NBS20 BS2010 $@iEsE 56
NBS35 BS3510 BT E 70
NBN8O BN8010 EHY 240
NBK101 S101 EEHE 70

A7



EEEREHRRA

Ehsihmos BR
E58 2400
Ehsimos BR
ZH50 5000
ZH501 5000

Bh&iRsE AR B

S1681 hitER 120

T1101 ARt AR 120

T1102 PEEH 120

T1103 =al eI 120

T1104 FRitEeE 120

T1106 FRE TNk 120

A8



2 hE 155321

CH-701A 1R 5%

CH-701B &=\

el
SRS - S AR S ANVURGRIETRSS - BRSSP - BRI mh E AR AR S
ARALIERAE ~ BRI E -

B : 4

EhatRsE /g BN Ofmm BRED kgem BREFEE imn  BREHE comn RAEEmm 5w Fffc

CH-70121G 517 1.3 3.5 195 160 190 1 400 1,800
CH-70131G YA 1.5 &5 230 210 220 1 400 1,800
CH-70141G EZyAfa 1.8 3.5 260 260 240 1.5 400 1,800
CH-70121S R ETN 1.3 815 195 140 170 1 700 2,200
CH-70131S wET 1.5 3.5 230 180 200 1 700 2,200
CH-70141S L 1.8 3.5 260 220 220 1.5 700 2,200



p N

CH-707B =T\

CH-707 1B =%

CH-115 1B 3%

e

* CH-707B # /7=t CH-707 v RUAERYEE &, (Hn] 5 ] 5 R v SEPEE - WAE RS CH-T01 /YR
ferth o A — AR PENE o R e GEORT (L AR FEINE o SRR = QiR ~ JECHR ~ Bfl ~ 9RTIIB- - o 2% VR ~ ARG - BRI
- o SIS K TR o MR T

* CH-115 ®VVEINERRE  CH-115 Sl VR L, JE o sl A SRR SR BRE AT o AR/ BT A ~ 9d: ~ PRbR
B~ R ~ PIRESS » AR - TG « —fRNE e A R 2 S o

N7 : #8
Shaimse /SR8 BN O om ZREDkgen BRHEE im0 FREHE comn BAERnn  HOw  Ffc B
CH-7072S REN 20 35 250 340 270 2 1000 3,800
CH-7073S REN 25 3.5 325 440 290 2 1000 3,800
CH-7072G 571 20 35 250 390 270 2 400 3,200
CH-7073G NN 25 3.5 325 480 290 2 400 3,200
CH-115 R TN 1.8 3 2 200 150 3/4 250 3,000



CH-810B BT\

CH-1001 BRI

tomh
o CH-810B  —fiferjr2t i i FHU IR /) RNER R i o A MR )38 B faf 28 4G R MR 1 » 3§ AR EX B85S - nTH£F
TR Rt ] A — R R A A o
Bk : £ERAT2,000c.c. / — Sl R HEHS : 150577 / —R&BERIIR 77 : 3.5kg/m2 / WEMEII{R : 1.2mm / WERE : 6
R/
o CH-1001A KA 7 PR T RN shE 35 i o 30 7 onfRmes st vl 12 — AR v £ FH B2 A7 - R A0 /Gy
“Teflon” JEERE DTG o BoA 25 50 EERIRTIAIRE 77 35 R IR LA B 28 2=
Hifg : F3IRRT9,000c.c. / —fefsl FH IR A b = 150577 / — %l RS < 3.5kg/m2 / WEWELT : 1.2m/m / &RERE : 10
R/ #8HE 2 13kg /

IE1EAE8 / 8801 : %

EhaiRE /g BN Ofmm BREEDkgem TREFEE imn BREEHE conn FAEEmm  BFOw

CH-70102 Bz 1.0 35 230 300 26/20 1.5 2,600
CH-7070 B 1.2 35 300 480 28/30 1.5 3,400
CH-7073 BT 25 35 340 900 35/30 20 4,000
CH-810B BETN 1.2 3.5 300 480 28/30 1.5 8,800
CH-1001A BEETN 1.2 3.5 300 480 28/30 1.5 13,000



IRER / BRIEZRE

IRIRIEE / 817 : #

ikt BE o TREES cmosopss  FRIBLEE comn BI&

HV302-14V 1.4 380@60psi 150 11000
HV30217V 1.7 380@60psi 180 11000
. HV302-20V 2.0 380@60psi 250 11000
YFEG - p
o IR{RIGAS

HHSE ~ P ~ M - TEERRAVER TR U o A EORIIGE - STRESE SRRV - DL RS
EHIRGEMAR » 37 RIVGHIETEI TR e (3385 -

HVLPIRERIEHV302 £ A8 SERA AT 5 58 BUHRERIERTA T OCRUE » HV302/28 — X RIERYHVLPIRERIEAS - Bk
THEERHN/B LSS - SRR T R IRA TG A5 S o VR SR EA - DUl e i BG i %15
SR ~ AR o RS SRR T LB (2 I (R AN ERASCR, © RIS bR AR RS 7o, S Wi 1
fli S RikE + 600c.c TREMBEIEM / — s IR FJ4ke/m® / —fistddi FH MR A B SHP

SWEKIEE / BN - 48
EhkiRse  [BIE mm  TRBES cmesps FRELS comin [ES

HP302-14 1.4 340@50psi 230 3200
HP302-17 1.7 340@50psi 250 3200
HP302-20 2.0 340@50psi 420 3200
R

o FRURIEG

HP302 SR g s b, @i B A S MRETAE o [RIARAS ke 7 T T g, LABR (B S8 AL fo Pz PR - A5 2
WEmHEIE - v DIEHTIMERAIS LU M o EEMATHV 302 BB 600c.c BiligiRaY T R2vEBRHRIAR o i SIS -
600c.c. T-F2YEBHR / — %l FHIRE 713 Skg/cm?® / —fi%fl AR % HP

4



= soh% [83R1E
Ik EIVERIR / I)\BUIE % HH

R CTUIRERIENS / B - #E

%ﬁﬁ% ﬂﬁﬁ mm %ﬁ/ﬁﬁi cfm@60psi iﬂﬂgﬂji cc/min 13@
HV305-22V 2.2 340 110 13,000
HV305-26V 2.6 340 140 13,000

toEh
o HV305W FxER CR0Ehg  BEH JEH 7 - FIUHEAEAY /TR MikR - HV305 &3 E AV FiEtg - MRS &
FE AR A SRR o W R A1 56 R R v SRR AT s s A 1 mT DASR (05 P2 e R AR B - Wi
MRS AR R ASEAAA KL > 48 B VMR FRIRINC T 0 B > SEBIH © ffi S BA% : 1000c.c. B FaXgHkr / — i A
R Fj4kg/cm? / —f%fE F IAE RS HP © HV305 7] BELIREARNC A -

W -INIEYR / B8N - #E

IIEIPS mm Eﬁiﬁjﬁ% cfm@60psi ﬁﬂﬂgﬂjg cc/min 15*%

HP305-14V 1.4 285 160 4,400
HP305-17V 1.7 340 200 4,400
HP305-20V 2.0 340 230 4,400

R
* HP305 MRz FxUEle Wt - YRR - (85 2w B - DURHUHRRAVIE Bl A8 iR - 5%
Rik% : 10000c.c.W XA / —fisefl HIR 713 .5kg/em® / —figefili I AR E$2HP

/)\BUIEHE / BB - #E

%ﬁﬁﬁ IIEIIE mm ’:u:uﬁ/ﬁﬁg cfm@60psi Eﬂugﬂjg cc/min E*g

HV-303-10V 1.0 110@45psi 6,600
HP303-5 0.5 85@40psi 3,000
HP303-8 0.8 85@40psi 3,000
HP303-10 1.0 110@40psi 3,000

e
 HV/HP303 &g il ~ 2 /NS HV303IRERIENE / HP303 MR g 38 55800 ~ e ~ BrE T3¢ K/ Vil
ERLAE - HV-303 94 Rt 2 iR R e - HP-303 90 R il FE /e - ISR $ AT R A SAMATEL - [ 20
# + 125c.c. TREWBHE / — il FIRR F13kg/em? / — (s T AR 1 /2HP

5



{2 5h% 5
B S R

600c.c. ZEREHN 125c.c. ZBBHR PC-1 /B PC-2 KEUERERTE
%17 700c.c.

115 {ZFEEEAE250c.c.  GC-4 EITNEM400c.c. PC-3XEYtER

7Z51E1000c.c.
B R
EfHmsR A5k BEc.c B
IW250 250 160
IW400 400 200
CH400 GC-4 400 240
CH700 PC-1 700 560
CH-1000 PC-2 1,000 760
CH-1000 PC-3 1000 800
CH125 125 320
CH600 600 500
CH115A 250 240
ONFHEERTBHE CH2000 2,000 3,200
CH9000 9,000 6,200

T
€125¢.c #19.000c cHI AR AR LUSE 7 » #-A FE 5 (IEAF R » v DUBEIRE (ERERG 8 6 MU AR 9 22 & S MR LU
e bt BGE T RR - WEIBM R LU T RSB B RGE - A PRI AR > R o MRS IHARSRT ok A 2 - ki
HRAER -

6



I
%

Bl : %
e g b O TREE B8
W612G W-61-2G g7 13 400CC 3,800
W613G W-61-3G g7 15 400CC 3,800
W712G W-71-2G sgH 1.3 400CC 5,200
W713G W-71-3G EHN 15 400CC 5,200
W71-2S W71-2S ke 1.3 700CC 5,400
W71-3S W71-3S ke 1.5 700CC 5,400
W772S W-77-2S ke 20 1000CC 7,200
W773S W-77-3S kEX 25 1000CC 7,200
WSGD71 SGD-71 ALk 30,000
by == 1 i AN
IS *}E
== - =~ I/
WA-100
Bl %
SRR R BT Y B8
WA100082P WA1000-82P =N 0.8 14,000
WA100102P WA100-102P BRI 1.0 14,000
WA100132P WA100-132P BRI 1.3 14,000
WA100152P WA100-152P BRRTN 15 14,000
SGA-100 SGA100 SGA-100 =N 1.0
EMIEE
LERE
ESfi7 - 48
SRR FRAR b O TREE BIR
HPC HP.C g7 03 7 5,000
THPC GC-330 g7 03 7 2,000
GA120 GA120 MmN 0.2 15 3,600
GS100 GS100 FEffE 0.3 22/60 1,200



S1)EEIR

DG-11-EK

DG-10-EK\

A

R DG-10-EKA

ST
Ea .7

B2

DG-12-EK R 1% ffEE

DG10EK 360 KE%
DG10EK1 400 £R40cm
DG10EK2 600 £f60cm
DG10EK3 760 £R90cm
DG11EK 380 360° et
DG12EK 600 B#R 700c.c.
DG10EKA 560 REEORER

= EIVAEIST
IR f#1% [
T65 360 =%
| ﬂ i *A
/-J \ﬂ J ¢=~I/J\
B2

B hkHRER B8
K3 1,100 1¥0.5




AIR DUSTER &I\E 12

BG-8
N
Z%: BG-7
o
BG-3
Q
BNz
ENSHRR i B
DG-10-DX DG101 IS 120
DG102 P 130
DG103 JEHES 140
DG101B &) 100
DG103B b 120
B010BH AN 160
B108 OARNREE 320
DG10DX eEE 360
DG105 THERAEMA 160
Jc4 IRSEIETE 110
JC41 BE 110
KWI150 B 80
g,j%ﬁ:—lmﬁg , KWI300 2zl 100
; TS150 ErE]2S 70
TS300 B 90
BG3 E /9.5cm 140
BG7 & /15cm 150
BGS8 # /25cm 160
B101-75 8 /75cm 360
LJ180 DG ?jﬁﬂ#é—' 90
f LJ180 SRONEE 260
LJ200 oRANERE 260
= LJ200
DG1012
[ERE
SRicli=
BB %
ENS SR i B
DG10SB DG10SB1 DG10SB PSS 300
DG10SB1  AEYIEFFE) 700



A=BE ESfi7 : 48

Shitmst RS [E} P E1%
56000 YC-056 56000RPM 2,400
70000 YC-070 70000RPM 3,800
% 56000A Wu-056 56000RPM 1,600
56000C HSERE 200
56000D B 100

Bfil: =
BhaiRs: AR ) REHOEK XE  BR
CTHt  CT-11  45m/m 9000RPM  6kg/cm® 1,200
CT12  CT-12 45m/m 9000RPM  6kg/cm® 1,500
CT05 ~ CT-05 45m/m 9000RPM  6kg/cm® 2,400
CTéH CT-6H 6m/m 8500RPM  6kg/cm® 2,800
CT6HB CT-6HB 6m/m  8500RPM  6kg/cm® 3,200
RC45 RC-45 45m/m 9000RPM  6kgicm? 1,800
RC6H RC-6H 6m/m 8500RPM  6kg/lcm® 3,400
RC6HB RC-6HB 6m/m  8500RPM  6kgicm? 3,400
RC5S  RC-5S  5m/m  9000RPM  6kg/cm® 1,200

5= 1) B2 sprinG BiaNCER

BN R
Ehims B EE B3
SB1200 SB-1200/0 0.6-1.5kg 500
SB2000 SB-2000/1/2 1.0-2.0kg 560
SB3000 SB-3000/1 1.5-3.0kg 1,200
SB5000 SB-5000/2 3.0-5.0kg 1,600

10



7S

EfisHmsR AR

CH614SK CH-614SK 8 1,200
CH603 NG 2 800
CH603A #ZEE 3.0, 6.0 = 100
’_ — A
RENFIEI B
B
I e B
422 422# B4 m/m 1,500
1022 1022# =10 m/m 2,000
T504# 2,000

HIRERE

Bfil -2

EfisHmsR ik

DTCG3 —RREYRETN 900
DTCG4 —AZEY e 900
DTCG5 ma— 600
DTCGL v PN 1,300

REILTIE

ANHIAIET / BT 2

Efikims AR BE1E
AIRTA ST-HH6 2,800

11



B2
EfikHms TR BE/Y.T

BIT45 45x 6.350 15
BIT65 65x 6.350 15
BIT75 75% 6.350 15
BIT100 100x 6.350 32
BIT110 110x 6.350 32
BIT150 150x 6.350 40
BIT200 200x 6.350 50
BIT70 BEEH (—) 70x 6.350 30

SEEGHETE

SRR A FEHE B 100, 1501
BOXBIT5 5.0 m/mx65/ 40

BOXBIT6 6.0 m/mx65/ 40 100
BOXBIT7 7.0 m/mx65/ 40 100
BOXBIT8 8.0 m/mx65/ 40 50 100 150
BOXBIT9 9.0 m/mx65/ 40 100
BOXBIT10 10.0 m/mx65/ 40 50 100 150
BOXBIT11 11.0 m/mx65¢ 40 100
BOXBIT12 12.0 m/mx65/ 40 100
BOXBIT13 13.0 m/mx65/ 40 100
BOXBIT14 14.0 m/mx65/ 40 100

SRR FRAE 65¢ 100¢ 150¢
6BIT25 25 16 30 40

H‘ 6BIT3 3 16 30 40
—-— 6BIT4 4 16 30 40
6BIT5 5 16 30 40
6BIT6 6 16 30 40
6BIT8 8 24 36 50
FIEEHE5
BN : 2
TGRSR [RRhER 36¢ 80/
YT250080 axl 580 600
K250080 HE 1270 1270
n —
ﬂ %#_E.yr y
U=
B : %

- BiSRE R 5 B8
(I) YT36 +5 361 30

YT80 += 80/ 40

@ YT364 —= 36/ 30
YT804 —5 80¢ 40

12




H%? 2

Bi: 8
E RS BT B8
PONPU T HURaIZE3/8 12,000
PONPUF FRaIZ23/8 13,000
Bfl: 8/
ERHwRE B8
A1 11m/m 800
A22 22 m/m 840
A1122%4H 22 m/mPuZNEH 1,000

FiE -
WURBERA ] » AT ~ Al ~ SR etc.

=

nHIER

|
~
N
ayl
e
many
=

BN - #

SL772  SL-772 4.5,6.5 3-5kg/cm2  130-210 Ymin 2,000
SL773  SL-773 5.0, 6.5 3-5kg/cm2 130-210 Ymin 2,000
SL774 SL-774 5.0,6.5,8.0 3-5kg/cm2 130-210 /min 3,000

13



TONSONR &IE

B PR R

s WIERIIE SR - B2 MRS 210 KR DLE

i B RSN
TS102  TS-102 3HP
TS202  TS-202 5HP
TS303  TS-303 10HP
TS808  TS-808 30HP

B 7] R
10kg/cm2
10kg/cm2
10kg/cm2
10kg/cm2

R I\ BRiffEZE SR B IR T

Bfii:Aa
REF EEKg
1/2” x5/16” 18 270 x700 5,200 4,400
1/2” 22 270 x800 8,000 6,900
1” 42 400x890 12,000 9,500
27 55 400 x1,090 19,000 14,800
Bfil:Aa
EistmoE JADSN JAD10ON JAD20N
iChay JAD-5N  JAD-10N  JAD-20N
ERERS S 5 10 20
EREIEE(Ni/min) 500 1000 2000
ADRE 45°C
AFBE7 2-10kg/cm?
EERE 32°C
RS I(HP) 1/3 1/2 3/4
BIR R12 R12 R12
ETEER 10 110V 19 110V
BEEA 5A
HEAOBE 1/2 1/2 11/4
= 43 43 64
B 480 480 81
s 34 38 43
B 18,000 50,000 88,000
Fust :
220V FIFEMMR 000

14



TONSONR 3&llg

e DIEBEIE R

TEZES) -

SRV P FE) Bl A
T10B T-10BM 10/ BEig 16 300x300x590 16,500 15,000
T30B T-30BM 30/ BEnEE 26.5 410x410x660 17,600 16,000
T40B T-40BM 40¢ BEE 31.5 410x410x850 18,800 17,000
T60B T-60BM 60/ BEnigis 36.5 520x520x870 19,800 18,000
T80B T-80BM 80/ BEige 40.5 520x520x1000 22,000 20,000
S10B S-10B 10/ S8 14.5 300x300x590 9,900 9,000
S30B S-30B 30/ F g 25 410X410X660 11,000 10,000
S40B S-40B 40/ SEhIEH 30 410X410X850 12,200 11,000
S60B S-60B 60 ¢ FEEH 35 520X520X870 13,200 12,000
S80B S-80B 80/ S &g 39 520X520X1000 14,400 13,000

SAPIE 1,200

TONSONR & o e L5 A
Bl RENEIFHE

HiFI32801

BEfil: 8/
SRR i R fBi%
TS50R TS-50-R oRAS0MAREE 16,000
TS50T TS-50-T BEFA2'LMEE 16,000
YFEh TS5A TS-5-A Bz, 16,000
e TS-50T {fIBIEF PSS HEER - THFFER & - Mk s@pamms » (ENEE R - IR A2

50 A o BRVE / BERER ool / TERER 010 / TEFTEINGS / AR / 515132801

e TS-50R  A&USRBIFEFEE  dl O%EH vl gl Tl
e TS-5A  PYIAIZEH2HRH%0.10PS~0.38PS(20 A TF) / HiFI]

15

TS-50R



FF ~ TRICHGEN]

S=EEN B -

ESHRIR R Fam mas

MM1 1.0m/m  3/64 460 1,150

MM15 1.5m/m  1/16 180 540

MM2 2.0m/m  5/64 180 540

MM25 25m/m  3/32 180 540

MM3 30m/m  1/8 180 540

MM4 40m/m  5/32 240 590

MM5 50m/m  3/16 290 730

MM6 6.0m/m  1/4 410 1,030

MM8 8.0m/m  5/16 560 1,400

SREIEIR ~ B MM10 10.0m/m 3/8 600 1,800
W ESERPRIEE HRC58°-60° MM12 12.0m/m  1/2 1,200 3,200

EEfi] : 4
fB&t&

e IS 82

SEEIRES | EM EE1 1.0m/m  3/64 1,300 2,840
M ESERBRAEHE HRC58°-60° EE15 1.5 m/m 1/16 540 1,620
EE2 20m/m  5/64 540 1,620

EE25 25m/m  3/32 540 1,620

EE3 3.0 m/m 1/8 540 1,620

EE4 40m/m  5/32 720 1,970

EE5 50m/m  3/16 870 2,400

EE6 6.0 m/m 1/4 1,230 3,280

EE8 8.0m/m  5/16 1,680 4,530

EE10 10.0m/m 3/8 1,800 4,800

EE12 12.0m/m 12 3,600 8,600



EE Ak EHE ARAE(mm B8
ROD16 1.6*175 2% 50
ROD20 2.0*175 2% 60
ROD24 2.4*175 2% 80
ROD32 3.2*175 2% 120
ROD48 4.8*175 2% 150

Tungsten
Electrodes
2%Thoriated(WT20)
Ground Finish
ANSIAWS A5.12M-98 |
I1SO 6848

1.86mmx175mm
I 10 Pieces

1S0 6848

2%Thoriated(WT20)

Tungsten
Electrodes
2.4mmx175mm
10 Pieces
Ground Finish
ANSI/AWS A5.12M-98

EHSHRSE FRAZ(mm) =4
ME-1020 ME-610 ME610 #A10m/m 700
ME1020 %10m/m 800
ME420 &10m/m 800
SR10T SR10S+SR10L 1600
SR10S 800
SR10L 800

Ehisiwer  ERMNE =R

YL401 MT2,3,4,5 370 1,200
SEE
EfikimsR Bt frEsE
ABS 180 CIECFN

17



TR
PKO1
PKO02
PKO1A
PK02A
CLo1
CLO12

E fikwmaR

TFP30A
TFP30B
TFP30E
TFP40B

0
0
|:I—I:I

N
7/

A
7/

0

0

N
7/

AN
7

a

a0

N\
7

N\
7

0

0

N\
'

O

0

N\
7

AN
7/

pil

N4/

1/4"*12" $3mm*1/4PT . 3/8PT
1/4"12" p6mm*1/4PT . 3/8PT I\l - Al
3/8"12" 3 « $6MM*1/4PT . 3/8PT /)l » ATl 80

1/2"12" 6mm*1/2PT . 3/8PT /) \RlE » ARl

EE ik R5H B[ =]

H54 = 1200
S1A = 160
S2A = 240
CLO1H = 750
CLO2H 2 820

110



EfHmER ptE

TC1/4 EiE1/4"

TC3/8 EE 3/8"

TC1/2 EiE1/2"

TC3/4 EE 3/4"

TC1/4H EiE 1/4" 388

TC3/8H EiE 3/8"38 /)8

TC3/8 EE 3/8"iREH Y

TC1/2 EiE 1/2"IRENEY

TC4 FE w4

TC5 SFE R 5"

TC6 FE R 6"

TC7 SFE w7

TC2K 2K &

TCSM50 SRS

TCSM90

TCSPE2000 SPE-2000

TCBOSCH 4" 1347
EfSHRIR BB
CC60 36
CCs80 80# 26
CC100 100# 24
CC120 120# 22
CC150 150# 17
CC180 180# 17
CC220 220# 17

EEfi] : #H

g
4.7x6.5x14
4.7x8x13
8.0x11x17
6.5x13x17
6x6.5x13
6.5x7.5x13
6x6.5x13
6.5x7.5x13
6x6.5x13
6.5x7.5x13
7x11x17
7x13x17
4x4.5x8
5x5x10
5x5x10
6x8x12
5x8x16

=

=k
36
36
48
50
36
36
36
48
36
36
50
54
36
36
36
36
45

Ehisimse 8

TC4H
TC5H
TC7H
TC40
TC55
TC65
TC60
TC16
TC32
TCCB5
TCCB7
TCCB9
TCCB14
TCMGS20
TCMGS38
TCCB408
TC666

SFEM R 4" 587
FER) R 5" 5870
FER) R 7" 5870
&E38 PH-40
ZEg8 PH-55
&8 PH-65
=R JH-60
ZtE 16 m/m
ZItEH% 32 m/m

FH CB-5

FH CB-7

FH CB-9

FH CB-14
=YTHER
EEZL T

CB408

1)\§5666

E kiR
CC240
CC280
CC320
CC400
CC500
CC600
CC800

- » ~
"Q( ! 4
..

WATER-PROOF

PATN0.558224

MADE IN JAPAN

NIHON KENSHI CO., LTD.

BB
240#
280# 17
320# 17
400# 17
500# 17
600# 17
800+# 17

19

EhsHwRaR
CC1000
CC1200
CC1500
CC2000
CC3000

5117 : #
RS B
6.5x7.5x13 36
7x11x17 36
7x17x17 68
7x11x17 42
7x11x17 42
7x17x17 50
6.5x7.5x16 36
4x5x10 36
6x6.5x13 36
6.5x13.5x17 56
6x10x15 46
5x8x14 36
5x8x10 36
5x6x10 36
6x7x12 36
6x9x12 40
4x4.5 100

B5{1] : 3R

g

1000# 22
1200# 24
1500# 28
2000# 36
3000# 70




1= N

Efi7 : R
SRR AR B8
ST1/4 174 JT1 360
ST3/8 3/8"  JT2 360
ST1/2 12" JT6 380
ST103 3/8"F 400
ST134 172" 400
ST5/8 5/8" JT3 500
ST3/4 34" J 1350

T4
=_
- o

B\ : %
SRR ERSHRER 1/4",3/8" 1/2",5/8"
ST3#A 1/2# 2,100 X2 30 32 34
ST3#B 1/2" 2,000 X4P 34
ST3#C 1/2" 1,600
ST3#CA 12" 1,600
HSHIE / HEREERE
lanky=; k= =
BSf\] : %
ERsHRER oo h# R B8
E-500 Pressol 500cc 520
E-500B MATO 500cc 800

E-500A  PHEBHHIEINE
20

300 m/m 270



LA

ZEHSIVE

PGELLIYNLTE

- BEEI\ARET - IBIERE - BORES ©
* BERIFCNCIBIR ~ SRR IR EREERL -
- FTESHEERIERAETRE

Bfi7: R
Description , Capacity ~ TeperMountNo. ~ Length(mm) Outer Dia. Weight
Code No. i« mm  inch DNorJacobs Open Closed (mm)  (g) Ll
ST13S-D20 8S 0-8 0-516 D20 126 135 38 520 3,800
ST13S-D20 13S 0-13 0-1/2 D20 145 157 50 1000 3,800
ST13S-D25 13S 0-13 0-1/2 D25 160 172 50 1130 3,800
ST13S-D32 13S 0-13 0-1/2 D32 168 181 50 1380 4,500
ST13S-MT313S 0-13 0-1/2 MT3 180 192 50 1090 4,500
ST13S-MT413S 0-13 0-12 MT4 209 223 50 1750 4,800
ST13S-R8 13S 0-13 0-1/2 R8 183 195 50 1130 4,800

BERF B A

- AIRSIEIR A BB RAEN BT
- T[ERPER SERMBAIE AR R A LCIRE AR

Description gggzg}g TaperMountNo. Length Outer Dia. Weight

Code No. - mm inch ~ DINorJacobs (mm)  (mm)  (g)

YL3/8 10  M4-M10 1/8-3/8 JT2 75 42 590 1,600
YL1/2 12 M4-M12  1/8-1/2 JT6 75 42 585 1,600
YL5/8 16 M9-M16 3/8-58  MT2 145 50 1030 3,600
YL3/4 16 M9-M18 3/8-3/4  MT3 165 50 1180 3,600

21



T\E AT

- —HYEEIE ~ HEIK ~ BAIR  BUMHERIIEA -
- Bt BANRE - IBINTIFER -
SEERILVENT ~ DERSBRESERE -

RAERC R

MT3 : FI\H 8.0 X91Tmm X132
8.0 X112mm X13%

MT2 : FH 8.0 X91Tmm x 132

TUBIRTF X152
EHZREIETE X132
B - #
7SR RE B5E =
MT2 165(mm)  18mm~35mm 4,200
MT3 185(mm)  18mm~50mm 5,600

du

ket

GP100C

« &2 : 3.2Kg

*IB7J : 5.0Kg

< SEFAEREE - 110V/220V

SEARSHREE  BERERIRIR - EESMASH 2 IRE
- &% : 3,600

22



L )

7] ":.2 IIR E E Eﬁ LABOR-SAVING QUICK JOINE

< 7
= Gotm 5% K218 EE Godm SR K2 1{E = Gotm 5% KR 1{E P Golm SR ]
Iltem No. | Price Item No. | Price Iltem No. | Price Iltem No. | Price
SPC4-M5 37 SPL4-M5 44 SPB4-M5 68 SPD4-M5 64
SPC4-01 33 SPL4-01 40 SPB4-01 64 SPD4-01 64
SPC4-02 35 SPL4-02 o2 SPB4-02 64 SPD4-02 64
- B 37 B _ 44
SPC6-M5(1/4-M5) SPL6-M5(1/4-M5) SPB6-M5(1/4-M5) 68 SPD6-M5(1/4-M5) 64
SPC6-01(1/4-01) 28 SPL6-01(1/4-01) 40
SPB6-01(1/4-01) 64 SPD6-01(1/4-01) 64
SPC6-02(1/4-02) 28 SPL6-02(1/4-02) 40 ”
SPC6.03(1/4-03) 38 SPL6.03(1/4-03) 76 SPB6-02(1/4-02) SPD6-02(1/4-02) 64
SPC6-04(1/4-04) 58 SPL6-04(1/4-04) 100 SPB6-03(1/4-03) 78 SPD6-03(1/4-03) 78
SPC8-01(5/16-01) 32 SPL8-01(5/16-01) 42 SPB8-01(5/16-01) 68 SPD8-01(5/16-01) 68
SPC8-02(5/16-02) 32 SPL8-02(5/16-02) 42 SPB8-02(5/16-02) 68 SPD8-02(5/16-02) 68
SPC8-03(5/16-03) 38 SPL8-03(5/16-03) 46 SPB8-03(5/16-03) 78 SPD8-03(5/16-03) 78
SPC8-04(5/16-04) 58 SPL8-04(5/16-04) 100 SPB10-01(3/8-01) 78 SPD10-01(3/8-01) 78
j ] 36 - B 46
SPC10-01(3/8-01) SPL10-01(3/8-01) SPB10-02(3/8-02) 78 SPD10-02(3/8-02) 78
SPC10-02(3/8-02) 36 SPL10-02(3/8-02) 46
SPB10-03(3/8-03) 78 SPD10-03(3/8-03) 78
SPC10-03(3/8-03) 38 SPL10-03(3/8-03) 46 —
SPC10-04(3/6-04) = SPL10-04(3/8-04) T00 SPB10-04(3/8-04) SPD10-04(3/8-04) 150
SPC12-02 58 SPL12-02 100 SPB12-02 150 SPD12-02 150
SPC12-03 58 SPL12-03 100 SPB12-03 150 SPD12-03 150
SPC12-04 58 SPL12-04 100 SPB12-04 150 SPD12-04 150
.
N \
by |
= Gofm 5% K {E = Gotm 5% 2 E = Gotm 5% K2 & = Gotm 5% 2 E
Iltem No. | Price Iltem No. | Price Iltem No. | Price Iltem No. | Price
SPX4-M5 90 JSC4-M5 280 SPH4-M5 60 SPLL4-M5 60
B 90 JSC4-01 220 SPH4-01 65
SPX4-01 SPLL4-01 60
SPX4-02 20 JSC4-02 220 SPH4-02 76
B i _ - SPLL4-02 60
SPX6.M5(1/4-M5) 9 JSC6-M5(1/4-M5) 280 SPH6-M5(1/4-M5) 76
B - 220 - - 76
SPX6.01(1/4-01) 5 JSC6-01(1/4-01) SPH6-01(1/4-01) SPLL6-01(1/4-01) 60
JSC6-02(1/4-02) 220 SPH6-02(1/4-02) 76
- - 90 } N
SPX6-02(1/4-02) 1SC6.03(1/4-03) 280 SPHE.03(1/4-03) 96 SPLL6-02(1/4-02) 60
SPX6-03(1/4-03) 100 JSC8-01(5/16-01) 220 SPH8-01(5/16-01) 82 SPLL6-03(1/4-03) 68
SPX8-01(5/16-01) 90 JSC8-02(5/16-02 220 SPH8-02(5/16-02 82
( ) { ) SPLL8-01(5/16-01) 62
SPX8-02(5/16-02) 90 JSC8-03(5/16-03) 280 SPH8-03(5/16-03) 96
SPX8-03(5/16-03) 100 JSC8-04(5/16-04) 420 SPH8-04(5/16-04) 200 SPLL8-02(5/16-02) 64
SPX10-02(3/8-02) 100 JSC10-01(3/8-01) 280 SPH10-01(3/8-01) 96 SPLL8-03(5/16-03) 68
- - 2 - -
SPX10-03(3/8-03) 100 JSC10-02(3/8-02) 80 SPH10-02(3/8-02) 96 - -
SPLL10-02(3/8-02) 70
JSC10-03(3/8-03) 280 SPH10-03(3/8-03) 96
SPX10-04(3/8-04) 210
JSC10-04(3/8-04) 420 SPH10-04(3/8-04) 200 SPLL10-03(3/8-03) 70
SPX12-02 210
JSC12-02 420 SPH12-02 200 SPLL12-03 160
SPX12-03 210 )
JSC12-03 420 SPH12-03 200
SPX12-04 210 JSC12-04 420 SPH12-04 200 SPLL12-04 160

23



SPU(SPG)

ERRE | 0E ERRR | @ ERRE | 0@ ERESE | I9E
Item No. | Price Item No. | Price Item No. | Price Item No. | Price
SPCF4-M5 32 SPLF4-01 46 SPU-4 40 SPY-4 90
SPCF4-01 32 SPLF4-02 46 SPY-6(1/4) 90
SPU-6(1/4-01) 44
SPLF6-01(1/4-01 50
SPCF6-01(1/4-01) 40 ( ) SPY-8(5-16) 90
i i SPLF6-02(1/4-02) 50
SPCF6-02(1/4-02) 42 SPU-8(5-16) 46 SPY-10(3/8) 160
PLF6-03(1/4- 90
SPCF6-03(1/4-03) 58 SPLF6-03(1/4-03) v o
SPLF8-01(5/16-01) 50 SPU-10(3/8) 52 )
SPCF8-01(5/16-01) 46
SPLF8-02(5/16-02) 50 SPY-6-4(1/4-4) 90
SPCF8-02(5/16-02) 46 SPU-12 70
SPLF8-03(5/16-03) 90 SPY-8-6(5/16-1/4) 90
SPCF8-03(5/16-03) 58
SPLF10-01(3/8-01) 50 SPU-6-4 70 SPY-10-8(3/8-5/16) 90
SPCF10-02(3/8-02) %0 SPLF10-02(3/8-02 50
SPCF10-03(3/8-03) 58 e SPU-8-6(5/16-1/4) 75 SPY-12-10 210
SPLF10-03(3/8-03) 920
SPCF10-04(3/8-04 80
( ) SPLF12-02 120 SPU-10-8(3/8-5/16) 98
SPCF12-03 &4 SPLF12-03 120
SPCF12-04 80 SPLF12-04 150 SPU-12-10 106
o . <
o v w
E Goim SiE K2 1{E = Gotm 5% K8 E Goim SR KR {E E Goim SR KR {E
Item No. | Price Iltem No. | Price Iltem No. | Price Iltem No. | Price
SPE-4 68 SPV-4 42 PSL-01 20 JVA-4 250
S e PSL-02 25 JVA-6 250
i = SPV-8(5 16) 20 PSL-03 30 250
SPE-8(5-16) 70 SPV-10(3/8) 56 - JVA-8
SPV-12 70 PSL-04 40 JVA-10 400
SPE-10(3/8) 74
SPE-12 150
SPM SPF TIP
SPE6X4X6 80
SPE8X6X8 90 o
‘ ' B ;2
SPE10X8X10 110 ! { ,,‘
SPE12X10X12 150 ’
SPE4X6X4 80 _
SPE6X8X6 20 7 Goim SR K218 7= Goim SR =] 7= Goim SR he (&
ltem No. | Price Iltem No. | Price Iltem No. | Price
SPE8X10X8 110 —
2 60 SPF-4 240
SPE10X12X10 150 SPM-6(1/4) 56 TIP-001(1/8) 20
SPE10X6X10 110 SPM-8(5-16) 68 SPF-6 240
SPM-10(3/8) 76 TIP-002(1/4 2
SPE12X8X12 150 EEmT 200 SPF-8 240 002(1/4) 0

24






@ KD IREIEH(E

King Diamond

—RERVAY

KD-12265

KD-13009 KD-101-EL

KD-12130 EEI| B 32

KD-101-D

EHRE:

KD-12265 370 635 410
KD-101-H 500 1,220 450
KD-101-J 560 2,550 1,200
KD-101-EL 400 850 390
KD-10444 400 880 620
KD-10448 400 850 590
KD-101-D 185 333 260
KD-101-DlI 185 333 260
KD-101-DL 185 365 300
KD-101-E 185 333 290
KD-101El 185 363 290
KD-12130 230 355 280
KD-101-B 105 140 200
KD-102-B 100 120 200
KD-101-A 48 62 170
KD-101-Al 48 62 170
KD-101-ASS 48 62 520
KD-13009 35 42 225
KD-12050U 92 171 240
KD-11401 100 200 215
KD-11421 150 300 260
KD-11412 210 370 310
KD-12135 230 355 280
KD-101K 550 1,030 850
ByEE -

KD-11401 KD-11412

FRRMRS - BOWAT
26



@ KD REEH(KE

King Diamond

KD-201-A

— il KT BT %

EE ik RiFJ kg EEg (B

KD-201.C KD-201-A 30 43 145
KD-201-Al 30 43 145
KD-201-AL 30 43 150
KD-201-ASS 30 43 380
KD-201 30 43 160
KD-201SS 30 43 380
KD-20300 KD-201-B 100 110 200
KD-201-BI 100 10 200
KD-201-BS 100 10 200
KD-201-BSI 100 10 200
KD-201-BSS 100 10 490
KD-225-D KD-200-W 480 570 285
KD-200-WL 480 650 315
KD-200-WH 480 650 315
KD-200-WLH 480 700 340
KD-220-WH 480 750 340
KD-220-WLH 480 800 360
KD-201C 110 140 200
KD-20300 35 10 210
KD-225-D 250 250 230
KD-225-DI 250 250 230
KD-202-FL KD-225-DSS 250 250 680
KD-202-F 250 400 260
KD-202-FL 250 430 280
KD-203-F 250 360 215
KD-203-FL 250 400 225
KD-204-GB 690 1180 450
KD-204-GBL 690 1260 500
KD-204-GB KD-204-GBLH 690 1465 560
KD-20235 370 640 400
KD-201D 100 10 345
KD-21384 500 635 580
KD-20400 20 255 190
® KD-204-GBL BfEE -

FERRIRS - BOLRT
27



& KD RERR(HEIR)

HERIT\ B

EhiiwRsE  AIFAI kg {TFEmm H8g B

KD-36070 51 10 105 260
KD-301-A 45 16 50 185
KD-301-B 45 16 50 185
KD-302-D 161 12 455 390
KD-36060 KD-304-C 250 30 400 420
KD-305-C 250 30.2 400 420
KD-304-E 420 41.4 600 560
KD-305-E 420 41.4 600 560
KD-304-H 750 60.4 1840 840
KD-305-H 750 60.4 1840 840
KD-36060 330 28 620 570
KD-302-F 150 32 300 320
KD-31501 220 30 335 360
KD-303-E 500 50 965 450
KD-36330 1140 51 940 960
KD-36020 220 29.3 345 330
KD-36003 273 32 360 450
KD-304CL 250 30 400 520
KD-304CR 250 30 400 520
KD-304EL 420 41.4 600 660
Sl ’Mm@ KD-304CL KD-304ER 420 41.4 600 660
KD-304ER - KD-36204 140 38 270 410
KD-36224 320 67 690 700
KD-36205 145
KD-36225 120
KD-304EL Byt

FERRIRS - WOLRT
28



@ KD %S (FIRI)

King Diamond

KD-40380 (AHiLP)

KD-452

KD-40370-LP KD-40370 (“RHfLP)

PEET\ BT

RS
KD-40323SS 180 71 590
KD-431SS 350 225 700
KD-40341SS 990 600 920
KD-451 170 270 225
KD-452 170 255 225
KD-40370 1820 1265 1,050
KD-40380 3450 1485 1,300
KD-40323 180 71 225
KD-431 350 225 240
KD-40341 990 600 410
KD-40324 250 113 340
KD-40334 500 250 370
KD-431-LP 40
KD-40341-LP 50
KD-40370-LP 300

BuEE

FEERRRS » BOWAT I
29



gepriifte
Sicherheit

b -

601 ~60 ~ 55 %51 SRR T (FRE » 1L 308 S B7 BER A B A - fiidl &8 IR T KR -
JEFCIE A RENE e FRIRRIHE - BB R VRS A SRERENLIE » 7R vTHEREE 20 - DKL - R TAEARE m sz sl I A
/NG YT T EE ~ SR ~ SR ~ RIEZIBR ~ SH T TAF & A bR S TR - SARY I TAF R EE s ig
A RGO o — R (s HI12V/20W il -

B8

iR AT HERE {HFEEE)ER 15 EH5E {B1E

L55A G-L55A 400mm 110V/220V 12V/20W 2,000

L60 G-L60 400mm 110V/220V 12V/20W 2,000

L601 G-601 430mm 110V/220V 12V/20W 2,000

20V ey 12V/20W 400

L55A1 BERER 110V 600

L55A2 LHERER 220V 600

30



RAERRLEE

®71 x 80 B

%00

o7 x 80

280

°
K7
=

~

045/96
060

I
360°

RO /B8

SRR HERE ISR {B1&
HP20 HP-20 425x280mm 230V/120V 4,000
HP20 HP-20 425x280mm 12/20W 4,000
HP20 HP-20 425X225MM 12/20W 4,000
HPK20 HPK-20 12V/20W 3,800

31



jaRer =RIEE

JW-55NT Series
- Low voltage 12V or 24V operation, without danger of electric shock.
* It accepts bulls 50W.55W.70W. or 75W.
- Transformer is available for any voltage.
* Furnisbed with 1.8 meter cornd without plug.
Exllcnded conl length is available when required.

HTTL71 (Long Arm)
HTTN71 (Medium Arm)
HTTS71 (Short Arm)

HTTM71
(Medium Arm)

HTTL71
(Long Arm)

HTTS71
(Short Arm)

T
( N0 ) 4-@45
S

I

B8
iSRS HERE HIEE {B1&
JW55NTL  HTTL71 430*400 110V/220V,12V50W 4,000
JW55NTM HTTM71 250+200 110V/220V,12V50W 4,000
JW55NTS HTTS71 105 110V/220V,12V50W 3,800
JW551 110V## ER2] 600
JW552 220V 1 [ERES 600

32



(GO GWDISH / KT ByEE RS

RRVIFTZKINEY NG » Bo B TNA L ZEREK -
BIRPTEEINC TEMIERER - TEERIFRE
B TERMER » XREKRIEERESERRN
B~ TRIERZER » TNEIRM TE ~ IBRERES
ZIER SRR BEAERE ©

LEIEA NEBEES

5 GS-102

4

/\O |

B2
EBRGHRIR L)=] JoES - BEIRG7K RE HIEEE
Material Watts Enclosure IP Lamp Length Supply Voltage
GS113 Arclic 13x1 IP67 440mm 120V/230V 2,400 3,200
GWDV120A Arclic 20x1 IP67 920mm 120V/230V 4,500 5,200
GWDV115A or Glass 15x1 P67 730mm 4,200 4,600
GWDV110A or Glass 10x1 IP67 620mm 4,000 4,400
GWDV208A  on request 8x2 IP67 523mm 3,900 4,200

33



G99 |RIER:

GT17 @HNeEsE  GTI8 ZeuEs 75V 75V
B0 R
BSHRER
GT17 G-T17 240V 600
GT18 G-T18 240V 600
75V G-B15 12V/75W / 24V/50W 500
75VI G-B16 12V/55W [/ 24V/70W / 24V/60W 500
20V L55AZERY 12V/20W 400

By¢iE - BESSHIR

ERE &R HBIFERS == HE SEIIRRFEN HREAE EERE
Watts Catalog# Color TempBase .Life Hrs.  Candle Power  Length (Lnches)
6 F6T5 4100K (Cool white) MIN BIPIN 7500 295 9 Nominal 62
8 F8T5 4100K (Cool white) MIN BIPIN 7500 400 12 Nominal 62
13 PL-13 2700k Gx23 10000 900 7.44 Overall 82
13 PL-13 4100k Gx23 10000 900 7.44 Overall 82
15 F15-T8 4100K (Cool white) MED BIPIN 7500 870 9 Nominal 62
18 PL-18 4100k 2G11 12000 1250 8.94 Overall 82
20 F20T12 4100K (Cool white) MED BIPIN 9000 1200 24 Nominal 62
22 FC8T9 4100K (Cool white) ~ 4-PIN 12000 1050 8.25 0.D. 62
24 PL-24 4100k 2G11 12000 1800 12.69 Overall 82
36 PL-36 4100k 2G-11 12000 2900 16.44 Overall 82
40 F40T12 4000K (Cool white) MED BIPIN 20000 3050 48 Nominal 62
|
BREXES
EAFE R EEEN BERaRIS = #HE SEIIRFEN HREAE BERE
Watts Volts Lamp Type Catalog# Color Temp Base Avg. Life Hrs.  Candle Power  Length(Lnches)
20 12 AR51 3000K GY 4 2500 5000 1.420verall
20 24 3000K GY 4 2500 4500 1.420verall
55 12 H-3 3000K PK22S 3000 N/A 1.65 Overall
60/70 24 H-3 3000K PK22S 3000 N/A 1.65 Overall
BUEE -
c EREEEBRY REEEANTR
RS ETCE -
s FIERBEUME ARSERAE T [ ] @j I 'Jn
FIZEMBIE - ‘ f 1
- HEZ@EE DES A H-3 AR48 PL-13 PL-18, PL-24, and PL-36
- 4 = |
- IBREBER10%ABEEE = F6TS, F8TS5, F20T12, and F40T12.
B - -
- E— B BEEE60 70 R T T [F
BHAZBEEME °

34



I 2 L (B - B
JARB  mommxm 5 FES

Fir5FE220V 0010 96
B8 g R B
JF-30 TEB C i) 110V 220V 5,600
JF-30 LEB RER 110V 220V 4,200

#HENIE R B A {811,200

ASHORT ARM (JF-30TEB) AMEDIUM ARM (JF-30MEB) ALONG ARM (JF-30LEB) AMOUNTING CLAMP 1 SET
AMOUNTING ANGLE PLATE 1PC

35



PEA

SERTFIVHAR

1961 10X

H2E : 800
1983 10X

B 22l 8l
Scale lupe
H21E 3200

2028 10X

Light Scale Lupe
Bz Sl - (FE)
HE{E : 4800

? 2008

Stand Microscope

1962 15X

hEME :

Steinheil Lupe

B 5% B8 BE

1985-7 7X 2400

1985-10 2400

1996 30X

Lupe
[E

2009

Shop Microscope

: 2100

2008-25 | 25X | 7500 2009-20 | 20X | 17000
2008- 50 [ 50X | 8000 2009- 40 | 40X | 18000
2008-75 | 75X | 8600 2009- 60 | 60X | 18000
2008- 100 | 100X [ 9200 2009- 100 | 100X | 19600

2035 -1 BB IVAER

Head Lupe-1

hEfE -

1900

1966 10X

Light Lupe (i)
2B

Steinheil Lupe

B R B8 BE

1985-14 | 14X | 2400
1985-20| 20X | 2400

Plalupe

h&f& : 600

2016 15X

Scale Lupe Set
BozIEl
218

2037 30X

Scale Lupe BiZl&l
HRE : 4000

: 1400

: 4000

1975 7X

By

Zl

g

o]

h#E: 2560
1998 7X

Light Scale Lupe
Uz (HTIE)
H2fE : 3400

2001

Pocket Microscope

B 5K S8 HE

2001- 25 25X 2100
2001- 50 50X 3000
2001- 75 75X 3500
2001-100 | 100X 4600
2016 -L 15X

Light Scale Lupe set
oI (BIiE)

g : 4800

2037 - L 30X

Light Scale Lupe
Iz 8l A (k&)
fE(E: 4800

36




MEHZAR
BI5%

FEINKXKAME

ELM-100

ELM-2000

53
-

5%

B8

Eliswek  HEkg

GP100D
GP100B
GP200B
GP100C

ELM-300

ZERE3.5 F

500
1000
2000

RY/BXExE /$Ekg
320x140x150 16
320X230X200 25
450X320X250 55

BRI f&HI 140X140X50 1.8
150 50

=k

11,000
11,000
29,000
3,000
R
o
ELM-600

ELM-1000

ELM-100
ELM-300
ELM-600
ELM-1000
ELM-2000

=
BARERN &INBEFTEK| BAREEN EXEER BARE —

KG

100 150 1000 25

300 25 435 250 1500 8.6

600 30 270 350 2000 21

1000 40 450 450 2500 46

2000 55 900 550 3000 118

37

7,200
19,000
31,200
47,800
86,000



NMIGETY

SM-1200
Range 15mm~50mm

1REEMTT -
A) VELE

88 22815-50mm

B) 1RAEN R
C) SRI(F=FE
D) AETHR

EfisHmaR
BEURRAR
REMERY
hEECE

aERY Mmnm
(P)

REEMI

A] #&3&2-20mm

B] {R#E R iR

Cl SR ITIFREE

DIAETHR

7P EBkgs./FEEkgs.

ER

B

I

1pc
5pc
1pc
3 pc

1pc
4 pc
1pc
2pc

SM300
SM-300
3-15mm
2-20mm

0-13/16in
360x220x230
480x290x290
16kgs / 17kgs

10000rpm

50,000

SM-
Range 2-20mm

i 808

- JJEEER

DRILL ~ TAP & END MILL GRINDER

FEEERAEE20-40mm

FEEEATAES0mm

300

© YIS

5B FE 3-25mm
SM300S SM1200
SM-300S SM-1200
0.5-10 m/m 15-45mm
15-50mm
0-3/8in 3/16-2in
360x220x230 470x280x300
480x290x290 600x360x380
16kgs / 17kgs 26kgs / 28kgs
10000rpm 6000rpm
110V/60hz/220V/50hz
60,000 70,000

38

SM1200GL
SM-1200GL
15-65mm
15-80mm
5/16-3.3/16in
470x280x300
600x360x380
27kgs / 29kgs
4500rpm

77,000



TSYR TZUN

B

o]
(il
3
g

- BES AR i - BEFIRISEE -
- BRASMIRT] - WREERBFIESS - IRIMER -

Ehsimee BN HLEEN KEE SR

ERARE BE RSN

LMU-15

V=)

=1

kg
1000
LMU15 LMU-15 2000
LMU30 LMU-30 3000

A

LMU8  LMU-8

TSYR TZUN

RUNSEFEIE—F - TLISITEIM

mm Application

200x300 12V12AH 8~10 67
270x320 12V35AH  12~15 120
270x450 12V35AH  12~15 180

Hour

5~7 43600  smmemun m
10~15 57300 #EE (1=%) (@
10~15 77200

VTSI 1
o

C922A

BirH

EHES B EREN WIFEN SR
eI 756 56

Copp U TR 2y RR mm tsmm 9g0mm T00min
922A  6-20mm  10-20mim 3phase 127 51

oy DR MTa 20, DR e smn 700m
WA 6%mm 10%mm hase 12751
R SRR 686 404

Coupp L TAHIIT SBEIBT 2V 0y BSTE fmm Mmm 960w 700min
940 6-36mim  16-36mim 3phase %gS gé

39

B0 BR BARE BEAROE TUWEELEE TMORINERE UMD IFEEC EBERY IffofE BRE €28 BR20V BR8V

%mim  380mm  390x600mim  560mm 1520mi 132KGS 90,000 93,000
%mim  380mm  390x600mim 560m/m 1520mim 136KGS 100,000 103,000

%mim - 380mm  390x600mim  560m/m 1630mim 186KGS 148,000 152,000



Fi& (Main Application) :
= i i BT~ EER
MabeL 0. YL-100 [Rife ZEREEBERMmEL

rover. [ -
—_— {224 (Characteristics) :

e B EEEToEL
» — - RENARBRESS

- ETERERENIEX

WO A MW W
Swa SR TR T W A

Efl: e
| mmex Y0
w3 457 WM 4mm
g . Steel Iron
Drill capacity .
(MAX) mlﬂﬁ%u%l 4mm
Brass aluminum products
FEiER Speed of spindle 0~12000rpm
MIRKERE Swing 200mm
FHFKITE Spindle stroke(MAX) 30mm
BiE Motor AC110V/220V  50/60HZ 1PH
88 Weight 24kg
S Height 510mm
B 16,000

40



Y100S(EE5E)

Y-200R

Y-200S(EE5E)

Ehaimir BN RIED ER

(mm)

(V)

Y-300R

&t

(mm)

mEE

RI&TCE) WARY

()

Y-300S(

==
==)

SE7fE)

Y-400S(EE5E)

()

B/

Y100R
Y100S
Y200R
Y200S
Y300R
Y300S
Y400S

38" A,
38" A
3/4" A,
34" A
" 7
"8
11/4" &

110 ~ 220
110 ~ 220
110 ~ 220
110 ~ 220
110 ~ 220
110 ~ 220
110 - 220

110
110
175
175
235
235
280

41

330°
330°
330°
330°
330 °

20
20
20
20
20
20
20

112x100
150x100
190x160
190x110
225x160
225x120
245x125

1.2
10.7
17.1
17.3
26.4
25.8
35.2

10,000
10,000
10,000
10,000
13,000
13,000
16,000



A

TSYR TZUN

FM-3S FM-6R FM-10S FM-12

B8
B | FIE Eigsy | =ma

o AR
Zfi§#w 5% | Model | Drilling . i Electro. Miﬂxéglﬁgirg.

Dia. magnetic | Force
FM3S 38"B  2-10m/m 1ov 80m/m 330° 20m/m  100x130m/m  400kg 295m/m 1lkg  12kg 11,800
FM6R 34"%,  2-20m/m 110V 200m/m 330° 20 m/m 150 m/m 1200kg  400m/m 19%g 21kg 14,800
FM6S 34"B  2-20m/m 1ov 200m/m  330° 20mm  100x185m/m  1200kg 400m/m 19g 21kg 14,800
FM10R "%, 225mim  110V220V  220mim  330° 20 m/m 165 m/m 2100kg  530m/m 28kg  31kg 20,000
FM10S "B 225mm  110V220V  220mim  330° 20m/m  100x225m/m  2100kg  530m/m 28kg  31kg 20,000
FM12 1/4"8  2:32mm 110V220V  230mm  180° 20m/m  140x240m/m  2800kg 555m/m 35kg  38kg 22,400

FM420 13/4"8  2-45mim  110V220V  280m/m 45 20m/m  140x240m/m  3000kg 555m/im 37kg  40kg 28,600

RSV RS

TSYR TZUN

B8

= B | SHESARND | FAE 8F | RARE | 08 | sigEmm | SHEnm | SEnwm | B8 | EE
RS B8
s " IModel | Max.Electro. MagneticForce | Drilling bore | Power source | Max.depth |Rotary | Front & rear movement Electro. magnet | Height N.W. | G.W. =
20

i
€328 C-32 2800kg 02~032 110V/220V 240 m/m  180° 140x240 765 42kg 44kg 28,600

42



T I\ 7 BRI b 85 SL I A

A

TSYR TZUN

; MTM-922A 2
\ MTM-930A
3# 2%

AEIMOIEES R ISR - EiREEE LS -
RRESEES70M/M » [HERETEITIARE  (EE
INFE(E280m/m > FTAEEINME » TS SIEE - A
LIRTIZRESTEERIE -

ECEBERRENRMEERE - TBEERIRIEER -
MTM-930AEY » MTM-922A RS/ EHR (RSiFiR
75648 » FRIRIERS1ER) HHDN T ERVERIE R SLIERY
MTM-940 AV BEEIRFEEBINVRBICEZER

ilIeess PP

3# 4%

ShRE IO BB BAEN SR BN BE RARE BEAR MARD UAR SHAE 0 SHE RE HIRA RIES WEES #oEE BE BH

Mol Drl  Tapping Power HP RPM  Max  RY  Tansvers Tumng Flecto  EARJ Height Z%KE  ZEME  Fitings Machine 220V 380V
Capacty Capacty ~ Capacly Deph  Body.  alMove Degree Magnefic  Electro TosnFuwe Dl Seeve  Weight  Weight
Novable Size Magnetic Force Standard Fiting  Standard Fiing

RE " 7" 756 456 .
M M SBNTET Wy R 0 B0 0 B0 P60 0 50 5 2 5 60 800 8300
TR R P

p MWW OB 2 B w w tmem g %0 7 3 7 T S50 M0
WA B0 A Whase s

o W SES2 SEAZ 2 2%2 1‘37? WM N W B Mg T 8 3 6 100 138000 142000
0 160380 160380 SPhase 1 %

43



B I\ BITIRSLZF LN F B S

TSYR TZUN

0
i
H T

A-22 SEFT\HLITIEIR

A-22N IR T

A-25N }E’%ﬁﬁmﬁa}tﬁ%%

q??eﬁﬁ

A2NS SRS SN R

o H BH(EH BERE Ersh %%LQEJJ gnoe  FE g FLAE NIEN BECT DEE AABY  EERY  RAHD
) (,\Q Tapping ady Turhing Transversal ~ Magnetic  Magnetic
HoIeCam Ho Deph Capaciy Movatle Sze Degree  Move Force

Nodel ~ Power(AC)  Molor Rated MotorHaled (m Dril Dnlmg
Ou M. Capacty  Trave

22 s e 3.25’2 333??8 W 350 gy W WA s G 2 a0
VY ;;gwgzggﬁggﬂé ]jggw g%’; ggg;gg 12/122”“:” 33%’/‘;2“ 3‘22'/”1%‘ o fmm f0ClGm S0gs Konm M 6250
o LT N G\ W ToT 6P awmw ome o w20 e 2 60
G et Bl g v R e Wl SR b s i 2 4D
M s N G DB 16T 60 sy oy © M BEIM s a7 B0
S MBS s M G T 10T 0 woe ygp 0 0M 1AM s S ¥ g0

HOVI20V S0B0HZ 1350W 1A 3070 22mm  nm  f8Smm Sm  BfGmm 100mm .
PVANVNORHE TSON 65 NOTR0 (GWIE 3500 MM 1 ey s O omn 100Tm 20gs nm 27 8740
MOFRVSEHT S0 A A0% 2%m Om  BSm  Snm  02m  fm
DOVOVSORRZ MSOW  65A  BOTR0 IAGNT  B5GY 2321312 13MG2 3B HIEHE

A2NS - A22NS

A2NS  A-25NS f0mm  110x200x%mm  1500kgs  490mm 34 95,000

44



EBEIETIVEI TSI ZF S

TSYR TZUN

A-30DS
B I\EITEEBSL I T
A-30DLS
ERI\EITEEELZF I NTEEH
EfiA
Wik g SEes GeRl GRt ME ME) Gt hE b A Qa0 g bw 168 R
Mokl Power(AC)  MowRded NoorRed (BSE)  Drl  DrlHoe (W&  Tapping  Bady Tuhing Transiesd  Magnetic  Magnefic (& g Weigh
Ouput ~ Ampere  RPM.  Capacty  Travel HoeCapacly  Capacily MovableSize Degree Move Force  Heigt
Fup Fursgp VIOVIAVEDBORE 130N 124 300780 fnn 1650 1100086 20gs Smn 28 10700
V2SR 1B 65A 300750 U 51312
TR it T R T T 0 o0y t5mm t20c200mm 180kgs S60mm % 111200
DV2UVS0R0HZ 180N 654 00T B 351!
L pqp, TOMRNSOGEL N 1A 30 o%m Gmn f65m B0 e mc2bdom ks Sonn B 1900
DVRUVSBHZ BN 65A 0T G-I U 5132 3511
Ty g WUAREE 80 GED L) A f02mm 00T g g5 to02ngm 180kgs S60nn % 13600
DV2UVS0B0HZ 10N 654 S0THD B S W 35

S110V-120V50/60HZ 13500 124 300750  230mm  8mm  16-50mm  10-20mm  100mm
20V-240V5060HZ  1350W  65A 300750 1A6'~1-316" 44" HI'1-3132"  3fB'G4"  3-16/16"

45

A30DLS  A-30DL 260 15mm 120:220x30mm 1800kgs 560mim 36 143,800



I TV = S

FM-50G & T\t Z S

TSYR TZUN

- AEEMEER - OFIRFEEREEER -
- REE—MREEE - SISEIRERY TFY) - NEHERNS ~ KEME - HEE - KR
FCRIESF VSIS -
Elin
BT SR(EH) EEiE  EEER (ﬂ%iﬁ FAE WERY RAHND S8 228 @R

Model Power(AC) Motor Rated Motor Rated (7vE) Magnetic ~ Magnetic (ﬁiﬁ% Weight
QOutp Ampere RPM. Hole Capaci Force  Heigt

110V-120V 50/60HZ 1350W 12A 300750 16-50mm 1O0086mm  1200kgs  460mm 25 63000
220V-240V 50/60HZ  1350W 6.5A 300750  5/8” ~1-31/32”

WAHRE

FM50G ~ FM-50G

BRI BNrR
EhSHRER HROAg B8
1/4,516~1"  _
MTM 6.0,80-050  DH=iE3,000
MTM 1'1/4’217:13f§ BLE smesms,000
I E=2 4 1,400
BILESIH 1,400
I ER 4 £ 1,800
I 172 600
ﬁ = i EA & 7,000
= PR ES & 6,000

46



e T\ TR SLZF SLH

PORTABLE ELECTRO \
MAGNETIC BENCH DRILL |

MODEL N0:YL-1000
CAPACITY:50 mm
i Powen:

SER NO: E—
DATE: I—

High Speed YL-1000

1. REIVEEEE DR ERNERRSHINASE e EE -
2. B T BB\ BEEFERAENE o

3. BNEE ~ HEE=l ~ BAEER

High Speed YL-900
1. & - 8E - A » E2(E14kg » §FE35cm -
2. BNTIUEIVBRE » FER%EHE -

e

e YL-1000 YL-900

B3R 50mm 35mm

BR AC 110V/220V 50/60HZ 1PH AC 110V/220V 50/60HZ 1PH
(Eif == 55mm 40mm

BaERY 220x110 170x97

WS 860W 670W

EERE 500rpm 850rpm
E=Weight 24.5kg 14kg

fBg 110V/44,000 220V/48,000 110V/30,000 220V/32000
R 100kg 600kg

47



s ra\)\A 35LEE8.0mmMEE9TMm
50LEE8.0mmEE112mm

A

T-350 AE14omm~40gmm BRAUEIEE35m/m

T-500 NE18mm~50amm EBRALIEIEES50m/m

|\ “u %
EHHRSE
T350 SSOFU 6. 3/ 7.0/8.0 91

T500 500%Y 6.3/7.0/8.0 112 400

[EEEE(RPM)SE 5K

HE R e g
(MM) STEEL PLATE STAINLESS CAST IRON
16 1200~800 1000~500  1800~1400

18 1150~700 850~450 1600~1250
20 950~650 800~400 1400~1100
22 850~550 700~350 1300~1000
25 750~500 650~300 1150~900
30 650~400 500~250 950~750
35 550~350 450~200 800~650
40 450~300 400~125 700~550
45 400~250 350~120 600~500
50 350~200 300~100 550~450

48

EASHRERT350 ERSIRIET500
FRIE B AR Big
14~30 1,400 18~30 1,500
31~35 1,600 31~35 1,800
36~40 1,800 36~40 2,400
41~45 2,700
_ 46~50 3,000
2%k DE )
SREBTUY 51~55 4,400
B8 B8 56~60 5,000
8~19 | 2,400 61~65 6,000
(IR REM 8)




Zg I-EEE i%

£ B 7\ HE

R—IVHY H—

EIRICESRETE AT -
1000 x BIEIER(mM/ D)

M8 : EEsSi
A& : 5 mimELINZANETR - NEHE - #iRkiS
i, > #841 » FRP.... FBEEMR

APM= JHE x 7(3.1416) 1525 1 50 m/mARNZ RZEEETSET—XRER » AL
oL
B R B R

BASHRSR AR =0 BASHRSR AR =0
HPD14-18 14-18 m/m 1,700 HPD60-65 60-65 m/m 5,900
HPD19-25.5 19-25.5 m/m 1,900 HPD70 70 m/m 6,360
HPD26-30 26-30 m/m 2,200 HPD75 75 m/m 6,860
HPD31-35 31-35 m/m 2,570 HPD80 80 m/m 7,400
HPD36-40 36-40 m/m 2,980 HPD85 85 m/m 8,300
HPD41-45 41-45 m/m 3,460 HPD90 90 m/m 8,900
HPD46-50 46-50 m/m 3,930 HPD95 95 m/m 9,930
HPD51-55 51-55 m/m 4,400 HPD100 100 m/m 9,960
HPD56-59 56-59 m/m 5,000 HPD B #EREEE 160

49



LS ER

¥ESE0iR
FAIZR 5508
BN : 1%

EfisHmER MR8 ¥BE m/m B
S300200 300x200x60 0.003 4,400
S300300 300x300x60 0.004 4,400
S300450 300x450x75 0.004 4,800
S450450 450x450x75 0.004 5,300
S600450 600x450x100 0.005 6,200
S600600 600x600x100 0.004 10,600
S600750 600x750x105 0.007 14,000
S600900 600x900x130 0.007 15,200
S900900 900x900x150 0.01 35,500
S9001200 900x1200x150 0.01 35,500
S10001000 1000x1000x150 0.01 40,000
S10001500 1000x1500x150 0.012 82,000
S10002000 1000x2000x200 0.02 126,000
WD40-1 USATEREaREH 1,100
517-660 ftEaRER 1,700

50



FC-2515 B E B

FFTAREIR RIS TNAR E

B : I

i 55 - A o

C200300 200x300x60 12kg 0.02 2,000
C300300 300x300x60 18kg 3,100
C450300 450x300x75 27kg 0.03 5,800
C450450 450x450x85 43kg 8,000
C600450 600x450x100 55kg 10,000
C600600 600x600x100 75kg 11,500

C750600 750x600x110 113kg 0.035 18,800
C900600 900x600x110 130kg 0.04 20,800
C900900 900x900x125 240kg 38,000
C10001000 1,000x1,000x135 300kg 0.045 42,600
C1200900 1,200x900x150 380kg 42,600
C15001000 1,500x1,000x150 630kg 0.05 74,000
C20001000 2,000x1,000x170 1060kg 115,000

RE B2 A REIZE

Bl 7

EE kw5 T AEFRRIZE

CF450450 450x450x700 m/m x 2" 3,100 4,000
CF600450 600x450x700 m/m x 2" 3,200 4,800
CF600600 600x600x700 m/m x 2" 4,000 6,000
CF900600 900x600x600 m/m x 2" 5,000 6,800
CF900900 900x900x600 m/m x 2" 6,400 7,800
CF10001000 1,000x1,000x600 m/m x 3" 6,800 9,000
CF1200900 1,200x900x600 m/m x 3" 8,000 10,000
CF10001500 1,000x1,500x600 m/m x 3" 12,000 15,400
CF20001000 2,000x1,000x600 m/m x 3" 21,000 21,000

51



il 525 18 K€

B8/
B HRER #R 1% B
H40 140x108x57 TI{iER 3,600
F41 140x108x216 2,880
EI |y [ AR
AL
B8/
EHSHRER FR 1% B
H41A 150x150x50 (YZHELS) 4,840
H42A 150x230x50 (ﬂ?ﬁﬁﬁ) 5,800
H43A 230x350x50 (1ZhHEtS) 8,000
H41 150x150 TR 3,840
H42 150x230 IR 4,800
H43 230x350x50 TJ#ER 7,000
] “'jz A&
_El,\J i i =
=l V=
EiSHRER #H 1% B
7001 HIBE 058m/m g8l 13,870
7002 HISE 658m/m EEEY 13,870
AR as
B8/
B HRER #R 1% B
F-48 160x110x100 2,300
F-47 215x150x125 4,200

52



FEBUER

Box Block with Groove

B/

ERSHRIR bi) 18 AR

B150150 150x150x150 7,600

B200200 200x200x200 10,800

B250250 250x250x250 15,600

B300300 300x300x300 21,000
W=Er— AN
B = o)

— [

V-blocks and Clamp

BN : (2R) 48
EhsiwsE B SR R fE1%
181-902  181-902 25 m/m {J%&H 8,480

BRERT

B : R
ERSHRSR RxXEXEEXE B8
RA150 150x100x100x20 3,300
W = ===
ra2atR (&l1E)
¥EE : 0.02 Bfil: R
EiSHRR RS Et&(EmEa)
L-8 8”x6"x5" 5,000
L-10 10"X8"x6” 6,000
L-12 12"x9”x8” 8,400

53



ssssssssscccccccccnnnse

ssssssssssscscccscnnss

sssssssssane

sssscscssscccccccscssssns

©sssssssssssccssccccsccscssssssssssssssssscccnns

MEMO

4esssssssssssccccccccccssssssssssss

sssssssssces

essssssssssssccccccccccssssssssssns

sesscssssccccccccccsssssssssssssssscccccccccssssssssssssssssne

4ssssssssscsscccccccscsssssssssssssssscccccccnns

54

ssscccccccccccccssssssssssssssscccccns

ssssssssssne

4ssssssssscssccccccccccssssssssssns

esssssssscsssccccccnns

sssssssssssssccccccccccssssssssssss

ssssssssssne

4ssssssssssssscccccccccssssssssssns

ssssssccccccns

ssccssccccccns

ssssssssccccns



1>~
I>

KANETEC Efhi4
ey s g

m&p s T
1000N] | 1000N| ==

MB RV MB-W2V MB-W2S MB-PSL

MB-X% I\fOYI==~—2Z HIGH LOCK MINI BASE

AAOv IR e, o IMETY VI,

. BUEFRT ORI
O MVWTVWET,
C I RN ERRONERRITRLL

THATNS—7A. VY —ROEMER
BEFCBMATNEY,

FAYNT—=JRIFNTYT

MB-PSX 005y F TITFRDESERH EEFICHIE

BHERTT .
s 7 RS 07— LBIFEHREECHETE. JUHE
300N | CEt Ao

160N | OHWEBEOETY,

55



KANETEC £ %M

H#® &

MB-OX7: I\4

>~
I>

0w ~—2 HIGH LOCK BASE

(210)

VEIREE, J5REERTHE

W7
$7012T
250N

MB - S12B

B fil : mm

ERFEBRMN KA ILE &

MB-B-DG8C 165 6.5X8.1 1500
MB-BV-DG6C 70 150 1600
MB - B 12 | 176 10 | 165 2000
MB - BV 50 58 55 150 M8X1.25 45/6.5 2200
MB - F2 80 165 3300
MB - K 14 178 12 3000
MB - FX 16 | 315 - - 6.0/8.1 4300
MB - T3 130 50 17 55 20 | 355 14 | 200 | M10X1.5 8400
MB - RV 16 | 225 6.5/8.1 4080
MB - W2 14 | 165 4200
MB - W2V 100 50 73 55 M8X1.25 4700
MB - W2S i L Ce 45765 5700
12 | 130
MB - PSL 30 30 34 35 7 54 - - M5X0.8 6.0 1600

x’ A 3 E

MB - OX SHEE 100 50 | 73 | 55 | 140 | 110 | 81 | 46 s8I8EE 9200

MB - S12B VB BB 7 725kgf, S 15 - 120mm 120 1R 44 14600

MB - CX 16 28 | 28 | 29 5500
46 | 46 | 39 BBX2

MB - PSX W 17 30 [ 30 | 30 6700




1>~
I>

KANETEC W I
WeTES i

s

MB -L -45

o oneres . 57
——— |250N]

MB -L -90

MBE - 35 40 73 55 52 4800
MB - PB 80 58 M8 X 1.253%7 1400
MB - PR 100 50 73 55 2000
MB - PL 130 117 M10 X 1.253%7 3800
MB - PH 125 70 70 80 M12 X 1.753%11 4400
MB - PM 60 40 40 40 M6 X 1.05F6 1400
MB - PS 30 30 34 35 M5 X 0.83%4 1380
MB - PG 150 60 120 52 M8 X 1.253%7 %l 4400
MB-L-45 6.5 45 45 20 4-M4 X 0.7 ;%6 RgFE25mm 5200
MB -L - 65 20 65 65 20 8-84 X 0.7 6 Bf@25mm 6400
MB - L - 90 25 90 90 20 8-84 X 0.7 36 BFE25mm 8000
MB-L-C 50 6 Dai 50mm X 20mm 4-M4 X 0.7 ;56 BfE25mm 5000
MB-L-C75 20 Dai 75mm X 20mm 4-M4 X 0.7 %6 BIME35mm 6800

57



>
>

m + &

XS - 13.50 % >

M-28F+V

M-28F+C

. M- 28.30

S - 20.50 5062.20

KANETEC RZ7] FErE+ WA

PA=ER

W G PR e om

XS - 13.50 MB - PM 40 225 M6X1.0 6900
S - 20.50 MB - PB 80 310 7280
M - 28.30 MB - PR 100 390 46 ~ 8 9600
M - 28.20 Bt EZEIR AR 365 Mex1.25 IS 11600
M - 28.40 TE 22 S 385 14000
5062.20 MB - PL 130 730 M10X1.25 22400

58



TFO6 FB1-1 (CHER) FB1 CHE)

FB2-1 TH72 FB24 H13AV H13A
(EEEY)
AL RS R B
SRS %N IRFIKG B8 ERSHRIR 128 B1&
YC13A —R%EY 60 600 H131 ExE 90
YC13AV — R BYTIEE 60 700 H132 KA 90
FB1 SHAEED 80 2600 H133 KZHE 90
FB1-1 SHEE MR 80 3400 H134 INSZHE 90
FB2 BHNED 80 1600 FB2A FB2 L& 1000
FB2-1 BEE 25 1200 FO1 [EEE60KG 400
FB24 BEEHIRARE ~ fER 40 1400 FO1B [EEE8OKG 700
TF06 SEFENTN 100 1500 FO1C [EEE150KG 2000
TF04 KEVRGIEEE 150 4000 TH72 [REEMTIESF 800
IR F SRS : 06 - o SRISRIE
JEEE : 117%50%55 BRI DER | BIRRIRS

59



>
>

AR

M {REERE B85
ERSHRsR EitbaN BEig
YCO05 POEkIEaRE 800
M1 X, EE 560
M2 X EE 500
FL1GHT | EBIE| 70

M1 YCO05
iR SEE3S
N E%R =
ERSHRSR EithaN BEig
SDR-1 55%58+*55010 900
SDR-2 55%58+*55012 900
[ 4d= . +

EhSHRR Eitbay BEg
FB2-2 9+ I E T 1400
FB2-3 12* 3= D 1400

TKM-025C TKM-04C TKM-05C TKM-025S TKM-06S  TKM-001 TKM-0015 TKM-002
__

— uﬁfpﬂ < IRILRE ~ D;.UJI]IﬁE
TKM-025C 10 026%25 M6*1 .o D8 26 25 25

TKM-025S 10 26%26%25 - 2626 25 25 23 330
TKM-06S 20 26*60%25 M6+1.0 D10 26%52 25 25 23 480
TKM-06W 20 26%60%25 B BIESHRE 26452 25 25 23 1500
TKM-03C 15 030%25 M6+*1.0 D8 30 27 25 21 380
TKM-04C 30 240%30 M8%1.25 D12 40 47 30 24 520
TKM-05C 50 050%40 M8+#1.25 D12 50 45 40 33 780
TKM-001 0.8 010%18 M5*0.8 D4 - - - - 330
TKM-002 4 220%18 M5%0.8 D4 - - - - 420
TKM-0015 2 215%18 M5+*0.8 D4 - - - - 370

60



JEEE BB
EhsHwmaR A5k =7
F25T F-25T 70KG 100 76 80 50 6 5400

Efi: R

JECFEE BB B R
T :
F26T F-26T 30KG 70 60 72 40 4 2,650
F27T F-27T 35KG 125 60 72 39 4 4,000

B FERBU R BE{17 : 48
ERSHRR BUgR
F28T F-28T 13KG 70 40 50 36 4 5700
F29T F-29T 17KG 100 49 80 60 4 9,600
F30T F-30T 23KG 150 48 100 90 5 13,600

61



Bf: =R
EfSHRR RUgs £ = =3 EVE B
F31 F-31 100 100 100 26 11,200
F32 F-32 150 150 150 32 21,200
‘E1TEME
1JX -
B 4B
EiSHRER RUgs E = =) B
F35T F-35T 99 49 25 2,100
VELGREE
== =
E8f] : 28

F-36T F-36T 51 57.2 46 38 22 4 3,000

B hsHms BUER
F-37T F-37T 110 60 48 39 20 3 2,900



=

eEaVES

SRR AR B8
SV100 100x100x75 22,000
SV150 150x150x100 32,000

LS 1T
Eh&HwER A& BE B EEiL
S150 150x15x25 0.002 7,500 2PCS/#8
S250 250x40x25 0.002 8,600 2PCS/#8
S400 400x60x25 0.002 12,500 2PCS/#H
S630 630x80x25 0.002 18,500 152
S1000 1000x160x50 0.005 27,000 132
S1500 1500x150x60 0.006 56,000 132
FHiER iz EiE
TS500 500x50x6 3,460
TS600 600x50x6 3,460
TS1000 1000x50x6 8,000
) =n
ME T
EhSHRER g B1&
T1600 600x60x15 6,800
TI1000 1000x60x15 12,000
TI1200 1200x60x15 17,800
TI1500 1500x60x15 38,600

MEEEAR

EHLHRSR AR B8
TR300 100 9,000
TR400 100 13,000

63



RIMEEES

Ehsimsr  SLElE B
TP2 200 490x90x100 145 24,000
TP3 300 530x90x100 145 24,000
' TS 400 650x90x100 145 28,600
TS2 500 700x100x150 145 38,600
TS3 600 1000x200x230 200 46,200
TS4 800 200 55,000

1200x200x230
I7EA200EY 300/400/500 &Y
AERR
| |
16 =

EfisiRaR N =0
SL300200 300x200x50 8,000
SL400250 400x250x60 14,000
SL630400 630x400x63 22,000
SL1000630 1000x630x80 54,000

ahR

E kiR R B
S400400 400x400x60 32,000

RESHRAY)

MULTI-FUNCTION
ANGLE LEVEL
— OIL BEZEL TYPE

EfSHRIR ~BExS %)=} BE Bi&
A-100 78x62x14 ABS 0.2 660
A-300 93x79x15 ABS 0.1 1,100
A-500 93x79x16 #HaE 0.083 2,200
A-600 140x130x20 HaeE 0.05 5,200

64



SR en gy R I

SR

/@ NENO-301s

KPEBRR 1V~ 1H

KIEE : =1mm/10m
BEEEEHE : £3°
{E1% : 58,000

B1% : 195,000

FUJIYAMA

& Tn-520

KFEEBHR 3V~ 1H
KEEE : +1mm/5m
BEETEHE : £3°
{818 : 34,000

FUJIYAMA
TN-120

KEEBIR 1V~ 1H AT
KIEEE : £1mm/5m
E#RTHE - £3°
{B1% : 25,000

NENO
AT-6101

g

KIFEER 1V~ 1H

= 5 P35

ERSER

§9H“1$§ Tadlma
Friry
TSL-F301
EE:EE
ﬂﬂﬁﬂ
SIRESENER
EFNSEWET
XFEEGHR 3V~ 1H
BEERTEHE : +3°

/@ NENO-401s

&Y LN-110

= 0 TaJima
BL-F301

BAEE - Bk S2

=

Ba7KB EEHR ¢ IP54
KFEBIR : 2V - 1H
BEEVHE : +2

ey HB 95,000

= =

KIPEEIR : 4V ~1H

KIEE : £1mm/10m
BEEYHEE : £3°
818 : 66,000

FUJIYAMA
TN-620

=

KFEEIR : 4V~ 1H
KEBE : £1mm/5m
BEEFHE: +3°
{E48 : 38,000

NENO

-

KEEER : 1V ~1H
KEHEE © £1.5mm/5m
BEEYEHEE : £3°
B+ : 13000

\ NENO
1 \,2 /® AT-9401

’i \
Pt b4 PSR

KFEBIR 4V ~ 1H

BEEEFEHE : £3° EEETEHE : +3°
B18 : 16,000 B8 : 65,000
PAFE mETNSEUEE

65



hess E 5 RS

I & Pro sHOT L5

RIBEE : BE300m
BT : BT
E#EREE : 10
KHEE : 20"

T HIRLRE - 635nm Y BATH
B - BAIZE ~ FER - BEUNER
&1 : 87,500

A_m_ LT300

BIEEE - BF300m
BEAL : SFRNEEHEF
B EEE: +6 °
KEHEE : 20

FEIELRE  635nmT) BAT
B : BAD2S - FBR - FEUNER
B#8 : 137,500

NENO TS%S5
PXZHETERR
TW-405

AIBRE 5"
BIBBEE : 5"
O fZ & : 45mm / 30X

R BEFE &t - 1600m
BIENR : FEROXXNE - AMHEERET

Leica DISTO™

LITE 5
EHAIRE 8

RIBEFEE ¢ £3mm
BIEEEEE : 0.2m~200m
AR/ GEEN - Tmm

&1% : 30,000

66

&Y PrO sHOT L4+

A EEE - BL600m
B : B3R
BEhm1EsEE : 10

KSHEE + 15"(7.27mm/100mm)
T HBIRE : 635nm T BATHE

B : BADZR ~ FBR - UGS

{818 : 112,500

AGL L1600

TGP HEUEE : 635nm » TIR Y

5B BE0E ¢ B300m
BYAN : EINSEHDEF
B EEE: +6 °
KB : 20"
B SYAVEE : 635nm D SAT
R TEEE - +10%
WIS X, ¥, 7 = B0 RS RS 1
MY BZ2 - AR - HEINSS
{&#8 : 280,000
FUJIYAMA
K-2403% 8 K&
55K : 24X
4 : 36mm
1TRBERERZE © £2mm
M : B3R - B
B8 : 32,000

NENO NCS 150
ETERE

BIBEE : 5"
O&/B K - 45mm/30 x
FATER - €ELED R

Leica DISTO™

Classic 5a

E5 AR &

BIEEFSE : +£1.5mm
BIFEEEE : 0.2m ~200m
) 1mm

FHIYEAYEE : 635nm » OIR ¢
{BF8 : 40,000




KILTER 188 MULTIVETER

soov OFF ooy so0v OFF goov
2000 ~ 200 2000 2
200~ v
2v

(200} A=
m

AuTo
POWER OFF . =10pF ADJ.
KILTER 326 3% % et
Shon :\11.5757R Cor
bpcm A -
=
DISCHARGE CAPACITOR

BEFORE CONNECTING

o)

KT001 1R EVAIGHE

Do —

KT002 4B RIE E

YF800 3280 ETvRR

SRR I B
K370 KILTER-370 $g§t8Y 560
K605 PMM-605 =\ 760
K119 KILTER-119 BERENRiEE 57 800
K168 KILTER-168 EIEIRFH4EY 4S5 1100
K188 KILTER-188 SAEHRE [4&¥AY 1300
K249 KILTER-249 MR  MiiRaEy 560
K259 KILTER-259 TEY iR EY 800
K269 KILTER-269 Z34-5Y e 800
K326 KILTER-326 B3 Ehifaty HEHAZRY 1500
K357 KILTER-357 BB ERR Mtk 2000
K369 KILTER-369 Z<EZLEET 3400
YF800 $5EYF-800 35tHY 1600
K2000 $95%2000 # BSHEY 2000
K3280 $03%3280 # EEHEY 3800
K3602 $9723602 # KB 7200
KTO001 BlEtE(IEER) 60
KT002 BIEE(OSEY) 60

67



KILTER

M E o

FINHEEEm

TSUES 2

aup

AR £3.0 % M%) A

—RRAE

A HEE 4 T w3309

i ME % 1 1.5x4 18
(ZRT R

Tl B R4 :8400

— A&
En X 100Q
AEREE 4 EwAT0g
ERER :1.5x 61
(ZHT )

Sl 44 : 6800

INSULATION TESTER

A &R/ FAMRK

TREHRRE T

EHE MK 2000

A& EE 4T RA40g

#MEL :15x64
(23 E®)

—RIABEERE

B HEE AR TR AR 80V~24KV. AEHI1EE % &8 AE A N100K/30cm 5945 Af & R KBk & 4%
KILTER 2208 &7 i3t 850 Ak XAx4a 3t 860 T T Xixsa st
S1EBAE 1 AAE e SRABE &

1. 248 iR TR 4G Aafem] & 1. 248 3R TReY AR 3. 1. 248 3R TRy Aafz ) &
2. 248 R TR RAK R 2. =48 iR TRE RAaK R 2. 248 R TR RAK R
e — 3.k Hit #ae) 7 h.
BINE S Bx — AR g
B | REBRB X HRER : : 90V ~600V —jEiEis
2+ 50~60Hz A €& 1100V ~600V
A8 | —# RS 1134 x 85 x 45 AK A F 145 ~70Hz
A5 BJE 50V ~500V B SMi Rk 1153 x 72 x 35mm
21 | kg% :45~65Hz - A 510 T Bt 1OV Tk
v s R+ 1105 x 62 x 24 g '24003“@ Y A% TE  4E k2009 %4 3000
TR 1OV ER ’
A% EE : 4F 42109
14 : 1800
EFN-UERE
EN=: -
I 55X 2REE $R F 0 BTN - (B EIR
KYORITSU 3165/3166 54t% | 1504 Hasta 2550 # 7% spmn
3165 BEREED * & BEE ¢ U SEEES,
i3 | seaEEe WX REIE Bt 250V : £109 163 x 100 x 50mm it SR+

# 500V : I R+ O0M Q ~1000M @ 1 500V ¢ £109 163 x 100 x 50mm

f% O0MQ ~1000M Q 90 x 137 x 40mm kR £5.0% A A OMQ~200MQ
H&f: +5.0 9 %2 & #r # 500V @ £10% #1000V : £10%

iz L3 BOY~EI0Y OM Q ~200M Q OM @ ~2000M o

%]‘T‘ 'F"MM} ¢ 43.09 Ml & Eag g £5.09% %2 A& 20M @ : +1.59+2dgts
3166 #1000V : +1o<n, 200M @ : +2.5 %+2dgts

éfi St IZEE & OM Q ~400M Q 2000M @ : +59%+3dgts

~~ | #1000V : B £5.0% %2 A ; & : OV ~600V

= | oMma~2000MQ i e ¢ £1.5%+2dgts
LR : OV~

=] R . 45.0% %% B §;§@+2 s‘yequ;/& — iR R

L & :0V~600V 8 SRR 3 1/2 2000 Counts

#

p—

1% 45 : 6400

6201 545t A

6210 Hx A

6212 #F A (ggm

%820Hz 2mA =N
TREH AR K
ARHEE 4 € w600g

sh R <+ :105 x 158 x 70mm

AT 1.5x6MB(=ZHT k)

&4 : 14800

TR S A& R

A&SEF ¢ 4 € k4609
SR <+ : 163 x 100 x 50mm
% RE 1.5 X 6{E(Z HE k)
1% 45 : 8400

7 #%820Hz 2mA

31/22000 Counts

CHE N FRH T
RAER 1.5x6ME(ZHE
1% # : 8800

)

Aafe
St BEE e &g GEE & +3%+1dgt
1500V ¢ TS 6 ~TRE
8 | i ss000v 2560 10001+ 0 ~5060
L #1000V : 1500V : 0 ~75GQ
é‘% AR : 0~50G Q 2000V : 0~100GQ
m +5.09 7l s 12500V - 2500V 1 0~125GQ
s ) 0~125G O 3000V : 0~150G2
3o | # 10000v o 3500V 1 0~ 17560
g{ 0~400G e 4000V : 0~200GQ
° AR ) - 4500V @ 0~2256Q
~| L5008 B 5000V : 0~ 25060
'f‘g:J T +39%+3dgts 5500V ¢ 0~ 27568
_ 6000V : 0~ 300G
= ﬁ*ﬂgﬁfngg — MR 6500V : 0~32560Q —ARIRAR
* | & w B 9 ek 7000V : 0~350GQ & S #%
A ¥ 1 4T 435009 T ETH FRHEF 5 7500V : 0~ 375G 500V & —f8 § {28 42
~ | MR R+ :330 x 260 x 160mm A& EF  4F 035009 8000V : 0~4006Q EwTH z,zw &
1R Ek 1.5 x 88 =3 Tik) b, R : 330 x 260 x 160mm 8500V 1 0~4256Q & & & : & € 436009
4 : 38000 0 Tk 1.5 x 818( =3k E L) 9000V : 0~ 45060 #LR + £330 x 260 x 160mm
N 4% : 40000 9500V : 0~475GQ 4 AE X :1.5x8ME(=HKET ¥)
N : 10000V : 0~500G{) 4% # : 48000
KYORITSU 4102A 545t A 1505 5413 1520 #HFH
. i Sb Rt
SEmMATS CERAE S O E = AE e 163 x 100 x 50mm
Kfﬁméﬁ@w{l- KB T 89 AR R KIBR DT ¢ bk .
Ilﬁﬂna?ﬁﬁ%%ﬂﬂki TR 8 M 49 0K R TR BHRG 9 ik in.
|| FREHRIES DL BB T 4 R L BRBWIIR 4 R L.
| AmREERGRLRL. [ KB REST 8 IR L KU RS 8 bR L
Xy, | ¢—BERS & — BT & & — RIFIE &
| Hmi R ¢ 3 4 120 0(0.010)
W, | 1200120 /12000 100/1000/10000 200 0(0.1 0)
m AR 43.0 % %l & BAffg 3.0 9 Wl & 2000 (1 Q)
BREE TR Mg 0 £2.0 %+2dgts
4k | ov~30acv s0-60Hz 0V ~30ACV 40-500Hz BHTE :
AR £3.0% 0V ~200ACV 40-500Hz
o : 2309 %l & ME7 A& EY Ak 1.0% +2gdts
z % : g :1.0% +
HEFA &  #820Hz 2mA M A% B AN RS

68




KILTER 2210 & /%%k

KILTER 2215 &% 4k

> g = 5 . R 3HIIE; = .
‘-“‘% AIELEE : h“% AL TYPEK/J
J& | s0c~1300c e i 8 st i s
&k | 58°F~1999°F B KA 11999 -3 I 5445 7 &0
| w S AR A 5 ~ | 200 ~1050C E AR A H R
2 | cw=05%1C TN TRB T 3h | 287 ~1922% N8 GG
A | ppr +0.39%+2°F T B AL 9 AR 20 s BF P 32 8 S M
ZF el B A i : OFFSET wow P 8 20 s B 320 R kAR
i ST ERML VT AG | Ci+0059+0.7°C 20 58 9 Wik
71 CiF0.1°C/1°C Bis b s 252000 55 A | FHE005%+1.4°F TRES VTR
| FHO0AE/1E | Tk 4 ¢ #9200 1 0
it Fao02t
_ [ ‘FE§0.2°F B
$id
R 1 BEHF  RAOL R oV E w1 4 A —R AR VERlla
2400 gﬂi\ 1%7& :DC6OV / AC24V s x14 4000| # A% :MAX DC/AC 24V kA48
SR 1143 X 74 X 34mm ik SR < : 130 x 56 x 38mm B 24
A& TE A E #2259 MAX :200°C / 392°F ASEE 41709 MAX : 200°C /392 °F
2310 % &3t 2330
—iEiEg BAE MM R Bk MAE B
2% %8 :32dB~ 80dB(LO) e e o= seate
. . = . Y 'c <39.99 fc
u 50dB ~100dB(Med) ‘E!?\ 11ux <3999 lux  0.1fc=399.9 fc
> 80dB ~130dB( Hi ) 5 101 lux 39990 lux 1 fo < 3999 fc R
3] #a 0 £1.5dB(94dB/1KHz) }i 28 5B :0~39990 lux / 0~3999 fc
E fgdt % 2 0. 1dB(/\;1) 3 ke g 3% + 5 dgts
BE % ¢ BR(FAST @ 1/845 /1K) — R
1B 4] r§(SLOW 1 45/1%) B Ak T 8 SRE ART HRE
H )ﬁ,:mu,ﬁﬂt. 30Hz ~8KHz R Bia b : Lux(E ) [ f(R/ 38 %)
66 00| s2l& shak : Fk FAm &b 8000| sxm:ziu-in
ACHE R E o THA B el

Tk Th FRH#F
ERAEL OV ER
SMIL R<F 1235 x 58 x 34mm

®RER : 9\/% &
shi R+ 1194 x 62 x 34mm

RS B3R

A& T 1 4 %2209 EREF 42459
180 SispEsp s AR 5] Rk WXBRHE -RDBEE BIRAE
BER/ ERER WERS KERR nn g (MSIRRE) ik dabd ot A B
TS TS gl Sk il il 8B [E
- U | maE e -200mvi2/20/200V
| @& G e ﬁ % ¥ 42 1200 Q/20K/200K Q
S bl A AT A 0 ~15A
g] i1 0~1999 x1 rpm
EmREEe 3 0~1999 x10 rpm

1. 7T #| B7 € 36409 45K > 4R H'l "‘@‘% ﬁ’n’s:l% %{k/f_
PRER P L ES T X
3.RE B RAE R G
4. 5T 82 44eT F 8 S

Dwell A A&

Dwell % :0~100%

MSHETL @
EES

:4CYL —>0° ~90°
6CYL - 0° ~60°
8CYL - 0° ~45°

0.1ms~200.0ms

5.7 = LED :1Hz~2000Hz
gied N , 1-2 ~1
AL 6. 2 B0 eaa
3000| 7.4 4% ~ Bk B3XA f § sk h/ =
8. FF K/ fE A b FE 1999 Counts
oo . e A1 AT
?}?}’M& OV gk + :148 x 75 x 38
T Fa 0 4100 g A &EF 4 E50g
4137 HMEHE (BaR) KILTER 370 #54t8 §4k
ERFEe B R ERE /RS
BTt ¥ KRR B IREE /IR R JED RIZ BB AR "
B S0 do K R M 42 LS EX Y PN EE £ o DN wiE =
A | A T R s & 0K 8 B4 = ]
B @R T RA AT @]— EES Bl BE
#2423 : DC/AC 20V LBl CI&E B3 gz
-b& AR 1 5XBIA( = BE %) i’lgGﬁUﬂ%* ?)ﬂ. A8 Ei 2R — 15 !
S | A®EE 8 Els00 Y F | zene:
3 $hER <+ :250 x 190 x 110mm o ) ; S | g i )
B S T G | DEE AR
B4 1 :0.1m Q ~2000 O 110V 51230V A AREN > RN
18 #% P 05/(,+2dgts ShiR R<F : 148 x 100 x 35mm
aro00]  mas - WM REE 1A 42m Tk 1.5V x1/9Vx1
200.0mQ  100.0u ©Q 100mA 560
2000m © 1m 100mA SRR / SH AR [ RE—F
20.00 Q 0.01u 10mA
200.0 Q 0.1u 10mA aEtE
2000 Q 1Q 1mA
X TH-05
9*!] Digital Thermo-Hygrometer KXEIESR ~ ;BEST
£ (%11~ ER\MmEAR)
K|
s @ ARLOHKFRAKEFRE  BE
el B &~ RAREAEIIE ) A
N B ok T@E )~ Tlg(4d))
S F3kR ) FRIBRR
/sy

e

18 441
1700

TEAF BRI C/F

BB Byl AR R > MR R S
AFwRERL—R > BpTHEEE R —F AL
@ XA ~ K~ Mk~ w R SRR

@ 2~ E#HmANY

IN/OUT THERMO HYGROMETER

@@@

we — ser

69




Mitutoyo

EhisiReR

=/)\ZE]

HIRE

BN R

1044F
2046S
2048S-10
2050S
3046S
3050S
305258
3058S-19
2109S-10
2113S-10
2119S8-10
T2046
T2109

TECLOCK

0.01 m/m
0.01 m/m
0.01 m/m
0.01 m/m
0.01 m/m
0.01 m/m
0.01 m/m
0.01 m/m
0.001 m/m
0.001 m/m
0.001 m/m
0.01 m/m
0.001 m/m

0-5 m/m
0-10 m/m
0-10 m/m
0-20 m/m
0-10 m/m
0-20 m/m
0-30 m/m
0-50 m/m
0-01 m/m
0-02 m/m
0-05 m/m
0-10 m/m
0-01 m/m

TM110

70

1.0 m/m
1.0 m/m
1.0 m/m
1.0 m/m
1.0 m/m
1.0 m/m
1.0 m/m
1.0 m/m
0.2 m/m
0.2 m/m
0.2 m/m
1.0 m/m
0.2 m/m

EhsHwRR

TM-110

R
e

EETTIEE

E/\AIEl
0.01 m/m

HIFE
10 m/m

2,380
1,380
4,090
2,460
3,930
3,850
4,740
5,070
2,650
4,110
4,260
500
1,100

B ¢

1,200



Mitutoyo 3 B §%;BI5E

FHisE RIE

901312 %58 53 m/m: 300 120057 ¢ 90° ; L:5mm 4,260
900030 e L7 3mm 170 120068 Cﬁﬁ: : g1im/m ; L:15mm 8,070
120047 L =EA 1,270 120067 7<% @4m/m ; L:15mm 8,290
120049 iS5 03 m/m; 1,200 131365 @5m/m ; L:8mm 360
120051 @E #|a  Li15mm 1,900 101117 [ B 010m/m ; L:10mm 410
137391 [)73 i5ifl o3 m/m: 1,200 120056 R G @2m/m ; L:8mm 1,480
137392 EZ5 L:20mm 1,900 120041 il 24.3m/m ; L:5mm 4,780
120053 $888 @3 m/m: 1,200 120042 ¢ ©6.5m/m ; L:10mm 5,300
120055 EHA L:25mm 1,900 120043 ==l 29.5m/m ; L:10mm 6,380
101386 @5m/m ; L:5mm 270 900391 %\jﬁﬁfz o3m/m ; L:3.7mm 660
101118 o5m/m ; L:10mm 270 101121 R0.4 ; N:11mm 270
101387 o5m/m ; L:20mm 270 137413 R0.2 ; N:13mm 300
101388 25m/m ; L:25mm 270 120066 D:00.45m/m ; N:2.5mm 3,620
101122 21.8m/m ; L:7.3mm 270 120065 i:fr'aﬁ D:g1m/m ; N:2.5mm 2,540
101119 R7*D10*L5mm 270 120064 D:21.5m/m ; N:13mm 2,760
120058 R5*D5.2*L5mm 5,800 137257 D:e2m/m ; N:8mm 1,840
120059 R7*D7.5*L10mm 6,630 120061 _ﬁ;ﬂ; T:0.4m/m ; D:2mm 5,300
120060 R10*D10.5*L10mm 7,880 120062 '1:@ T:0.6m/m ; D:2mm 5,300
101120 L5mm*D10mm 270 120063 ““CC 3 Tm/m; D:4mm 5,970
101385 L5mm*D5mm 270 901954 m 210m/m ; L:15mm 1,840
ERE
B : K/
M BASE = 2 1,200
TESA BASE TESA / ETALON 1,000

71



Mitoyo EFER - DEF

@ =X ARRNN - FHRRIPE6IRIESK

@ TUEREBUHIRAEER -

@ E—RFRRYREEME -

@ ABSHEHIT\ R A - BIFHE » NEFRER ERISNERRY -

ABSOLUTE
oimmaTIc

25mm  0.001mm

Mitutoyo

SRR

500-196 0-6"x150m/m 40.02 5,890

500-197 0~8"x200m/m +0.02 5,980

500-752 0~6"x150m/m +0.02 7,600 B 7K, B33, B IR 15 e B 1P67
500-753 8"/200m/m +0.02 , 9,880 IP63

500-754 12"/300m/m 4003 0000577001 mm o0, IP63
500-171-20  0~6"x150m/m 7,880

500-172-20  0~8"x200m/m 10,160

500-505-10 0~18"x450 m/m +0.02 0.0005"/0.01 m/m 38,470
500-506-10 0~24"x600 m/m 4+0.02 0.0005"/0.01 m/m 41,890
500-507-10 0~40"x1000 m/m  40.08 0.0005"/0.01 m/m 75,620

293-805 0~25 m/m +0.02 0.001 m/m 5,180 EE :m/m
293-815 0~25 m/m / 0~1" 0.00005"/0.001 m/m 5,180 EE: Y
293-240 0~25 m/m 0.001 m/m 7,000 B57K, B35, 1P65

72



7331 7309
fEMTEZ0.01mm Bi]: R
ERSHRSTE A2 B B

7331 0.01~10m/m — f& & 2,380
7301 0.01~10m/m — f% & 2,380
7305 0.01~20 m/m  —fXFUREE 5,180
7309 0.01~10m/m # ¥ & 4,930
7313 0.01~10 m/m  BISEE & 4,800

BEACOC‘
Bfij: R

EHSHRSR A2 B

PEACOCKG 0.01~10 m/m 2,000

PEACOCKH 0.01~10 m/m 2,800

73

SRR
SM112
SM114

N
\\\\4\&”

N
o

kN 8
S

fZ#7£0.01mm
EhisimeR

7315 0.01~10 m/m
7321 0.01~10 m/m
7323 0.01~20 m/m
7360 0.01~10 m/m

TECLOCK

SM-114

7321

BN
I B
228120 m/m
oo,

SEEE120 m/m
B g H

BN : R

0.01~10 m/m
0.01~10 m/m

Efil: R
B
5,860
3,560
5,850
3,560

B8
2,000
2,800



Mitutoyo

BEER

=& Efi] : 2 KBE

WAGREE iR
530-104 6"x150 m/m  1/128'x0.05 m/m +0.05 1,700  T530-104  6"x150 m/m
530-114 8'x200 m/m  1/128"x0.05 m/m +0.05 2,300  T530-114 8"x200 m/m
530-115  12"x300 m/m  1/128"x0.05 m/m +0.08 5400  T530-115  12"x300 m/m
530-312 6"x150 m/m  0.001"x0.02m/m +0.03 1,830  T160-153  24"x600 m/m
530-118 8'x200 m/m  0.001x0.02m/m +0.03 2,530 T160-155  40"x1,000m/m
530-119  12"x300 m/m  0.001"x0.02 m/m +0.04 5,560 T160-157  60"x1,500 m/m
530-501 600 m/m 0.05m/m +0.1 17,480 T160-159  80"x2,000 m/m
530-502 1,000 m/m 0.05 m/m +0.15 34,960 T530-501A 600m/m

23,94 2 20 Q7 e 090 3 3x.U3 B4 36 Ie AT 34 I3 40 41 42 4d

53035

B+ 2

BEMTE B1g
1/128x0.05 m/m 400
1/128x0.05 m/m 600
1/128x0.05 m/m 1,000
0.001"x0.02 m/m 3,000
0.001"x0.02 m/m 7,000
0.001"x0.02 m/m 18,000
0.001"x0.02 m/m 32,000

0.05m/m 5,000

MuteSEALIEE / B#HTE0.001"x 0.02"'mm

160-151
160-153
160-155
160-157
160-159

74

18

18"x450 m/m [TI&100 m/m
24"x600 m/m [T\&100 m/m
40"x1,000 m/m T&R140 m/m
60"x1,500 m/m T&180 m/m
80"x2,000m/m TIR180 m/m

EFEEE
150 m/m ~200 m/m
300 m/m

160735

B 32
B8
19,280
17,760
32,680
74,190
97,850

EEf1 - #H

3,200
7,400



Mitutoyo B2 AN 505551

BN : %
SRR AR mm  {Bi&
505-671 150 m/m 0.02 m/m +0.03 3,330
505-672 200 m/m 0.02 m/m —+0.03 5,290
505-673 300 m/m 0.02 m/m +0.04 7,550
505-681 150 m/m 0.01 m/m =+0.02 3,950
505-682 200 m/m 0.01 m/m +0.03 5,920
TESA 150 m/m 0.02 m/m 5,000
TESA 6x0.01 150 m/m 0.01 m/m 6,000
FEER 52751
IRISZ
BASE100 m/m Btz Bl X%
BRI = 1% B8
527-101 150 m/m 0.02 m/m 5,410
527-102 200 m/m 0.02 m/m 6,030
527-103 300 m/m 0.02 m/m 8,350
DRIONG6 150 m/m 0.05 m/m 1,750
DRION8 200 m/m 0.05 m/m 2,000
DRION12 300 m/m 0.05 m/m 4,000
T527-101 150 m/m 0.02 m/m 600
T527-102 200 m/m 0.02 m/m 1,000
T527-103 300 m/m 0.02 m/m 1,400
FRFEELRR
BASE100 m/m BUfiEE B\ : 3%
ERHRER = 1% B8
527-301-50 150 m/m 0.05 m/m 7,980
527-302-50 200 m/m 0.05 m/m 8,480
527-303-50 300 m/m 0.05 m/m 9,480
ooz ]2
=z
x < 0 “ n =© b W W N e W W :,?"l
B[ : 3%
ERsHRER RS B8
PVC6 6"x150 m/m 90

75



Mitutoyo BEFoik 51353

W 51373 ERENEK (EOi) E : Kio8 mimEEE
A : ffye4 m/m ~ 8 m/mEEFE,
21 m/m ~ 3 m/m;EISE

T : BA ~ hetEse ~ 1R

~N

N THE

o4 m/m|  jEEIR
" Q

1 o1 mim
AlsE

513-404

R

| @3 m/m
BI5E

513-444

513-454 sy 513284

EE  AEEER R EhisHRR &ER Ehstmsk £ Ehaiwek &2

0.01 mm 0.5 mm IKSEY 513-424E 4,490 513-424A 4,940 513-424T 5,460
0.01 mm 0.8 mm IKEEY 513-404E 3,170 513-404A 3,950 513-404T 4,440
0.01 mm 0.5 mm ke 513-414E 5,290 513-414A 5,410 513-414T 5,520
0.01 mm 1 mm e 513-415E 5,290 513-415A 5,560 513-415T 6,170
0.01 mm 1.5 mm IKEEY 513-426E 4,780 513-426A 4,980 - -
0.002 mm 0.2 mm KB 513-405E 4,820 513-405A 5,010 513-405T 5,340
0.002 mm 0.6 mm IKEY 513-425E 5,580 513-425A 6,150 - -
0.001 mm 0.14 mm IKYEEY 513-401E 5,780 = = = =
0.01 mm 1.6 mm RER 513-444E 6,460 513-444A 6,650 513-444T 7,360
0.002 mm 0.4 mm RHEEY 513-445E 7,160 513-445A 7,360 513-445T 8,100
0.01 mm 0.8 mm HEE 513-454E 4,590 513-454A 4,700 513-454T 4,910
0.002 mm 0.2 mm FELY 513-455E 6,900 513-455A 7,100 513-455T 7,490
0.01 mm 0.8 mm = 513-284FE 5,120 513-284FA 6,090 513-984F 6,200
0.01 mm 0.8 mm E@E  513-304GE 13,010 = 513-304GT 13,490

W 513773 ORAUEIRNER (COUJiRa)

XY

ks o 5
/

A~ 513.501

513-514 513-517 513-517W 513-503

EFI o 8mmEER THI p4mm ~ p8MmMEBTELR ~ 73178 ~ fedBze

e AEEER 1R EfikHmsR 2R Ehsimek £ Ehaimek 28

0.01 mm 0.5 mm e 513-514E 5,090 - 513-514T 5,890
0.01 mm 1 mm RE& = - = = 513-515T 4,890
0.01 mm 0.8 mm TRAER 513-517E 4,060 - - 513-517T 4,520
0.01 mm 0.8 mm BH7kES  513-517WE 4,860 = = 513-517WT 5,510
0.002 mm 0.2 mm 1EHER 513-503E 5,290 - - 513-503T 5,980
0.001 mm 0.14 mm 1EHER 513-501E 5,380 = = 513-501T 6,280

76



- ER

51335l

BEARSE BN
G1252 0.01
G1452 0.01X
G1253 0.002
G1453 0.002°K
G1254 0.01
G1454 0.01:X

gE R|E
08 284
08 382
02 284
02 382
05 284
05 382

EEfi] : #H
HREER  Big
12 2,920
12 3,250
12 3,450
12 4,005
36 4,600
36 5,050

W SRS ERECH

9x9mm  953638(Length:50mm)

I 900209(Length:100mm)
| o8mm  900211(Length:115mm)

901959
(e8mm stem)

.l 901916 (@8mm stem)
‘ 901917 (@8mm stem)

255 953639(Length:2") 902802 902804 102036 102822
900306(Length:4” )
28mm o4mm
_ NN | U 2o |
i
EhsHRER iR =8 W ESHRIR RO =58
953638 9x9x50 mm 570 901916 _ R 1,950
900209 9x9%100 mm 500 901917 =R IEHATY 1,950
]
953639 0.25"%0.5"x2” TItRE 570 902802 o4 mm R 500
900306 0.25"x0.5"x4” 500 902804 08 mm EEe 410
900211 08 mm.L:115mm U 500 102036 o4 mm o 210
901959 SR 7380 102822 o8 mm  BHOMIVEER 54
900321 FRE T\ EE L 770 900319 fieiEa 690
= 18— = 2% 715
B SN =858
g1mm ball @2 mm ball 02 mm ball(Carbide) @3 mm ball ©0.5 mm ball 0.7 mm ball
21CZA044(L=12.8mm) 103016(L=14.7mm)  21CZA036(L=12.8mm)  21CZA045(L=12.8mm)  190547(L=14.7mm)  190548(L=14.7mm)
103017(L=14.7mm)  103012(L=20.9mm)  103010(L=14.7mm) 103018(L=14.7mm) 190549(L=20.9mm)  190550(L=20.9mm)
103013(L=20.9mm) 103006(L=20.9mm) 103014(L=20.9mm) 190654(L=22.3mm)  190653(L=22.3mm)
137558(L=22.3mm) 137557(L=22.3mm) 137559(L=22.3mm) 190656(L=44.5mm)  190655(L=44.5mm)
137746(L=36.8mm) 129949(L=36.8mm) 137747(L=36.8mm)
136235(L=44.5mm) 136013(L=44.5mm) 136236(L=44.5mm)
ERSHRER R & £E8 ERSHRER R & £E8
190547 14.7 mm 730 136235 445mm  ballglmm 200
190549 209mm o 730 103016 47mm 270
190654 22.3 mm ' 730 103012 20.9 mm 270
190656 44.5 mm 800 103010 14.7 mm 410
190548 14.7 mm 620 103006 209mm o 270
190550 209mm o 620 129949 36.8mm  oeoaleemm e
190653 22.3 mm ' 620 136013 44.5 mm 300
190655 44.5 mm 690 103018 14.7 mm 270
103017 14.7 mm 270 103014 20.9 mm 270
ball 23 mm
103013 20.9 mm ball 1 mm 270 137747 36.8 mm 270
137746 36.8 mm 270 136236 44.5 mm 270

77



Mitutoyo HIE] 3 511 3R5

Ef7 - #H
EHHRSE £ EHRsE  £ER Ehiatmst £
6 m/m -10 m/m 511-209 11,270 511-211 12,030 511-210 13,830
10 m/m -18.5 m/m 511-201 6,780 511-204 9,480 511-203 11,490
18 m/m -35 m/m 511-126 5,890 511-171 7,380 511-167 9,260
35 m/m -60 m/m 511-127 5,610 511-172 7,480 511-168 9,330
50 m/m -100 m/m 511-128 6,320 511-173 7,840 511-169 9,690
50 m/m -150 m/m 511-132 8,790 511-174 9,780 511-170 9,690
100 m/m -160 m/m 511-129 11,300 511-175 12,060 511-178 13,960
160 m/m -250 m/m 511-130 14,530 511-176 15,010 511-179 17,190
250 m/m -400 m/m 511-131 17,380 511-177 19,090 511-180 20,800

Mitutoyo WAl FR 20955
NCK

NCK

¥5E : 0.01 m/m  SEEZE : 75m/m EX v

EfsHRER RO

C1 10-34 m/m 12,900

Cc2 20-44 m/m 13,100

C3 30-54 m/m 13,500

HIZR : 80 m/m  EZATE0.025 m/m B R C4 40-64 m/m 14,000
EiSHRR G = %F C5 50-74 m/m 14,100
209-101 10-35 m/m 9,780 C6 60-84 m/m 14,500
209-103 30-55 m/m 12,160 c7 70-94 m/m 18,500
209-105 50-75 m/m 14,340 C8 80-104 m/m 19,300

78



Mitutoyo
3 BFRESt

1927

192-130

£17J : No : 07GZA000
FH : No : 07GZA002

SEET
192%5) RWEB=EET (HDM)

192-670

£17J : No : 905201

BRATE 0.01m/m Bl 2 BRATE 0.0005" 0.01 m/m ESfi : 7 (SPC)
EhSHRR R & EhSHRR R A8 &8
192-130 0~300m/m 22,320 192-670 12"x300 m/m 48,920
192-131 0~450m/m 33,720 192-661 18"x450 m/m 58,610
192-132 0~600m/m 39,900 192-672 24"x600 m/m 63,650
192-133 0~1000m/m 107,350 192-673 40"x1000 m/m 97,850
T192-104 0~600m/m A pzE 12,000
T192-106 0~300m/m A pzE 5,000

192%5) RESEET(SD) 50655 BB E S B 5T (H400)

H |
192-613

F&ENo : 07GZA032
£17JNo : 900258
f#47/£0.0005" 0.01 m/m

E kiR AR
192-630 12"x300 m/m
192-631 18"x450 m/m
192-632 24"x600 m/m
192-633 40"x1000 m/m

£I7JNo : 900173

EE{\] : 52 B##1E0.001" 0.02 m/m B - =

=R ERSHRER R g H=EH
36,950 506-202 6"x150 m/m 9,220
52,910 506-208 8"x200 m/m 10,900
57,850 506-205 10"x250 m/m 12,630
91,770

79



Mitutoyo SE:st
=EEEEET(H600) 5705 E{UT\NEESH(HDS-HC)

2
514-103

E)7)No : 07GZA000(600 m/mpIFa)

ZJ7)No : 905200(1000 m/mg)

fZA0.001"/ 0.02 m/m Bf7:%  SPC# 1m 905338 /2m 905409 BEMT : %
SRR R AR E&E EhHRIR ] BT EXE
514-103 12"x300 m/m 15,670 570-312  0-12"/0-300 mm 20,000
514-105 18"x450 m/m 29,450 570-313  0-18"/ 0-450 mm (())..C())?r?fm 27,000
514-107 24"x600 m/m 35,620 570-314  0-24"/ 0-600 mm 31,000
514-109 40"x1000 m/m 89,580
T514-161(103)  12"x300 m/m A 3,500

19275 BAINEESH(HDM-A)  soozs) BEREIMIRSEST

509-301

£I7JNo : 900173

SPC#R 1m 905338 / 2m 905409 Efil : 2 EEHTE0.02m/m ESfi] : 2
EE R RS FEATIE =R EE A KR &R
192-670  0-12'/0-300 mm 48,920 509-301 150 m/m 10,540
192-671 0-18'/0-450 mm  0.0005" 58,610 509-302 250 m/m 12,440
192-672  0-24"/0-600 mm  0.0Tmm 63,650
192-673 0-40"/0-1000 mm 97,850

80



FORCE MEASUREMENT —
=1

INMADA SETTVHENLTD

=

BIEEEE R/JEE
FS/FB FS-1K 0-1kgf 109f 9400
2 oo gy
RS FS-2K 0-2kgf 20gf 9400

f FS-3K 0-3kgf 25gf 9400
2 FB-5K 0-5kgf 50gf 9400
: FB-10K 0-10kgf 100gf 9400

4 FB-20K 0-20kgf 200gf 9400

FB-30K 0-30kgf 250gf 9400

FB-40K 0-40kgf 400gf 9400

FS/FB set FB-50K 0-50kgf 500gf 9400

&% - kg / NEEFEZ| EIERRERS D010 %

BE0.3% (& E)

i/

4

SEBERY ' . ' ’

A-1/S-1/SR-1 A-2/S-2 A-3/S-3 A-4/S-4 A-5/S-5 A-6/S-6
Small Hook Flat Tip Conical Tip Chisel Tip Notched Tip Extension Shaft

RKITER
B EEEE R/I\BIE h#

PSH-100K 0-100kgf Tkgf 80000

PSH-200K 0-200kgf 2kgf 80000
PSH-300K 0-300kgf 2 5kgf 100000

PSH-1000K 0-1000N 10N 80000

, PSH-2000K 0-2000N 20N 80000
PSH set ; PSH-3000K 0-3000N 25N 100000

i
i

B-1 B-2 B-3 B-4 B-5 B-6 B-7 B-8
Small Hook Flat Tip Conical Tip Chisel Tip  Notched Tip Extension Shaft Handies Installation Bolts

81



Mitutoyo el S

103751 NHIDEF 193%% BTN EIDEF

Miitutoyo

. e %Y?O 01 m/m
e RO =8 Eﬂ‘&ﬁ% L B8
193-111 0-25 m/m 4,600
- - +
103-137  0-25m/m J2um 1,740 g oo 5900
103-138  25-50 m/m 2um 2,180 193-113 50-75 m/m 7,310
103-139-10  50-75m/m —2um 3,050 181 £0E T Eield

103-140-10  75-100 m/m 43 um 3,610
103-141-10 100-125m/m  +3 um 4,370
103-142-10 125-150 m/m 3 um 5,020
103-143-10 150-175m/m  +4 um 6,550
103-144-10 175-200 m/m  +4 um 7,160 103 u %l “ﬁ,,__E (:Fﬁ)
103-145-10 200-225 m/m  +4 um 7,680
103-146-10 225-250 m/m  +5um 8,280
103-147-10 250-275m/m  +5um 8,880
103-148-10 275-300 m/m  +5um 9,480
103-149 300-325 m/m Hum 10,540
103-150 325-350 m/m +6um 11,680
103-151 350-375 m/m Hum 13,010

103-152 375-400 m/m +7pm 13,960
103-153 400-425 m/m +7um 15,010
103-154 425-450 m/m +=7um 16,150

103-155  450-475m/m  8pm 17,200  FEMTEO.001Tm/m Bl s
EfisHmsR AR mm &EE
103-156  475-500m/m  +8um 18,240 103-129 0-25mm  L2am 2,350
T103-137 0-25 m/m AP 700 103-130 25-50 m/m +2pm 3,310
103-255 50-75 m/m 4,530
T103-138  25-50 m/mAfE 800 103.256 5100 m/m erYE
T103-139  50-75 m/mARE 900 103-257 100-125 m/m 5,620
T103-140  75-100 m/mARE 1,500 103-258 125150 m/m 22

82



Mitutoyo el S

10455 IET\NEIDER 1155 MIENHDER

EEMTE : 0.01 m/m

fEMTE0.01m/m 87 : #8 AAA3mM/m x10m/m Bfi] 32
EhGHRIR R g &5 EhGHRIR R &5
104-139A 0-100 m/m 9,170 111-115 0-25 m/m 5,540
104-135A 0-150 m/m 12,440 111-116 25-50 m/m 6,320
104-136A 150-300 m/m 19,950 111-117 50-75 m/m 6,890
104-142A 300-400 m/m 21,660 111-118 75-100 m/m 7,220
104-143A 400-500 m/m 25,270 111-119 100-125 m/m 8,850
104-144A 500-600 m/m 29,830 111-120 125-150 m/m 9,690
104-145A 600-700 m/m 35,340 111-121 150-175 m/m 10,540
104-146A 700-800 m/m 41,700 111-122 175-200 m/m 11,210
104-147A 800-900 m/m 49,110
104-148A 900-1000 m/m 57,090

11275 SRBEDEFK
10635 EETNNAIDEF

EZATE0.01 m/m BN : 2

ES I et L]

112-153 0-25 m/m BIAH15° 5,540

112-154 25-50 m/m BIAA15° 6,570

112-155 50-75 m/m BIAE15° 8,150

FEfle8m/m 112-156 75-100 m/m  AIAH15° 10,450
BEATEZ0.01m/m  EEHRIERF AR B2 112-201 0-25 m/m AIRG30° 4,370
e AR Bl 112-202 25-50 m/m BIAL30° 4,990
102-450 0-25 m/m 5,270 112-203 50-75 m/m BIAL30° 6,180
102-451 25-50 m/m 5,960 112-204 75-100 m/m  BIAE30° 7,840

83



Mitutoyo ‘S E-E
115750 AIEN A EFR 11775 BEET\DEF

Mitutoyo

o HEREIBE A
BEATE : 0.01 m/m Bf] 3% (201217) (201216)
ERGHRER R ¢3(for 25mm) > =635
115-115 0-25m/m  ER 3,550 (201379) oA
o #5(for 50mm) 25
115-116 25-50m/m  ER 4,010 Y
115-117 50-75m/m  ER 4,450
115-118 75-100m/m  ER 4,760  ERH7E0.01m/m E V=
115-215 0-25m/m %R 3,790 TSRS 184 itk ]
115-216 25-50m/m R 4,260 117-101 0-25m/m 591218 6,300
- - i3
115-217 50-75m/m %R 4,670 117-102 25.50m/m gg}g;g 7.260
115-218 75-100m/m #ER 4,990

115551 AIENRAIDEFR 118535 UBLSNAIDE R

@A : 0.01 m/m BEfil - Sz FEHIE : 0.01 m/m BEfi] - 32
ERHRER RS =FE W EsiRR RO =
115-302 0-25 m/m AIfGe1.8m/mx8m/m 4,010 118-101 0-25m/m ;Z100 m/m 5,540
115-303  25-50 m/m flfife1.8m/mx8m/m 5,070 118-102 0-25 m/m  ZE150 m/m 5,770
115-308  0-25 m/m EIAH@3.5m/mx6m/m 4,010 118-103 0-25 m/m 3300 m/m 10,160
115-309 25-50 m/m AIf503.5m/mx6m/m 5,070 118-110 25-50 m/m ;Z#150 m/m 8,340
115-315 0-25 m/m @4.7m/mx12.7m/m 4,260 118-114 0-25m/m ;F150 m/m R 6,790
115-316 0-25 m/m @8m/mx9m/m 4,260 116-118 0-25 m/m F150 m/m 2R 6,920

84



Mitutoyo o [EE
126 A5 @%ﬂﬁr + 120%5%) FEDEER

Mitutoyo

B E fZ#120.01 m/m Bl %
fRATE0.01m/m Bil % BRI = 1 128 =%
TSR 1548 128-101  0-25m/m  63.5x16m/m 4,740
126-125 0-25m/m 10,640 128-102  0-25m/m  101.6x16m/m 5,360
126-126 25-50m/m 14,060 129-109  0-50m/m  63.5x16m/m 2 5520
126-127 50-75m/m 15,770 129-113  0-50m/m 101.6x16m/m 2 6,230
126-128 75-100m/m 17,570 129-110  0-75m/m  63.5x16m/m 3 5,700
126-129 100-125m/m 19,190 129-114  0-75m/m 101.6x16m/m 3 6,320
126-130 125-150m/m 20,610 129-111  0-100m/m 63.5x16m/m 4 5,770
126-131 150-175m/m 19,380 129-115  0-100m/m 101.6x16m/m 4 6,420
126-132 175-200m/m 20,520 129-112  0-150m/m 63.5x16m/m 6 7,040
129-116  0-150m/m 101.6x16m/m 6 7,600
IEACAIRE o S o Jor .
60° pCSSET 1465 BIEN LTS
EfSHRR R =%
126-801 0.4-0.5m/m 64-48TPI 1,970
126-802 0.6-0.9m/m 44-28TPI 1,970 R
126-803 1-1.75m/m 24-14TPI 1,970 ; S———r AN 7 1 o
126-804 2-3m/m 13-9TPI 1,970
126-805 3.5-5m/m 8-5TPI 1,970
126-806 5.5-7m/m  4.5-3.5TPI 1,970
126-800 126-801~126-806 #85 12,060
5 s | e e
e RS &8
126-811 60-48TPI 1,970
126-812 48-40TPI 1,970
126-813 40-32TPI 1,970
126-814 32-24TPI 1,970 EIff@12.7m/m £t : 146-101 HIf06.35m/m
126-815 24-18TPI 1,970 BEHE0.01 m/m BEf] : 2
126-816 18-14TPI 1,970 EIELTEE S\ E
126-817 14-10TPI 1,070 146121 0-25m/m 1.6-26.5m/m 7,680
126-818 10-7TPI 1,070 146122 0-25 m/m 1.6-26.5m/m 9,220
126-819 7-4 5TPI 1,070 146123 25-50m/m  26.5-51.5m/m 9,220
126-820 4.5-3.5TPI 1,070  146-124 50-75m/m  51.5-76.5m/m 10,260
126-810 126-811~126-820 #25 20,140  146-125 75-100m/m  76.5-101.5m/m 10,260

85



Mitutoyo
EH‘% Uﬁl_ -E

1225l

AEF

123%

Miitutoyo

B AR FRATE < 0.01 m/m B ¢ 3%
FRHIE : 0.01 m/m Bl : 2
SRR 5 1% Sl 123-101 0-25m/m BlBtie20m/m 7,000
122-101 0-25m/m  AIF50.75x6m/m 8,090  123-102  25-50m/m  AIAtE20m/m 7,990
122-102 25-50m/m  BIAH0.75x6m/m 8,440  123-103  50-75m/m  AIAEE20m/m 9,000
122-103 50-75m/m  AIfH0.75x6m/m 9,140  123-104  75-100m/m BIfE@20m/m 10,070
122-104 75-100m/m ;BIFH0.75x6m/m 9,590  123-105  100-125m/m E/FHE30m/m 11,110
122-105 100-125m/m ;BIf50.75x6m/m 13,390 123-106  125-150m/m BIFE@30m/m 11,870
122-106  125-150m/m ;BIfH0.75x6m/m 14150  123-107  150-175m/m AlfiEe30m/m 13,200
122-107  150-175m/m ;BIF50.75x6m/m 15290 123-108  175-200m/m AlfiEe30m/m 14,060
122-108  175-200m/m ;AIFH0.75x6m/m 16,810  123-109  200-225m/m AlfiEe30m/m 13,960
122-111  0-25m/m  AIfK0.4x6m/m 8,490  123-110  225-250m/m AIAEE30M/m 14,530
122-112  25-50m/m  BIH0.4x6m/m 9,140  123-111 250-275m/m Blite30m/m 15,200
122-161  0-25m/m  $58MAIA50.75x6m/m 10,070  123.112 275-300m/m Alfte30m/m 15,770
122-162 25-50m/m  $&E@EIFL0.75x6m/m 10,730
122141 0-25m/m  $SSMAIFKO.4x6m/m 9,880 | |
122-142  25-50m/m  $58@AIA50.4x6m/m 13,770 137551 EI%*:FE‘W JQE_E
422%% & eaE A Nl E R (spe)

SESPCHR

1m 937387 1,790

2m 965013 2,250

BZMTE : 0.001 m/m B X%
BRI 18 EEE
422-230 0-25m/m  BI560.75x6m/m 23,560
422-231 25-50m/m jBI550.75x6m/m 25,560
422-232 50-75m/m BIf50.75x6m/m 26,690
422-233 75-100m/m 8f60.75x6m/m 27,830
422-260 0-25m/m  AIA50.4x6m/m 23,940
422-261 25-50m/m BIf50.4x6m/m 26,120
422-270 0-25m/m  &if81550.75x6m/m 24,890
422-271 0-25m/m 353 BI650.4x6m/m 25,270

BANBDEF

fETE £ 0.01 m/m

EfisiReR  BHRAEm/m

137-011
137-201
137-202
137-203
137-204
137-205

86

50-63
50-150
50-300
50-500
50-1000
50-1500

AR

13,25,50
13,25,50x2,100
13,25,50x2,100,200

4,000
6,930
8,500
10,740
13,25,50x2,100,200x2,300 13,870
13,25,50x2,100,200x3,300x2 17,290



Mitutoyo S EE

z A
145751 FAAIDEF 149 %51 D EE B

150

fEATE0.01m/m Bfl X%
EfkHReR R EE
145-185 5-30m/m 6,130 48 % 53.5m/m ~ 149/150 & 5106.35m/m Bfl: %
145-186 25-50m/m 6,770 EHmER RO &E8
145-187 50-75m/m 8,950 148-201 AIRAEEO0-6.5m/m BEHTE0.01m/m 2,030
145-188 75-100m/m 9,280 148-205 BIEARE0-6.5m/m BE#7E0.01m/m 1,900
145-189 100-125m/m 10,730 148-104 ARG E0-13m/m  ##47E0.01m/m 2,030
145-190 125-150m/m 13,110 148-801 BIFEREO-13m/m  B4TEZ0.01m/m 1,990
145-191 150-175m/m 13,580 149-132 BB EO-15m/m  #E4TEZ0.01m/m 2,020
145-192 175-200m/m 14,250 149-801 AIBEREO0-15m/m  ##47E0.01m/m 2,200
145-217 200-225m/m 14,820 150-192 AR5 EEO-25m/m 247 Z0.01m/m 1,720
T145-185 5-30m/m KBz 2,000 150-190 ABFEO-25m/m #EATE0.001m/m 2,790
T145-186 25-50m/mABzE 2,000 T150-192 AfaFEO-25m/m EEATE0.01m/mARE 600
133751 EERENBID EF 156551 73 [EB R
|
133-143 133-144
133-146

133-150

EEATE0.01m/m B 2
ERHRER g
133-143 50-75m/m 3,490
133-144 75-100m/m 3,580
133-145 100-125m/m 3,620 o
133-146 125-150m/m IV J— 807 %
133-147 150-175m/m 3,790 SRR AL 87
133-148 175-200m/m 3950 120101 15-100m/m 2.310
133-149 200-225m/m 4120  HI9A 15-100 mim S 900

87



Mitutoyo Bk

36851 —EHARERIIZS

368-174
368-001 368-168 368-170

OAIE3L B : = TAIE3L B : 3%
ESHRER HIESEE BEIRE RS EE8 ESHRER HIESEE BERE RS E2E
368-001 2-2.5mm " 45,990 368-169 40-50mm 19,300
368-002 2.5-3mm ( i?%ﬁ??a) 45,990 368-170 50-63mm AFER 20,300
IR < IR <

368-003 3-4mm 0.001Tmm  TE=z= 37,260 368-171 62-75mm  0.005mm  E== 20,300
368-004 4-5mm omm 37,260 368-172 75-88mm 0.3mm 21,300
368-005 5-6mm 37,260 368-173 87-100mm 21,300
368-101-10 6-8mm AfgEE 15,840 368-174  100-125mm 33,120
368-102-10 8-10mm  0.001mm '\i@% 15,840 368-175  125-150mm 35,820
368-103-10  10-12mm 2mm 153840 368-176  150-175mm 38,610
368-164 12-16mm 16,560 368-177 175-200mm BIBGER 41,400
368-165 16-20mm 16,560 368-178  200-225mm  0.005mm jﬁi 45,810
368-166 20-25mm HfEE 17,280 368-179  225-250mm 48,690
368-167 25-30mm  0.005mm FEZE 17,280 368-180  250-275mm 51,390
368-168 30-40mm 0.3mm 43 400 368-181 275-300mm 54,180
T368-107 25-30mm 12,000 T368-139 40-50mm 14,000

368-906 368-907 368-901-10

EhisHRsR AEEEE EhiEiRER AIREEEE FEATE

368-906 2-3mm 91,800 368-912 12-20mm 33,120
368-907 3-6mm 0.001mm 110,700 368-913 20-50mm 0.005mm 63,540
368-901-10 6-12mm 47,340 368-914 50-100mm 90,900
TESA368A 11-20mm 3pcs fifiRAR 28,000 368-915 100-200mm 148,500
TESA368 20-40mm  4pcsHRREx2 40,000

88



Mitutoyo Bk

36873 —REPIIEAINES B

368-770
368-769

368-774

BN 2 EEfi] : 32

EiiRIR  AIEEHE BAE f@st EhSHRIR AITEE BIAE f@st

368-764 12-16mm HpsETE: 13,320 368-773  87-100mm 0.005mm mmazmzsamm 16,740
368-765 16-20mm 2.6mm 13,320 368-774 100-125mm 28,710
368-766 20-25mm  0.005mm grmTEz 13,770  368-775 125-150mm  0.005mm 30,600
368-767 25-30mm 3.4mm 13770 368-776 150-175mm 33,120
368-768 30-40mm 14,600  368-777 175-200mm 34,110
368-769 40-50mm 14,800  368-778 200-225mm AEETEZ 36,630
368770 50-63mm o oneco. 15080 368779 225-250mm 0.005mm 19.6mm 55 970
368-771 62-75mm 34mm 15,030 368-780 250-275mm 41,130
368-772 75-88mm 15,660  368-781  275-300mm 43,290

3685 = ELT\NEHI=3HE

W IR D SRR - 0.

368-991 368-993
EHHRER AEELE FEATIE L HRER AEELE
368-991 12-20mm 0.005mm 26,550  368-993 50-100mm 0.005mm 85,860
368-992 20-50mm 57,330  368-994 100-200mm 189,900

=RV AE A Es B @ AERF

Mitutoyo
ey

952623
EfEHRER AR =28 W SEhEiRR R AR Ee]
952322 6-12mmf3 L100mm 3,680 952622 20-50mmF3 L150mm 3,910
952621 12-20mmF3 L150mm 3450 952623 50-300mmfd L150mm 6,210

89



SHEEAER Miuteyo HEEDTER

] : 48
EHmR RS B8 ESfi7 - #H
180-907 12"x300 m/m 8,930 Bk EfSu=E R BR
RSK 300 m/m 7,000 == 187-901 150/300mm 14,630
KR IR
iz = i

Reticles

i

- J 183-201

183-102 183-103 183-104 183-105 183-106

183-202

).t ! [—l _ 183 203 183-107 183-108 1!!3:09 183-110 183.-.'.I'I1

@

Go : OIFFEERR ==L (WA= 183-112 133313 183-114 183-115 B A

Pt odutdd

LS
R A =2
183-101 8y 3,040 183 102 No : 1 900  183-109 No :8 900
183-121 I 4,270 183-103 No: 2 900 183-110 No : 9 900
183-131 10y 4,550 183-104 No:3 900  183-111 No : 10 900
183-201 25y 2,850 183-105 No : 4 900  183-112 No : 11 900
183-202 25y 6,610 183-106 No:5 900  183-113 No :12 900
183-203 50y 7,790 183-107 No : 6 900 183-114 No : 13 900
183-108 No:7 183-115 No : 14 900

DTN 75517(

& > &y
ERFEFERT\ B : R

ERSHRER

183-301 7x 1,130 HAR B R
183-302 10y, 1,280 ERSHRER & (=150 EIE
183-303 15y 1,550  A30B A30-1 1" 6 600
950757 IRARRS (= E|) 2290 A31B A31Ffuget 1" 6 1,000

90



EZERH Miuoyo  FEERIRR

95033

EE R KA

950-211 100 m/m 730

950-212 150 m/m 810 U

950-213 200 m/m 880  MHIYEERERS ESfi] : #H
R6 &5 150 m/m 250 EEELTER AR B8
R8 B 200 m/m 280  516-103-10 10 &EEHME/OMR 12,780

516-101-10 10 S E MR R 9,810

RN

95033

LT g & 9
EILHRSR =37 Nominal size

950-221 100 m/m 730
950-222 150 m/m 810
950-223 200 m/m 880
Y6 S%150 m/m 250 OfREHETIAUIS AR, B RS IRER R
Y8 a%R200 m/m 280

Ji=E ppa BiEE  mR sE|BHER BB 8B
ﬁf_vﬁ, 611506-021 0.5m/m 2,820 611625-021 15m/m 3,210

611611-021 1m/m 1920 611626-021 16 m/m 3,330

-
950 %% 611612021 2mm 1870 611627-021 17m/m 3,370
611613-021 3m/im 2010 611628-021 18m/m 3410

p 611614-021 4mim 2060 611629021 19m/m  3.450

611615-021 5m/m 2,060 611672-021 20m/m 3,450
611616-021 6m/m 2530 611631-021 21 m/m 3,640
611617-021  7m/m 2530 611632-021 22m/m 3,680
N\ 611618-021 8m/m 2560 611633-021 23m/m 3,680
611619-021 9m/m 2,600 611634-021 24 m/m 3,680

B8] : %
Tl 1A% S5 Thsimen 1918 2% 611635-021 25m/m 3,720
950-231 100 m/m 730 611671021 10mm 2600 611673-021 30m/m 4,220
950-232 150 m/m g10 611621021 11mm 3080 611755021 35m/m 4480
950-233 200 m/m 880  611622:021 12mm 3110 611674-021 40m/m 4,660
16 £5150 m/m o50 611623021 13mm 3150 611756-021 45m/m 4,480
18 £%200 m/m 280  611624-021 14mm 3210 611675-021 50mim 5250

91



N : #8
EhsiRR RRg Bt
T516-101 10K 1,125,15,2,3,5,10,15,20,25 5,000
T516-967 32K 1.005, 1.01-1.09,1.1-1.9,1-9, 10-30, 50 6,000
T516-959 a7H 1.005, 1.01-1.09, 1.1-1.9, 1-24 , 25-100 8,600
T516-947 87K  1.001-1.009, 1.01-1.49, 5-24.5 , 25-100 14,000
T516-943 103K 1.005, 1.01-1.49, 5-24.5 , 25-100 17,000

T516-939 112K 0.5,1.0,1.005, 1.001-1.009, 1.01-1.49, 5-24.5,25-100 19,000
T516-703 8/ 125,150,175, 200, 250, 300, 400 , 500 56,000

=) b E
e it bt e 1R &5 e 1R ot
T516005 0.5mm 2,000 T51605 5.0mm 1,200 T516175 17.5mm 2,000
T51601 1.0mm 2,000 T516055 5.5mm 1,200 T51618 18mm 2,000
T516011 1.1mm 2,000 T51606 6.0mm 1,200 T51619 19mm 2,000
T516012 1.2mm 2,000 T516065 6.5mm 1,200 T51620 20mm 2,000
T516013 1.3mm 2,000 T51607 7.0mm 1,200 T51621 21mm 2,000
T516014 1.4mm 2,000 T516075 7.5mm 1,200 T51622 22mm 2,000
T516015 1.5mm 2,000 T51608 8.0mm 1,200 T51623 23mm 2,000
T516016 1.6mm 2,000 T516085 8.5mm 1,200 T51624 24mm 2,000
T516017 1.7mm 2,000 T51609 9.0mm 1,200 T51625 25mm 2,000
T516018 1.8mm 2,000 T516095 9.5mm 1,200 T51630 30mm 2,500
T516019 1.9mm 2,000 T51610 10mm 1,200 T51640 40mm 3,000
T51602 2mm 1,200 T516105 10.5mm 1,500 T51650 50mm 3,000
T516021 2.1mm 1,200 T51611 11mm 1,500 T51660 60mm 4,000
T516022 2.2mm 1,200 T516115 11.5mm 1,500 T51670 70mm 4,000
T516023 2.3mm 1,200 T51612 12mm 1,500 T51680 80mm 4,000
T516024 2.4mm 1,200 T516125 12.5mm 1,500 T51690 90mm 4,000
T516025 2.5mm 1,200 T51613 13mm 1,500 T516100 100mm 4,000
T516026 2.6mm 1,200 T516135 13.5mm 1,500 T516125 125mm 6,000
T516027 2.7mm 1,200 T51614 14mm 1,500 T516150 150mm 6,000
T516028 2.8mm 1,200 T516145 14.5mm 1,500 T516175 175mm 6,400
T516029 2.9mm 1,200 T51615 15mm 1,500 T516200 200mm 7,600
T51603 3.0mm 1,200 T516155 15.5mm 2,000 T516250 250mm 8,400
T516035 3.5mm 1,200 T51616 16mm 2,000 T516300 300mm 10,500
T51604 4.0mm 1,200 T516165 16.5mm 2,000 T516400 400mm 13,200
T516045 4.5mm 1,200 T51617 17mm 2,000 T516500 500mm 15,500

92



oy
@p)
~
|-
IS
LH

ISR N E RS
Bire

BRI RS RE B8
FSKFL4 100 m/m 0.02 m/m 7,600
FSKFL6 150 m/m 0.02 m/m 7,600
FSKFL8 200 m/m 0.02 m/m 8,800
FSKFL10 250 m/m 0.02 m/m 10,800
FSKFL12 300 m/m 0.02 m/m 11,600
FSKFL18 450 m/m 0.02 m/m 21,800
FSKFL24 600m/m 0.02 m/m 26,800

FSK BRSNS

Bire
ES e RS RRE B3
FSKSQ4 100 m/m 0.02m/m 11,600
FSKSQ6 150 m/m 0.02m/m 12,600

FSKSQ8 200 m/m 0.02m/m 16,000
FSKSQ10 250 m/m 0.02m/m 19,000
FSKSQ12 300 m/m 0.02m/m 24,000

B R
FRE(m/m) BS{i[ B
20x30x15 O
(B P 1,320
30x43x12 o
(11ASER) ~ 330
- IR%E
BN R
e AR FRAE B
SK90° H4” SK” 90° 1,280

93



FORCE MEASUREMENT

IMADA

BMMERT ST 5
T LEMT
L DR

FBIA

IR ET

LINES [IMADA &
LINE TM-5010E J¢&

sel i)

Ehaiwse BN

OH H
oL L
OHL HL

BN #E

ElsHmsR N AIEEE

EEMBMA 99999 r.p.m. 15,000
=AW 99999 r.p.m. 13,000

BN
§55R 8
0-10000 rpm 5,800
0-1000 rpm 7,600

0-10000-1000 rpm 9,600

TECLOCK

BrR

BRAE B8

Ehaiwee BN
KR14A AZl
KR11A cHl
GS701 GS701
GS702 GS702
GS706 GS706

94

—RRE 7,260
EVAIEHT ~ EREZRE 10,560
EVA/BR ~ SRE&RE 11,800

BERE -~ BB 11,800

—RAZRE 9,200



RS ERE B #H FR== oI\ R

ERSHRSR KRR B  HE ik W TR AR ES1]
KMS314  MS-3:1:4  K-§§ 4,200 3355  KBM314 BM-3:1:4 AR 1

KMS315 MS-3:1:5 KBS 4,400 3,355 KBM315 BM-3:1:5 AR
KMS3104 MS-3:10:4 KIS 4,200 3,355 KBM3104 BM-3:10:4 NR S
KMS3105 MS-3:10:5 KX +#§ 4,400 3,355 KBM3105 BM-3:10:5 NN

IHSmhic

ES(:#E
B8
5,170
5,170
5,170
5,170

iy  REEEH RS

B20S MilkyWay

TM-201M

EN#E(”R) V=)
EhsiEeE ERLHRER R HE g B (B
B20S TYKYO B20-S AR 6,400
TY 5% 97.10 1,900 1,815  B20St MILKY way ~WM-130 2R 3,600
™ * 106.20 1,900 1,815  TN201M TYKYO NIHOS TN-201M 2AR 6,400

95



® KORI £TEET\EBE R

SE
/(llI

SRS
A10

G10

P10
LP10
A101

RS
KRS4
KRS5
KRS6

BiR
ER/)\EE{iL BIEEEE BIE I3 FHEEERE BiE B 10m/miEl
AT 0.05 m/m 0-10 1-15 F\ iRy 50 m/m RIBE 1,980
GH 0.05 m/m 0-10 1-15 EIfEHE 50 m/m EEYIE 2,320
Py 0.05 m/m 0-10 1-15 ASeimEY 50 m/m BiREE 2,640
LPZEU 0.05 m/m 0-10 1-15 AR Y 50 m/m EAAEE 8,140
A-1E  0.05 m/m 0-10 1-15 FW)\SeiimEY 50 m/m EERHET LR 3,520

=T a8

®

0 0 00 10

KOR! S6x1 MrG.CO. LD
MANF 1APAN

: B
AT / (B () HOER(E) TisiRE BRN/ER 0 ®  HERE)
RS-207-4 540 528 KLB4 LB-207-4 540 528
RS-207-5 550 528 KLB5 LB-207-5 550 528
RS-207-6 800 770 KLB6 LB-207-6 800 770

FIFI\ETE=8

B3
EiEHmET RhER kY =4
FH102 SE:S E 440
FH102P S B = 645

96



du
I

SEHEG

=T a8

RS =R FRIETEES v
ERHRIR [RRhE BUSR B ERHRER RRhE BUSR B8
TRS4 MILKY way RS-4 200 TH102PT  MILKY way (S8ER) 200
TRS5 MILKY way RS-5 200 TH102P MILKY way (BB 180
TRS6 MILKY way RS-6 440 TH102 MILKY way (D) 170
TLB4 MILKY way LB-4 200
TLB5 MILKY way LB-5 200
TRS5-0 MILKY way RS-5ZigERE 240
TLB5-0 MILKY way LB-5iZi#53= 240

97



5ZAR

JIS 1§R E=livisod
EHSHRER FRAR =xExE DDIER AASY
DD75RSK 75 m/m 75x50x3 3,000 3,300
DD100RSK 100 m/m 100x70x4 3,600 3,560
DD125RSK 125 m/m 125x80x4 3,900 3,960
DD150RSK 150 m/m 150x100x5 4,500 4,200
DD200RSK 200 m/m 200x130x6 6,000 5,360
DD250RSK 250 m/m 250x165x6 7,700 6,800
DD300RSK 300 m/m 300x200x6 9,500 8,600
DIN 875 1#R Wi
ERSHReR =xRxE Big ail
400F01/03 75x50x5mm 1,100 1,600
400F01/04 100x70x5mm 1,440 1,800
400F01/05 125x100x6mm 2,000
400F01/06 150x100x6mm 1,600 2,400
400F01/08 200x130x6mm 1,920 3,000
400F01/10 250x200x8mm 2,600 5,000
400F01/12 300x200x8mm 4,200 7,000
400F01/16 400x265x10mm 11,600
400F01/20 500x330x10mm 14,000
DIN 875 00#&
®g)IEBER .
ERSHRER ExXEERXEmm B
400FGHO02 50x40x4 2,600
400FGHO03 75x50x4 3,000 1,600
400FGHO04 100x70x5 3,500 1,800
400FGHO05 125x100x6 2,000
400FGHO6 150x100x6 4,400 2,400
400FGHO08 200x130x7 6,600 3,000
250x200x8 5,000
300x200x8 7,000
w2 /JJ0AaR
| |
[
B2 )O08R Elviod
ERSHRSR g B8O ER
TT4 100x70 400

98



Bl
SRR BUSR FRAE B
NO101 T-101 HIoAY 1,000
NO0102 T-102 LR RYIN IS EKEE 1,700
N0103 T-103 —K—5E8 1,700
NO103A T-103A TR 1,700
I .
1N -
‘f ¥
55 B2
.2 SRR [RRhR FRAE B

SH300200 SHINWA 300x200m 300
SH600400 SHINWA 600x400m 900

ob DO o« ' ow

on 0S or ot

e x T300200 a8l 300x200 m/m 100
3 ° T600400 axl 600x400 m/m 200
1 a1\
iss B TAK
[
23+
Bz

ERSHRIR ExaE [=FNEY Myl
ISS3 75x50 445
1SS4 100x70 525 200
|ISS5 125x80 535 250
ISS6 150x100 655 300
ISS8 200x115 855 400
ISS10 250x125 965 500
ISS12 300x150 1,200 600
ISS14 350x180 2,400
ISS16 400x200 2,700
1SS18 450x225 3,000
1SS20 500x255 3,700
1SS24 600x330 4,800
1SS36 900x380 18,000

99



THE ORIGINAL

TAPE MEASURE

BN
EiSHRR Bi&
YC30A 30m/R 280
YC50A 50m/R 360
3 Eh&HR5T RS B8
B YC30AS 30m/R 400
YC50AS 50m/R 500
YC100AS 100m/R 1,000
A =
BhrH
ER&HRR RS B8
KMC 50M 50m 1,200
KMC 100M 100m 2,000
.
Bz
ERHRoR moh# & B8
MGG SHinwa#53E cm/AR 840
MGH SHinwaFEE Ehfem 840
MGH1 SHinwa Ehkm/R 900
MGL HA_EE gEFcem/R 450
MGT as_mHE cm/R 220
MGT1 BRTEE ocm/RER 400
SH1000600 SHinwa 1,000x600 3,600
SH1000600 SHinwa m/R 3,600
HOL6001000 AR _EFE m/ = 2,400

100



SN2 (1S

B hAkimER ARt ShinwafZE  EKFEE RS ShinwaFEE EKFEE

SH6 6” x150 120 80 SH150 150 m/m 120 80
SH12 12” x300 200 130 SH300 300 m/m 200 130
SH24 24” x600 500 400 SH600 600 m/m 500 400
SH36 36" x1000 840 600 SH1000 1,000 m/m 840 600
SH60 60” x1500 3,600 3,200 SH1500 1,500 m/m 3,600 3,200
SH78 78”7 x2000 5,000 4,000 SH2000 2,000 m/m 5,000 4,000
SH118 118” x3000 12,000 SH3000 3,000 m/m 12,000
FFaD ax R
O B i

'”T”‘j*”“‘“1:“”ﬂ'”%]“’”W}“||l||||f1|m““|ll'lI!I"IIIll_lliUllll||||!IHI}HH[HI|l[H|jlIII!lTH!I'III}IIH'JIIII}IIIHIIII{ AR

5 6 7 8 . 9 4EET10 11 10 12
! : | , | ; | i i ; | 7 | . | . |
N i T
 FRSRRRGT  RRRNRKRR | RERNRERS XXX XX X 8
§' S RN R LR NN NEE (R E N (W] il I
2 2 555 b - Rfow B0 & 2
£ = ; guy  =@ad-ER  seps gh 3 &
3afIRa0d 33%y 88 8 8

FEACERIE ENLZ N 420# ECRRIE
EfisimsR RRAS 3 EfisHReR RRAs =E=
HOL 36 6” x150 30 30 HOL 46 6” x150 24
HOL 312 12" x300 76 76 HOL 412 12”7 x300 50
HOL 324 24~ x600 180 180 HOL 424 24” x600 180
HOL 336 40” x1000 300 300 HOL 436 40” x1000 240

HOL 360 60” x1500 2200
HOL 380 80” x2000 2600

BNz
EhSHRR FRAE B
YCK6 1m/I/R 240



&

BN
SRR Rt BEm/ly m/R
KDS11 1m {J3HER 160
KDS2131 2mx13 m/m 240
KDS35161 3.5mx16 m/m 300 300
KDS55161 5.5mx16 m/m 380 380
KDS55191 5.5mx19 m/m 420 420
KDS55193 5.5mx19 A X 440
KDS75251 7.5mx25 m/m 600 600
KDS75253 7.5mx25 X 600 600
KDS10251 10mx25 m/m 1,000
B
ERSHRER RS m/m m/Ig
KDS101 10m 600 600
KDS102 20m 800 800
KDS103 30m 900 900
BirR
EhGHRIR RS B8
KDS1M im 200
KDS2M 2m 240
KDS5M 5m 520
SETEI AN
B R
EHRER RS B8
KDS307 30 m x 13 m/m 2,700
KDS507 50 m x 13 m/m 3,200

102



TadJima

FITEYAN

WL
TOP2
TOP36
TOP513

ik
YC11
YC5131
YC5161
YC5191
YC65195
YC75191
YC75251

WG
KM5161
KM5191
KM75191
KM75251
KM10252

103

RS

2mx13 m/m
3.6mx13 m/m
5mx13 m/m

R

1M

5mx13

5mx16

5mx19
6.5mx19
7.5mx19
7.5mx25

5mx16
5mx19
7.5mx19
7.5mx25
10mx25

m/I¥ ~ m/R

46
80
90
110

180
200

90

110
180
200
400

m/ 32

110

180
200

m/0F s m/R m/3ZA

110
180
200
400

BrR
m/ Iy

B R
=H

110
140
180
200

WA
=H

110
180
200



:A\SI-AE E Taper Gauge

Bl - 32
EiiRSE RS BUER B
SK15 1-15 m/m 700A 520
SK30 15-30m/m  700B 900
SK45 30-45m/m  700C 1,160
SK270A  ®itk0.3-4 m/m 1,700
SK270B  /#k0.4-6 m/m 700C 1,900

E:”L\,\*E Center Gauge
L]

Efii:H/

E iR 5R i 18 kS =k
55“ 55° T, 530 140
60° K1l 530 140

ﬁﬁgﬂ%*ﬁ, Screw Thread Gauge

SO Fua T
30°NO. 7%
MADE IN JANI 3
; Efl: K/
Rl & 8 60 % | EITEED EES e
o o - 29 29" T 1,480 600
30 30° X1\ 1,480 600
5 *ﬁ, Screw Pitch Gauge
& Ao o 1 : 48
s o o T ET: 18R wE A
137 301A 4~62 m/m 340 170
156 301C 0.25~6.0 m/m 340 170
T137156 m/m, 1 300

104



B (R

e R R
SH180 SHINWA ZHE = 320
YCK180 ax XHE 53 120
= 12*% Angle.Duge.

B4
e S =ES af
466 1°-45° 3,000 1,500

.IJ=** é*
=] B Involude Gear Tooth Gauges

B #
E WE B
DP145S DP141/2° 6~80 14 2,160
DP20S /N DP20° 6~18 8 3,160
MP145S - MP141/2° 0.5~5.0 13 2,160
MP20S = MP20° 0.5~5.0 13 3,160
DP145L DP141/2° 2~5 7 4,320
DP20L KX DP20° 2~5 7 6,400
MP145L 5 MP14 1/2° 6.0~12 7 4,320
MP20L MP20° 6.0~12 7 6,400

105



§1§ E Radius Gauge

B 81 4

Eha iR 5R & B8
178 MA 1~7 m/m 345 770
178 MB 75~15 m/m 32K 980
178 MC 16.0~23 m/m 16K 5,000
178 MD 240~30 m/m 14K 5,700
178 ME 31.0~40 m/m 20K 12,000
178 MF 41~50 m/m 10K 23,400

%5%}5% B : #8

B iR 1% B8
272 MA 075~5  mim 18} 770
272 MB 55~13  mim 164 980
272 MC 13.0~22 m/m 105 5,000
272 MD 23.0~30 mim 8K 5,700
272 ME 31.0~40 m/m 105 12,000
272 MF 41~50  mim 10f 23,400
JFE

BN 4
EfisiRR R B8
TWGH 1,700

il

THITEERR

BN : 4
B e B8
L300MX 0.5~13 26 3,200
L30OMXA 0.5~13(&) 265 1,600

106



E3ZPIN GAUGE

BfR0.0TmmiBE &

Effmm BERY &mm HEE/EEE B E
0.05...0.09 0.1 5-10 +0.5 um 0.5 «mBAA HRC48
0.10...0.19 0.1 20 *£0.5 um 0.5 «mBAA HRC48
0.20...0.99 0.1 40 1 um 1 umBAA HRC60
1.00...3.999 0.001 50 *1 um 1 ¢mBAR HRC60
4.00...9.995 0.005 50 1 um 1 pmBAR HRC60
10.00...20.00 0.01 50 *1.5 um 1.5 xmBAA HRC60

A EEE Emm 0.01/%2 0.025/% 0.001/% o_‘:’fﬁi
- 0.05 4520 4520 8300 —
0.06 - 0.10 2000 2000 8300 3000
0.11 - 0.19 1600 1600 4840 2360
0.20 - 0.29 900 900 2260 1600
0.30 - 0.99 700 700 1660 1000
1.00 - 6.00 600 600 1100 840
6.01 - 10.00 760 760 1600 1000
10.01 - 12.00 960 260 2300 2200
12.01 - 13.00 960 260 2300 2400
13.01 - 15.00 1180 1180 2600 3160
15.01 - 17.00 1340 1340 2600 3200
17.01 - 20.00 1800 1800 2840 3800
20.01 - 21.00 2840 3770 3320 -
21.01 - 22.00 3200 4700 4150 —
22.01 - 23.00 3860 5650 4980 —
23.01 - 24.00 4400 6560 6160 —
24.01 - 25.00 5200 7540 6640 —
25.01 - 26.00 5580 8160 7200 —
26.01 - 27.00 6300 8800 7750 —
27.01 - 28.00 6960 9740 8570 —
28.01 - 29.00 7640 10700 9400 —
29.01 - 30.00 8300 11600 10140 —

1 538
87285 Emm 0.01/ 3%

0.50-0.99 3160 3700
1.00-2.99 2700 2920
BB FE0.025mm 1
3.00-4.99 3160 3150 S =
o, -

5.00.5.99 3380 3700 B g SR Y0.025mm 1% </t kg &
PG-00  0.100,0.110,0.120,--0.290 20 11500

6.00-6.99 3600 4100
+.00.7.9 PG-0 0.300,0.325,0.350,--,1.525 50 12000
-00-7. 4500 5060 PG-1  1550,1.575,1.600,-6.275 190 15000
8.00-8.99 5400 6200 PG-2A  6.300,6.325,6.350,:-,9.775 140 19400
9.00-9.99 6750 6800 PG-2B  9.800,9.825,9.850,---,12525 110 19000
10.00-11.00 8580 — PG-2C  12.550,12.575,-,12.975 18 13800
11.01-12.00 9600 . PG-3  13.000,13.100,---,19.000 61 31000

107



]
. PIN GAUGE ™

FREREDRIE

BER

Efmwm [BRRY fom BEERE EEE BEE BE

0.05...0.09 0.1 540 *05 um 05 ymME  HRC48
0.10..0.19 0.1 20 *£05xm 05 umBg  HRC48
0.20...0.99 0.1 40 £1 um 1 mBP HRC60
1.00..3.999  0.001 50 +1 um 1 AR HRC60
4.00..9.995  0.005 50 £1 um 1 xR HRC60
10.00..20.00  0.01 50 *£15um 15 xmBR  HRCE0

BERIE0.0Tmm 1%
B R HERY0.01mm 1% %/48 ]

AA-00 0.06,0.07,0.08, --0.29 24 18600
AA-0A 0.20,0.21,0.22, --0.50 31 13600  =HEFE0.005mm 152

AA-0B 0.50,0.51,0.51,+1.00 51 13600 B o8 EERJ00Imm 1% /48 T
AA-1A 1.00,1.01,1.02,--1.50 51 10000 AA-OE  050,0505051,0.75 51 16500
AA-1B 1.50,1.51,1.52,--2.00 51 10000 AA-OF  0.750.7550.76,--1.00 51 16500
AA-2A 2.00,2.01,2.02,2.50 51 10000 AA-1C  1.00.1.0051.01,--1.25 51 16500
AA-2B 2.50,2.51,2.52, --3.00 51 10000 AA-1D  1.251.225.1.26,-1.50 51 16500
AA-3A 3.00,3.01,3.02, --3.50 51 10000 AA-1E 1501505151175 51 16500
AA-3B 3.50,3.51,3.52, +4.00 51 10000 AA-1F  1751.7551.76,--2.00 51 16500
AA-4A 4.00,4.01,4.02,-4.50 51 10000 AA-2C  2.00.2.0052.01,2.25 51 16500
AA-4B 4.50,4.51,4.52,-5.00 51 10000 AA-2D  2.252.2252.26,-2.50 51 16500
AA-5A 5.00,5.01,5.02,+5.50 51 10000 AA-2E  2.50.2.5052.51,--2.75 51 16500
AA-5B 5.50,5.51,5.52, --6.00 51 10000 AA-2F  2.7527552.76,-3.00 51 16500
AA-6A 6.00,6.01,6.02, --6.50 51 12800 AA-3C  3.00,3.005,3.01,--3.25 51 16500
AA-6B 6.50,6.51,6.52,+7.00 51 12800 AA-3D  3.253.2253.26,--3.50 51 16500
AA-7A 7.00,7.01,7.02,-7.50 51 16000 AA-3E 3503505351375 51 16500
AA-7B 7.50,7.51,7.52,-8.00 51 16000 AA-3F  3.7537553.76,--4.00 51 16500
AA-8A 8.00,8.01,8.02, -8.50 51 16400 AA-4C  4.004.0054.01,--4.25 51 16500
AA-8B 8.50,8.51,8.52, ---9.00 51 16400 AA-4D  4.254.2254.26,-4.50 51 16500
AA-9A 9.00,9.01,9.02,--9.50 51 16400 AA-4E  4.504.5054.51,-4.75 51 16500
AA-9B  050851,8.52,-10.00 51 16400 AA-4F  4.754.7554.76,-5.00 51 16500
AA-10A  10.00,10.01,---10.50 51 24300 AA-5C  5.005.0055.01,-5.25 51 16500
AA-10B  10.50,10.51,---11.00 51 24300 AA-5D 5255225526550 51 16500
AA-11A  11.00,11.01,---11.50 51 24300 AA-5E 5505505551575 51 16500
AA-11B  11.50,11.51,---12.00 51 24300 AA-5F  57557555.76,--6.00 51 16500
AA-12A  12.00,12.01,--12.50 51 24300 AA-6C  6.00,6.0056.01,--6.25 51 22500
AA-12B  12.50,12.51,--13.00 51 24300 AA-6D  6.256.2256.26,6.50 51 22500
AA-13A  13.00,13.01,--13.50 51 29400 AA-6E 6506505651675 51 22500
AA-13B  13.50,13.51,---14.00 51 29400 AA-6F  6.756.7556.76,--7.00 51 22500
AA-14A  14.00,14.01,--14.50 51 29400 AA-7C  7.00.7.0057.01,--7.25 51 27800
AA-14B  14.50,14.51,--15.00 51 29400 AA-7D  7.257.2257.26,-7.50 51 27800
AA-15A  1500,15.01,-15.50 51 29400 AA-TE  7.50.7.505.7.51,--7.75 51 27800
AA-15B  1550,15.51,--16.00 51 29400 AA-7F  7.757.7557.76,--8.00 51 27800
AA-16A  16.00,16.01,--16.50 51 29400 AA-8C  8.008.0058.01,--8.25 51 27800
AA-16B  16.50,16.51,--17.00 51 29400 AA-8D  8.258.2258.26, 850 51 27800
AA-17A  17.00,17.01,--17.50 51 36200 AA-8E  8.508.505851,-8.75 51 27800
AA-17B  17.50,17.51,--18.00 51 36200 AA-8F  87587558.76,--9.00 51 27800
AA-18A  18.00,18.01,--18.50 51 36200 AA-9C  9.00,9.005,9.01,--9.25 51 27800
AA-18B  18.50,18.51,--19.00 51 36200 AA-9D  9.2502259.26, 950 51 27800
AA-19A  19.00,19.01,--19.50 51 36200 AA-9E  9.509.505.9.51,--9.75 51 27800
AA-19B  19.50,19.51,--20.00 51 36200 AA-9F  9.75097559.76--10.00 51 27800

108



PR7VIZIZERR / BRFVIZHORAR

KK

T —T
bl )

PRFRIZH#IEFAR Limit Plug Gauge PRFRISHIRSF IR Limit Ring Gauge

B KKS |z KKS
RREIHE  RARIR RREIHE  RERIN
it 2 3Rk 2 -3tk i 2 3k 2 3Rk

B KKS

RFEIR RERIR

S 2 3k 2 -3k

2.0x0.4 3,320 8,280 13x1.25 2,700 5,400 24x1.5 3,250 6,500
2.6x0.35 3,990 7,650 13x1.5 2,500 5,000 24x2.0 3,330 6,660
2.6x0.45 3,060 7,650 14x1.0 2,810 5,620 24x3.0 3,770 7,540
3.0x0.35 4,750 7,480 14x1.25 2,680 5,360 1/8W40 3,630 7,260
3.0x0.5 3,010 4,740 14x1.5 2,550 5,100 5/32W32 3,630 7,260
3.0x0.6 3,010 4,740 14x2.0 2,570 5,140 3/16W24 3,460 6,920
3.5x0.35 4,450 7,000 15x1.5 2,570 5,140 1/4W20 3,590 7,180
3.5x0.6 2,970 4,680 15x2.0 2,590 5,180 5/16W18 3,590 7,180
4.0x0.7 2,310 4,620 16x1.0 2,940 5,880 3/8W16 3,630 7,260
4.0x0.75 2,310 4,620 16x1.5 2,660 5,320 7/16W14 3,810 7,620
4.5x0.75 2,310 4,620 16x2.0 2,750 5,500 1/2W12 3,830 7,660
5.0x0.8 2,270 4,540 17x1.0 3,060 6,120 5/8W11 4,290 8,580
5.0x0.9 2,270 4,540 17x1.5 2,710 5,420 3/4W10 5,010 10,020
5.5x0.5 3,220 6,440 18x0.5 5,500 11,000 7/8W9 5,390 10,780
5.5x0.9 2,260 4,520 18x1.0 3,140 6,280 1" W8 5,940 11,880
6.0x0.75 2,520 5,040 18x1.5 2,810 5,620 1-1/8W7 6,920 15,220
6.0x1.0 2,260 4,520 18x2.0 2,920 5,840 1-1/4W7 7,720 15,440
7.0x1.0 2,260 4,520 18x2.5 2,940 5,880 1/4UNF28 2,610 5,220
8.0x1.0 2,310 4,620 19x1.0 3,390 6,780 5/16UNF24 2,660 5,320
8.0x1.25 2,310 4,620 19x1.5 2,940 5,880 3/8UNF24 2,780 5,560
9.0x1.0 2,380 4,760 19x2.5 3,190 6,380 716UNF20 2,780 5,560
9.0x1.25 2,310 4,620 20x0.5 6,350 12,700 1/2UNF20 2,810 5,620
10.0x0.75 3,030 6,060 20x1.0 3,330 6,660 9/16UNF18 2,920 5,840
10.0x1.0 2,410 4,820 20x1.5 2,940 5,880 5/8UNF18 3,060 6,120
10.0x1.25 2,310 4,620 20x2.0 3,030 6,060 3/4UNF16 3,390 6,780
10.0x1.5 2,340 4,680 20x2.5 3,190 6,380 7/8UNF14 3,520 7,040
11.0x1.5 2,390 4,780 22x1.0 3,550 7,100 1" UNF12 3,940 7,880
12.0x1.0 2,630 5,260 22x1.5 3,080 6,160

12.0x1.25 2,450 4,900 22x2.0 3,190 6,380

12.0x1.5 2,440 4,880 22x2.5 3,390 6,780

12.0x1.75 2,450 4,900 24x1.0 3,800 7,600

109



E%*ﬁ, Thickness Gauge

0.03 om
0. 30 nm

&
Oy,
%Fra o
mOZ'n\ &
{3
- ,\ E - u
(E13m/m)
ELHRSE HEAF B EHSHNE
172MA 75mm 154
172MB 100mm 176
17oMC Tsomm 9 0.04 0.05 0.06 0.07 0.08 0.10 0.15 280
172MD 230mm 0.20 0.30 mm 420
172ME 300mm 580
100MH 100mm 10 0.10 0.20 0.30 0.40 0.50 0.60 0.70 480
150MH 150mm 0.80 0.90 1.0 mm 630
100MK 100mm 0.01 0.02 0.03 0.04 0.05 0.06 0.07 440
150MK 150mm 10 0.08 0.09 0.10 mm 630
100MY 100 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.10
mm 19 0.15 0.20 0.25 0.30 0.35 0.40 0.50 0.70 660
150MY 150mm 0.80 1.0 mm 980
099 80¢ 0 006 09 ek gm0y o
100MZ 100mm 25 0.60 0.70 0.80 0.90 0.11 0.12 0.13 0.14 880
150MZ 150mm 1.0 mm 1,140
100MX 100mm 0.03 0.04 0.05 0.06 0.07 0.08 0.10 0.15 1,200
150MX 150mm 13 0.20 0.301.0 2.0 3.0 mm 1’320
FG26 3 1/20% 26 0.04~0.63 [¥/mm 200
0.05 0.1 0.15 0.2 0.25 0.3 0.35 0.4 0.45
FG20 100mm 20 0.5 0.55 0.6 0.65 0.7 0.75 0.8 0.85 0.9 240
0.95 1.0 mm
0.02 0.03 0.04 0.05 0.1 0.15 0.2 0.25
FG23 100mm 23 0.3 0.35 0.4 0.45 0.5 0.55 0.6 0.65 0.7 360
0.75 0.8 0.85 0.9 0.95 1.00 mm
e "/ \
2N G
ES{\] : #8
EhsHRGR b3 & =R
150 150x85 0.90 1,200
300 300x140 1.00 3,800




IF

= &8 E .

BB

EEmm 1M EfiHR5R Big BE mm 3M EfHmaR B8
0.01 0011 590 0.01 0013 1,884
0.02 0021 482 0.02 0023 1,470
0.03 0031 430 0.03 0033 1,325
0.04 0041 262 0.04 0043 708
0.05 0051 262 0.05 0053 705
0.06 0061 262 0.06 0063 705
0.07 0071 262 0.07 0073 705
0.08 0081 262 0.08 0083 705
0.09 0091 262 0.09 0093 705
0.10 0101 262 0.10 0103 705
0.1 0111 294 0.1 0113 790
0.12 0121 294 0.12 0123 790
0.13 0131 294 0.13 0133 790
0.14 0141 294 0.14 0143 790
0.15 0151 262 0.15 0153 705
0.16~0.19 0161 294 016~0.19 0163 790
0.20 0201 262 0.20 0203 705
0.21~0.24 0221 294 0.25 0253 705
0.25 0251 262 0.30 0303 705
0.30 0301 262 0.35 0353 1,020
0.35 0351 320 0.40 0403 1,020
0.40 0401 320 0.50 0503 1,020
0.50 0501 320 0.60 0603 1,680
0.60 0601 600 0.70 0703 1,680
0.70 0701 600 0.80 0803 1,680
0.80 0801 600 0.90 0903 1,680
0.90 0901 600 1.00 1003 1,680
1.00 1001 600

1.10 1101 1,620

1.20 1201 1,620

1.30 1301 1,620

1.40 1401 1,620

1.50 1501 1,620

111



0.45

6,440
4,680
3,100
1,300

1,300
1,300

1,200

1,260

1,260

1,260
1,260

1,720

1,720

7,200
3,960

2,840
2,840
2,840
1,940
1,940

1,940
1,940
1,940

2,000

2,000

2,000

2,160

2,160
3,560
3,560
3,560
3,560
3,560

[ EAIE

BB A (BE)

8,400
5,200

3,840
3,840
3,840
2,680
2,680

2,680
2,680
2,680
2,680
3,200
3,200
3,200

3,200
3,200
3,600
3,600
3,600
3,600
4,640
4,640
4,640
4,640
4,640

Tik#i CK101 (AISI 1095)

-y

IF

i#EE 30-35

AN##§0.05-0.075mm X5CrNi 189(AISI 304)

0.1-2.0mm

9,520

5,800

5,440
5,440

6,800

6,800
7,660

8,800

10,520
10,520
12,640
12,640
14,580

112

10,680

8,600

8,600

8,160

8,160

10,200

10,200
10,200

11,520

13,440

X12CrNi 177(AISI 301) FERE35-40

RERAH(FE)

5,140

3,120

2,920
2,920

3,680

3,680
4,170

4,760
5,700
5,700
6,840
6,840
7,880
9,400
11,020

5,760

4,640

4,640

4,400

4,400

5,500

5,500
5,500

6,220

7,260



BESTOOL

- KANON

Ty 25 o 4 4K P

=

QLK =

RR &R

ilp

BEA+3% A

71k =

A

2800QLK

7000~ 4200~
14000QLK 5600QLK
| = w | smem | momE |
2 w] + w2 w | & wlam]eal
30QLK N30QLK 10 - 30kgf.cm 10 -300cN.m 0.5kgf.cm  5cN.m 9800
60QLK N60QLK 20 - 60kgf.cm 2-6N.m  1kgfem  0.1N.m (E:'/i?) 186 7020
120QLK N120QLK 40 - 120kgf.cm 4-12N.m  2kgf.cm  0.2N.m 7280
230QLK  N230QLK 70 - 230kgf.cm 7-23N.m  2kgfem  02N.m  9.35 231.5 8000
450QLK  N450QLK 100-450kgfcm  10-45N.m  Skgfem  05N.m  8) 2535 8230
900QLK N900QLK 200 - 900kgf.cm 20 -90N.m  10kgf.cm 1N.m 25 8630
1000QLK  N1000QLK 200 -1000kgf.cm  20-100N.m 10kgf.cm IN.m 9320
1400QLK  N1400QLK 400 -1400kgf.cm  40-140N.m  10kgf.cm 1N.m (112/27) 392 9500
1800QLK  N1800QLK 400 -1800kgf.cm  40-180N.m 20kgfcm  2N.m 478 10400
2000QLK  N2000QLK 400-2000kgf.cm  40-200N.m 20kgfcm  2N.m 11000
2800QLK  N2800QLK 4-28kgfm  40-280N.m 0.2kgfm  2N.m 685 13700
4200QLK  N4200QLK 6-42kgtm  60-420N.m 03kgtm  3N.m 4905 995 21560
5600QLK  N5600QLK 8-56kgf.m  80-560N.m 0.3kgim  3N.m  (3/4") 1195 28760
7000QLK  N7000QLK 10-70kgfm 100-700N.m 0.5kgtm  5N.m 1315 34800
8500QLK  N8500QLK 10-85kgtm 100-850N.m 0Skgfm  SNm 1388 38000
10000QLK N10000QLK  10-100kgfm 100-1000N.m 0.5kgfm ~ BN.m  (4n 1538 41200
14000QLK N14000QLK 20 - 140kgf.m 200-1400N.m  1kgfm  10N.m 1844 47000
113



BESTOOL

KANON

JER M H &l £ Fh

= -

TMKs=

ETRET\E

BERB 3% LA

7000TMK-14000TMK Dial Follow-up peinter

60TMK-2000TMK

" mome | -
5wl x w5 m] * v 5nlre .

60TMK N60TMK 6 - 60kgf.cm 0.6 - 6N.m 1kgf.cm  0.1N.m 6.35 10200
120TMK N120TMK 10 - 120 1-12 2 0.2 (174") 222 10200
300TMK N300TMK 50 - 300 5-30 5 0.5 935 315 10600
700TMK N700TMK 50 - 700 10-70 10 1 (3/8") 10800

1400TMK  N1400TMK 2 - 14kgf.m 20 - 140 20 2 12300
2000TMK N2000TMK 2-20 20 - 200 20 2 (112/27) 108 13200
2800TMK N2800TMK 3-28 30 - 280 50 5 680 15200
4000TMK N4000TMK 4-40 40 - 400 100 10 900 31300
5500TMK N5500TMK 5-55 50 - 550 100 10 ::/f,g 1100 31800
7000TMK N7000TMK 7-70 70 - 700 100 10 1270 35680
8500TMK N8500TMK 10 - 85 100 - 850 100 10 1400 40000
10000TMK N10000TMK 10 - 100 100 - 1000 200 20 2(:’;1 1560 44300
14000TMK N14000TMK 20 - 140 200 - 1400 200 20 1600 48400

114



e won. GE RS MIVE IR

FU

HIEEHEE

SCK#H!

RCK§EI o ;Em

ack= EIRFIE A - BIJ0HE

BEEREH » BS1E8IRE
o EHEEERLI%ET -

HCKZ#H!

Total length
et
__A__—l S T:,CE]L’ ! = !
o .||_—l|.j.|g , Body length———————— / Extention ber

— wE | 28 | g
i

60LCK N60OLCK  20-60kgfcm 2-6Nm tkgfem  0.1Nm 160 173 6360
120LCK N120LCK 40-120 4-12 2 0.2 6420
230LCK N230LCK 70-230 7-23 2 0.2 190 208 6500
450LCK N450LCK 1-4.5kgf m 10-45 5 0.5 215 232 6900
900LCK N90OLCK 2-9 20-90 10 1 320 325 7500

1800LCK N1800LCK 4-18 40-180 20 2 445 443 8700
2800LCK N2800LCK 4-28 40-280 20 2 660 640 12200
4200LCK N4200LCK 6-42 60-420 30 3 865 890 17500
5600LCK N5600LCK 8-56 80-560 30 3 1065 1086 22800
7000LCK N7000LCK 10-70 100-700 50 5 1200 1206 29000
8500LCK N8500LCK 10-85 100-850 50 5 1400 1417 31800
10000LCK N10000LCK 10-100 100-1000 50 5 1400 1417 35300
14000LCK N14000LCK 20-140 200-1400 100 10 1430 1700 42600

115



BESTOOL KANON | AR
O] 5% AE
v 5% iy i B 4E PR

H® &

LTD

ZEIVH DR ES

e

O RIFEIFERS \FWERE

@ SREFMHNERESE » (EAAIITIRE

@ EEHNE - ROBEZRIE ZEE - Kk 2i8E HR
® HWRCOEFES—E

® TIZ MBS ESE

@ EARBEL3%HIELUE

&R
T“Ll’j —
_L—:r :[% e ]ﬂfﬁ?tﬁp dia.

%The above picture is kgf-cm type.

2R
E— L
L_EI*I":::E = ji:dfa

6-50LTDK
<kgf.cm>type

1.5 - 3LTDK
<N.m>type

6-50LTDK
<N.m>

type

1.5 - 3LTDK
<kgf.cm>

type

100LTDK (With extension bar)

40 :ﬁﬁ LE
Em | PEE #_ ?r B ke ®
cN.m/N.m @ GFF‘ XE
1.5LTDK 0.1-15 001 N1.5LTDK 1-5cN.m  0.1cN.m 6300
16 106 NO.1  0.4X35
3LTDK 0.2-3 0.02 N3LTDK 2-30 0.2 6500
6LTDK 0.5-6 0.05 N6LTDK 5-60 05 25 110 6600
12LTDK 212 01  N12LTDK 20120 1 30 NO1  Juxpos4 7000
20LTDK 420 01  N20LTDK 40200 1 w160 “e) 7200
30LTDK 4-30 0.1 N3OLTDK  40-300 1 7500
50LTDK 10-50  0.25 N50LTDK  100-500 25 40 200 NO2 o) 10300
100LTDK 20-100 0.5 N10OLTDK 2-10N.m 0.05N.m 45 235 (79) 12400

116



QCK
T7 -
[iemaic
T

A1e ToJ
Sq. drive
RCK binexagon head

D1 - s o
i B ® R Ymm s Pl mm=mw®
718[9]10 60 - 230LCK 1500 718[19]10 60-230LCK 3000
29 18 -
11 60 - 230SPCK | 1500 11 $9-2308PCK 3000
230SCK |12|13]14 2|7 |, 250FCK 1600 |230RCK [12]13] 14 21| 8 |45 | 10 | 5Tc-50EX 3000
17[19]21] 22[ 39 10 | bTC - 50EX 1700 17119 22| 22| 31 DTC-100EX 3000
24 45 | 8 DTC - 100EX 4000 8 |10 19 450SPCK 1730
8[9[10[11]32]8 450LCK 1700 |450RCK [11]12] 13| 14 10|55 | 12 | 500FPCK 1800
12[13[14] |36 450SPCK 1800 17| 19] 22 32 DTC-500EX 2000
450SCK 17 T1o[a1] 20l aa [ ] %° | ' | B00FCK 1950 12[13[ 14| |25 900LCK 2000
o4 |27 50 4400 | 900RCK |[17]19]21[22]|34|13|65 | 15 2380&;% 2080
12[13]14] |40 |10 900LCK 1900 24] 27] 30 42 DTC-1000EX 2170
900SCK [17]16]21]22[ 48 65 | 15 | Joootek 2000 17[19]22] |35 1800LCK 2450
24|27]30] |57 |12 DTC - 1000EX | 2100 [ 1800RCK [24|27[30| [45|15|80 | 18 | 1500FCK 2800
17[19]21] 22| 58 :ggg;géK 2400 32[ 36] 41 58 DTC-2000EX 3300
1800SCK [24]27[30] [64 |14 80 | 18 | pTc - 2000EX  |_2790 19]22]24] |40 2e00SPCK 8230
32|36|41] |76 1500FCK 3300 | 2800RCK |27[30|32| [47]17(100| 22 | 2300FCK 9180
17| 21]22] 24] 63 2800LCK 3500 36| 41] 46 63 DTC-3000EX 10230
2800SCK [27[30[32] [71 [16.5|100| 22 ggggggﬁ" 3700 27| 30] 32 57 11600
36[41[46 85 DTC - 3000EX 6000 36| 41 65 4200LCK 12700
27]s0[32] [88 12900 | 4200RCK 7). T5, 25 | 4200SPCK 14300
4200LCK 75
4200SCK |36]41/46] 95|25 25 | 1 00SPCK 15300 55| 60 20 | 125 19500
50 55| 60| [105 125 19500 27]30] 32 57 11600
27(30| 32 88 12900 36| 41 65 5600.7200LCK | 12000
7000RCK .
7000SCK [36[41]46] [95 30 | 5600 - 7200LCK 15300 46 50 30| brc-5000EX 14300
505560 |105 DTC - 5000EX | 19500 65| 60 I 19500
36 | 41 100 15300 35 65 17900
10000SCK{46 50 110 30 | 130 | 34 | 8500 - 10000LCK 47670 | 19000RCK [ 41] 46 7225 130 | 34 | 8300 10000LCK 710720
5560 120 DTC - 10000EX 21000 50| 55| 60 80 ) 21080
41 | 46 115 23400 41| 46 80 24600
14000SCK|50 |55 125(34 (160 38 | 4 4000LCK 26000 | 14000RCK | 50| 55 85 (27 {160 | 38 [ 14000LCK 27420
60|65 135 27900 60 65 85 29280
QCK ratchet head HCK hexagon head
D1
]
60LCK,SPCK
120QCK |6.35|24 [19|75( 12 120LCK,SPCK 2800 60LCK,SPCK
i o | LSS ko
312511 [155 250FCK, ’ 1600
230QCK 053 DTC-50EX,100EX 3500 |230HCK [|25|3|4|5|6]|8([45]10 250FCK,
: 450LCK,SPCK DTC-50EX,100EX
450QCK 32|25|11 [ 16|55 | 12 | 500FCK 3500
DTC - 500EX 450LCK,SPCK
900LCK,SPCK
900QCK 39 [ 31|14 [19.5/ 65 [ 15| 1000FCK, 3800 |450HCK [4 156|810 55|12 [500FCK 2500
12.7 DTC - 1000EX DTC-500EX
1800LCK,SPCK
1800QCK 46 (33|14 | 23 [ 80 | 18 | 1000FCK, 4000 900LCK,SPCK
DTC - 2000EX
900HCK |6 |8 [10]12[14| |e5|15|1000FCK, 2800
2800LCK,SPCK DTC-1000EX
2800QCK 52| 4120 | 26 (100 22 | 2300FCK, 5500
DTC - 3000EX
4200QCK [19.05 25 | 4200LCK,SPCK | 7000 1800LCK,SPCK
1800HCK | 8 |10 |12 |14 |17 80 | 18 | 1500FCK, 3000
68 |50 | 20 | 34 |125 2000LeK DTC-2000EX
7000QCK 30 | 7000LCK, 7000
DTC - 5000EX
8500LCK 2800LCK,SPCK
10000QCK 76 | 58 | 27 | 38 [230| 34 | 10000LCK, 9500 | 2800HCK |12 |14 |17 ] 19 100| 22 | 2300FCK, 3200
254
DTC - 10000EX DTC-3000EX
14000QCK 87 | 61 [ 27 [43.5]160] 38 [ 14000LCK 12200

117



%Eﬂ?:’ﬁnié .}. 7]%‘:'.,.7'?::2%

F E B B B H BEBR Y mm 5t gt

WA | BERIE | BT DB | . 10T, 11T &3
PITR RA TEEH | TT.8T R
| mmam |m  ml -- SHEN R

$158 4 - - (0.9) ¥$55(1.5) M2 15 2.7 3.6 0.8
45 - = (1.27) 2 M2.5 3.2 5.8 7.7 1.6
55 - - 15 25 M3 6 10.8 15

6 = = = - (M3.5) 10 18 24
7 - - 2 3 M4 16 28 30
8 _ _ _ _ (M4.5) 21 38 38 1
8 - - 25 4 M5 30 54 72 15
10 - = 3 5 M6 50 90 120 25
1 - - - - (M7) 90 150 220 45
13 12 = 4 6 M8 120 220 290 60
17 14 - 5 8 M10 240 430 580 120
19 17 22 6 10 M12 420 760 1,000 210
22 19 - 6 12 (M14) 690 1,240 1,650 350
24 22 27 8 14 M16 1,080 2,000 2,600 540
27 24 - 8 14 (M18) 1,500 2,700 3,600 750
30 27 32 10 17 M20 2,100 3,800 5,100 1,050
32 30 36 - 17 (M22) 2,800 5,100 6,700 1,400
36 32 41 - 19 M24 3,400 6,100 8,200 1,700
41 36 46 - 19 (M27) 5,400 9,700 13,000 2,700
46 41 50 = 22 M30 7,200 13,000 17,300 3,600
50 46 - - 24 (M33) 10,000 18,000 24,000 5,000
55 50 - - 27 M36 13,000 23,400 31,200 6,500
60 55 - - 27 (M39) 16,000 28,800 38,400 8,000
65 - - - 32 M42 20,000 36,000 48,000 10,000
JIB B1180 JIBB1186 JIBB1177 JIBB1176 g ) ss scr SCr c-B
&t : BUISIR GRS 2 g SC SCM SSNCCMM izg
BERED

HBAOBMUBRBEHRR

B i VA %l Es [ 4 %l
kgf - cm N-m Ibf - in
BRG] kgf - m N - cm Ibf - Ft
gy -cm 0Z -in
—e= 1kgf - m=100kgf - cm Ee r in=2.54cm
Zgﬁig 1kgf -cm=1000gf -cm N -m=100N - cm e #=30.46m
1kgf - cm=10kgf - mm - ’
Ib=0.454kg

REEM 1kgf - m=0.098067N - m 1N - m=10.197kgf - cm 1lbf - in=1.15kgf.cm
o . in=
UL kgf - cm=0.867962Ibf - in 1N - m=8.850Ibf - in 1lbf - in=0.112985N.cm

2 E . cm= : o ] 1lbf - Ft=13.825kgf.cm
1kgf - cm=0.072330Ibf - Ft 1N - m=0.737562lbf - Ft AIbf - F=0.001356M.m

11bf=0.453592kgf

in.lbs=1.153kgf.cm
ft.Ibs=13.83kgf.cm
kgf.cm=0.8673in.lbs

_ A A A A

oo 1kgf -cM=9.807N 1N=0.101972kgf
VES 1ibf=4.448N
TIWERAL ) ot - cme=2.2050bf 1N=0.2248091bf (11bf=160Zf)
1in=2.54cm
EEENT  1om=0.393701 in 1m=3.281ft 1 Ft=0.305m

(1Ft=12in)

118



ZERIBIRE

PhEEER

TR
BESRREEN

B=E

EA&HRSE - GLASS

1Bs : EBHmA

3

MiEE « 15 « &8 - i
R MRS ~ REFE - B
fE ~ BILE39% MR ~ B
ELVAK

BREEE :

AT  BR - 895 - #
BT REHF -

&% : 60

Ehk#ma% - GLASS8008

18 -

MIEESPVC ERERE
EECERAFFZERR/NILR
EFEMMEPCIRF ©

ERSHReR
GLASS8008B

1

M ESPVC EHERE
1E B4 EBREPIRE
CSFRRG RIS -

N

S TRBS TR P EE T
{B1& : 160

BAGHRER -
GLASS8008C

1B -

BRENLEEE

CiRENLEER

EERSELS

BRI IRAE, B B ERYERIRS

EiERH - ADEBNERE

eEs—ImE -

Imz
BRISBENESRETRRER

BﬁE(BOOS)Ez =2 FE LD

W ZEFENEE -

B : 160

ENSHRER - GLASS04

 EEBPE - EREZE

Bis
i

D - BREAAERL SET

SJEEELES WEﬁﬁo
THEE : FERIARE
EREEE :

ok ~ LIEIKIEG ~ @
7 3 Y

818 : 240

119

RGBS

[+]
<
cl

EhsiRR

BiE -

B AR B HEROEPI R B TR T 1
g - BRED) . BIEWE
5 EITERMAK - JHIER
i®iEfE (CR6) °

EESIE
ERERN\NRER—
B IR R PE /IIZ N E 1
2 e

B1% : 520

Efk#weR : 2006

1BiS - EIRE(—EBIR3L)
O 8 EE(CR-6) -
BREE: ESRE B8
Ve B8EE  RENT
RIERE -

EEFE TFRREHEE
REEE01%LLT » ZER
SEE18RLULBERTE
-

{&1& : 560

Elikimsk - CR6
MiD ¢ EBIL BRI EE

MR FER

TOEE : BIE - BRR
BREE: ERE k8 E
F BB SRR HE B
o OREER - REE R
BB BE - E2RIER
HfEMrE <2 TIFIRIE -
RSB FR 8 FE’m—
/ﬂ_méﬁﬁﬂﬂl%ﬁ?lﬂﬁmﬂﬂ%i%

1006A

EHSHRSE - 1005

1S« T

%y - EEE ~ EFE - B3R BR
SR -

IhgE : EREREEEE > mEB
T=K458E8:

1. BEEOHEI0% LA EPHEEWNE »
TIfF20micron A EZ ANEEIR A ©
2. OB ERZERBR

3. WERIEE TP LE§EFHETR
SEFREIE : [FREWE - W ~ B
FFEXIER) ~ #9R) ~ [BR...F 1% -
Bi&: 8

| EifRaR - 10055 |
1855  NEmIEERS
3 - B FFE ~ BRI
o R -

BREE: BRE %
B RIREBBE......

oy

| ‘:r.'__F o

DBEEA 5 RE A 100548 -
&g - 12



=

:l'
>

%
%1

—

| |
; /
il |
I\
< ( | PSR
J || =8 7
Q\ |/ =
5:-1
1FRITERR = B tga _;‘5:‘
e
U IIIlIIllIIIl|I|lIIIII|IIII|I|||ll||l||l|||||l||I‘!|I|lI|II|IIIIlIIII|IIIIHII‘IIIIIIII|I|IIII|||IIIIIllllllﬂ ll]lll]ﬂ"l“l % '_'1 _—_'5-—:_1 .
. l5| ! y . l1|ol.,..l.l..[.li..xl15 xe f =8
=0 |
__?——'E—T . L!PJDN ;wu.-u STEEL
e
B
SRR FRAEmMm B
62081 170x100x1.5 560
62006 K 15cm 177x18x1.5 520
Bl X%
e FRAE B
TWD150 6" 300

fi

N4

1038100125058 USAGES MULT'H..ES

ES(1] i

EISHREE
E500C 4009 130

120



Hm

EEfi - #E

EhsHmsR

DC425 SEMASERESE  DC-425 580
DC426 RSB  DC-426 600
25909 # - 228 25909 2,400
A+B1B RS+ 1b(EE) 500

wteco HEE  crax HEE

i EE ) BN : & 1EEE B : %A
EHSHRER BE\BIR ALTECO ERSHRER B2 B B1g
AL2G 2g 26 SPAR12 129 20482 56
AL20g 20g 170 SPAR70 70g 1240/= 160

SPARS56 569 1248/ 160
2u Permatex  SHEX S
Permatex BN
e
AN
'v
>0)
a
LT
um lﬁ’ e
R e
e, H 2
- Pagp
i !ZZ?::’
e HaRo sG70 BB :
e man e =
¥ ., = Ak R B8
iasdC USAT 1# 2,100
4 Frw"””l{,a
i USA2 o 2,100

121



S|
#lewmmmnw;
PEONBTIBES ISBOES:

ﬂkﬂ@

Pernrafex”
BLUE RTV
SILICONE

GASKET MAKER

Permarex:
HIGH-
TEMP

RTV
SILICQHIE

F EEREES —SEERY

i%igﬁﬁ . BEREOBTHR :

T 2E) =4 : | ERE o2 . e

RFTURREARTOBOR | e RFER
s | REEAR TR

 FREGE : -54CEs260C | - MHEFE -60'CE343C

A R

BEEE  HER  #£RRE - | pEzE  HER  EREE -

ETRRREE « KR, W EIBIEHR

| RERIEE | EDERE KR
AR B :

B aRzIE
200 30z(85g)
ERNRE

b= K EEPYB

BIRBE EhaimR
12

B BRa=E
6BR 200 30z(859)

BERNRE
el

=3
DEAREE - BRBEWEEFY
P E - TEERREHBSIER
B BRTE BRESE SRR
240 2Ry 12 14600
FlozEsE

BEDEEEN

- SRTIIESY, D ERERRIHAE - - Bk BB

sE

RER R K BIRRIE IR
- OEMZB BREATEE
- ARENSERAS - AEH - BEREERE

- M@ #EE : -62°'CZE+232°C
FRIE - :
SHREHEAF  BRMRL |
hEEe | MEIRE - PO - s

55 EEEBERIE

Bt BRTE EEHE SERT @8 axss
200 160z EFEiEHE 12 137DA 200 3oz
120z/$8E BNRE

BIHE EhaiRsR
12 16BR

L EEMEEE—SEEAW | 1 E
L AREEZNNRAYESS |

A -
| RS RRE ERSBNE |
| RAESEE AR T 2R

NGhEHEIZE

PIEENSEE

zocrire

asign_

57RNEIL

7

--wmmﬁmamﬁﬁ&anﬁi

E#8183000psi

P meBEUbg, TIE3L - @@y

AR ~ $TEF - AZIRE
=£149°C

(R A AL

e
LRy |
O

Dermatex:

I:l
E I IKA

4

5-@@@%§¥m5

- ERIEMIRIE  WRRREE |
EEEVS :

f-mﬁ%w
BB

ENEPES

;m@&W@
B ORSE  SRENE SRR
300 1 Gozﬂésﬁka”é 12 68DA
120z;38

122

- BOZBERA - UER DTS
- REBEE - FEEREEESE

YDA B 2
- BFRIESSRMAEIR K E, I
EEFRFERSE

- RERARBRF L2 mE

A

P siRE ~ Hm S OmEE B 0B
LR ORI ORBRIER
Bt ORTE BfESE ENRETR
900 INFmiREE 4 25218
US|

BoFiEEE

* 2t tro TEM W
sz r(-‘ i
(133

Ii'ﬂ"ﬂll’\

ANTI-SEIZE
LUBRICANT

=t Si%ys]

- JEIEFES
#907E

- RSB, RSB LM R 3T
REt UEREH T IFEES

- IR BAIRIRR

B RIBERIL EAE SR
RENBEEIZER

- MHREEE : -51°CZE+650°C

ZERFEMIl Spec

W=

RELERIRE ~ FRINEREBE

i ER S NEE - SRENERE
| DR RERER
| OEM3g#®

PAPAN

"TEKREBD

Bt BXEE ZERENE TR
700 120z/EFEiEE 12 133MA



g«‘j)} Permatex: N 5 RER ﬁ’ﬁ 1|E E 5

Hes g gﬁﬁﬁﬁﬂﬁﬁﬂ RS

: r\g)} ‘
ermaries
e § RE
DISC BRAKE DRESS

QUIET ONDITION
. BEEEE R SIEEEE - B L RS BRI
EWEESNETS L mRER L ERRBERES
- EESBESBREBHEE | - SEEBE/ L OHRAE

CEBEE BN B TR L ERSRERIEN

. TSR 2 PR - R ¢

| BEAERE EELE | BB  NEERS -

FRE - PR ERDR - BENRE RE | KERIEMKE
BFIRE - SIEERMA - B | RRER :
I - BEFT - 5EPIBE -

Bt BGREE EfENE SRR BR GKk5E BENE ZiER B BREE ERIE

400 160z 12 195DA 500 160z 12 118DA 300 160z[EFEHELE 12
IR IR 120z}38
LB\ Y5
.) E 1) (1
|\ | vl I \m
Permarex =

B ARE

GASKET
REMOVER

REMOVEDOR DE JUNTAS

[ UERETRAR{CBELNR
- BEINBOERE
ERERNEERE BN
FEARER

R

BNE L ERWENEBRNBS K

REED  2RBAEHE - 2B
HUHYE ~ SHAERHZ

TGRSR BIX ORETE  EfRME SRS
120DA 300 160z/EFFi#EHE 12 4MA
120z}%E

BeL Eekp

BRRIIEHRE EL

Permatex® 1% & E 5|

3 &
TE T deee

o

Permatex”

&1 : i

EHSHRER EmaiE = EEHSHRER
19373 £ EE(50ml) 800 S271A
19375 2 EE(50ml) 800  S242Af
24240L B E(250ml) 3,500 S242A2
27140 @Elr.:(sam ) 700  S242A3
24240 £(36ml) 700  S242B

123

EmEE

2 EE(500) HIE& 500
H[EE(200g)#IE 300
M ERE(2009) 35 300
H[EE(200g) k%R 300
HEE(1kg) 800



WUAME

s pojeE B ¢ {5
D e T ) N e T
i 1" 2" 3" 4" 5" i 2" 3" 4" 5" 6"
Wulxim im 220 300 420 580 1400

Wu1x15m 1.5m 260 390 500 696 1500

Wu1x2m 2m 280 440 580 760 2000 2m 2400 3700 5600 7500 11500
Wu1x25m 25 320 500 670 880 2300

Wu1x3m 3m 340 580 760 950 2600  3m 2700 4400 7000 9600 12500
Wu1x4m 4m 430 740 980 1260 3300 4m 3200 5100 8400 12000 15300
Wu1x5m 5m 500 880 1160 1490 4100  5m 3600 6000 9800 13600 17400
Wu1x6m 6m 550 1020 1340 1780 4900  6m 4200 6700 11200 16000 20500
Wu1x7m m 640 1200 1600 1980 5900 7m 5000 7700 12300 17000 22000
Wu1x8m 8m 680 1300 1760 2150 6900  8m 6100 8400 14000 19600 25200
Wu1x9m 9m 770 1460 2000 2400 8350  9m 6900 9500 15800 22000 28200
Wu1x10m 10m 830 1580 2160 2600 9800 10m 7700 10500 16800 23500 30200
BRIZZET] 1000kg 2000kg  3000kg  4000kg  5000kg 4000kg 6000kg 8000kg 9000kg 10000kg

124



SLAB66

BEf\7 - #H
EASHRER AR B
AB105D N (B 400
SLABG66R Bt (BFEZE) gXD 1,900
H28 Bt (BFEzE) —KD) 1,400
SH301 LA+ IBED(BHER) 3,200
AB66D XE# (B35 700

SLAB66 E{F ([FZEZE) —K4L.—HL 1,700

S E il

ESfi] : 32
SRR AT\ B8
WU1Tx15A 1Tx15 RHIHE 240
WU1Tx15 1Tx15R 200

WUIT

S HisiHm ST BE 35
EE 50m/m

WU3Tx 20 20 R 480 760
WU3Tx 27 27 R 560 860
WU3Tx 30 30 R 600 900
HRE EE ko

125



R
6662

i
0-10000PPM

3EEN IIFBRY THiTE

3.0

110x110

17

EfisimsR
01/2
05/8
0 3/4
07/8
01

01 1/4
011/2
02
021/4
02 1/2
02 3/4
03

03 1/2

Ef:8

P2
kg

ERN ShhiwsR

3,200

6661

126

Rt
172"
5/8"
3/4"
7/8"

1
11/4"
11/2"

on
21/4"
21/2"
2 3/4"
3n
31/2"

EfE | Shafmik HRR B8

8.00 04
8.00 041/2
8.00 05
8.00 051/2
8.00 06
8.60 07
9.00 08
10.60 09
11.00 010
11.06 011
12.00 012
13.00 013
14.00 014

B3N
LT-845 110V

BN : R

4" 15.0
412" 17.0
5" 19.0
51/2" 20.0
6" 22.0

7" 240

8" 40.0

9" 45.0

10"  50.0
11" 55.0
12" 60.0
13" 65.0
14" 70.0

B8
B
3,200



FRZR : 1204 SX9 ER(W21 ) EaE &
BIRMiES

EhisiRR
G08-12
Go010-16
G012-22
G016-27
G023-35
G025-40
G030-45
G032-50
G040-60
G050-70
G060-80
G070-90
G080-100
G090-110
G0100-120
G0110-130
G0120-140
G0130-150

S X 9 . 8MM--

10MM---
12MM---
16MM---
23MM---
25MM---
32MM---
40MM---
50MM---
60MM---
70MM---

ERLEF7MM

ot

A EBE(m/m)
8---12
10---16
12---22
16---27
23---35
25---40
30---45
32---50
40---60
50---70
60---80
70---90
80---100
90---110
100---120
110---130
120---140
130---150

120PCS Rl - RS HAHA

4308

(=]=]

-12MM

16MM
22MM
27MM
35MM
40MM
50MM
60MM
70MM
80MM
90MM

103
102
103
20R
102
103
103
102
103
103
102

1%

X X X X X X X X X X X X

EhisiRR

G0140-160
G0150-170
G0160-180
G0170-190
G0180-200
G0190-210
G0200-220
G0210-230
G0220-240
G0230-250
G0240-260
G0250-270
G0260-280
G0270-290
G0280-300
G0290-310
G0300-320

127

SX-9E 5K 4308

AR EEE(m/m)
140---160
150---170
160---180
170---190
180---200
190---210
200---220
210---230
220---240
230---250
240---260
250---270
260---280
270---290
280---300
290---310
300---320

B\ :

94
110
116
120
125
130
138
146
150
170
180
190
210
220
230
250
280

—J
S




EFIGEMIBE ST

BRI 21&AISX9EESX12

SX-12ER 304 &
BERENEERERERERR—

Efil: R Efil : R

E kiR {EEFAEEE(m/m) = E kiR {EEFAREEE](m/m)

G03048-12 8---12 65 G0304140-160 140---160 190
G030410-16 10---16 65 G0304150-170 150---170 200
G030412-22 12---22 65 G0304160-180 160---180 210
G030416-27 16---27 80 G0304170-190 170---190 220
G030423-35 23---35 80 G0304180-200 180---200 230
G030425-40 25---40 80 G0304190-210 190---210 240
G030432-50 32---50 90 G0304200-220 200---220 250
G030440-60 40---60 90 G0304210-230 210---230 260
G030450-70 50---70 100 G0304220-240 220---240 270
G030460-80 60---80 110 G0304230-250 230---250 280
G030470-90 70---90 120 G0304240-260 240---260 290
G030480-100 80---100 130 G0304250-270 250---270 300
G030490-110 90---110 140 G0304260-280 260---280 310
G0304100-120 100---120 150 G0304270-290 270---290 320
G0304110-130 110---130 160 G0304280-300 280---300 330
G0304120-140 120---140 170 G0304290-310 290---310 340
G0304130-150 130---150 180 G0304300-320 300---320 360

SX-12EL 316 E

BN R BN R

EhsHmsR {EEFAEEE(m/m) B B kiR {EFREEE(m/m)

G03168-12 8-12 90 G031670-90 70-90 190
G031610-16 10-16 90 G031680-100 80-100 200
G031612-22 12-22 100 G031690-110 90-110 210
G031616-27 16-27 120 G0316100-120 100-120 220
G031623-35 23-35 130 G0316110-130 110-130 230
G031625-40 25-40 140 G0316120-140 120-140 240
G031632-50 32-50 150 G0316130-150 130-150 250
G031640-60 40-60 160 G0316140-160 140-160 260
G031650-70 50-70 170 G0316150-170 150-170 280
G031660-80 60-80 180 G0316160-180 160-180 300
G0120pcs 8-90 6,000

128



YDSHEINBHEER{EL)

#410 #430 E=E #430  #410 st =
8-12 5/16-1/2 - - - 19.2 8.8 12.9 10.8
10-16 3/8-5/8 - - - 19.2 8.8 12.9 10.8
1-20 1/2-3/4 - - - 20.0 9.6 14.2 1.7
12-22 1/2-7/8 - - - 20.2 9.8 14.6 11.9
16-25 5/8/1 - - - 20.8 10.0 15.0 12.1
16-27 5/8-11/8 - - - 21.3 10.4 15.4 12,5
20-32 3/4-1 1/4 - - - 21.7 11.3 16.7 13.3
23-35 7/8-13/8 - - - 221 115 17.5 13,5
25-40 1-15/8 15.0 26.3 17.1 225 1.7 18.3 13.8
30-45 13/16-13/4 158 27.1 17.9 22.9 11.9 19.2 14.0
32-50 11/4-2 16.3 28.5 18.3 233 12.1 19.8 14.2
40-60 15/8-23/8  17.3 30.6 19.4 238 12.5 - 14.6
50-70 2-23/8 18.1 31.9 20.2 24.2 13.1 - 15.2
60-80 23/8-31/8  19.4 34.4 21.5 24.6 14.0 - 16.0
70-90 23/4-31/2 202 35.6 223 25.0 15.0 - 17.1
80-100 31/8-4 21.9 38.5 24.0 25.6 16.3 E 18.3
90110 31/2-43/8 225 39.4 24.6 27.1 17.9 - 20.0
100-120 4-43/4 24.0 417 26.0 30.2 20.8 - 22.9
110-130 41/2-53/8 256 42.7 27.7 : - - -
120-140 43/4-51/2 2741 46.7 29.2 - : - -
130-150 51/8-57/8 285 51.3 30.6 - - - -
140-160 51/2-61/4  30.0 52.1 32.1 - - - -

129



BN 32

ERSHRER RUEE Big ERSHRER

HS1A HS-1A 1,000 TG06 =R Bw/-& 200
TG15W 15W 200 TGO7 =B K~ K58 200
TG60W 40W 200

TG8OW 80W 280

TGO05 TG-05 300

e A A :
}LL i.-”E T %E
3 —
BB\l : %

EiSHRR SR KRR EiSHRR FRAE B
HRO002 oE3 HA 1,500 CH5 50m 70
TAF FAITH 500 CH50 50Nm 400
TA 240

ax AfR
[T A e S

ESfi] : kg

BhsHRR RRAs NI B8 BidiwoR RS BE B8
10MR R UET10Mx0.08 1 80 GMo98 GM-98 TN T (1KE) 3.2 1000
15M 15Mx0.1 =

LRl

I'T

g E811] : i
BRHRGE 2 =R 18
MAYCO 1kg MAYCO 1kg SHE 600
MAYCO 400 MAY-TAP 400c.c. [BT\ 320
TAP THEEHETE 1kg SHE 560

130



ES[O) AN EAEEHLE]

[\

REFIMTE / 581 BE{i7 : 100032 A
BURR R AUBT MIEE #EsEmn) REGoores) | SEE® R MUEE MIRE SESSmm) FH1000PCS)
B42 4-2 3.2 6.0 m/m 1.6-3.2 870  B56 5-6 40 13.0m/m 6.4-9.6 2,200
B43 4-3 3.2 8.0 m/m 3.2-4.8 940  B58 5-8 40 16.0mm  9.6-12.7 3,900
B44 4-4 3.2 9.5m/m 4864 1,100  B62 6-2 48 7.6 mm 0.5-3.2 2,200
B45 4-5 3.2 1.0m/m 6.4-8.0 2,000 Be4 6-4 48 10.0 m/m 3.2-6.4 2,400
B46 4-6 3.2 125m/m 8.0-9.6 2,200 B66 6-6 4.8 13.5m/m 6.4-9.5 3,600
B48 4-8 3.2 15.0m/m 9.6-13.0 3,800 B68 6-8 48 165mm 95125 4,000
B52 5-2 4.0 7.0 m/m 15-3.2 1,500  B610 6-10 48  200mm  125-165 7,200
B54 5-4 4.0 10.0m/m 3.2-6.4 1,600

ES[OERHlE]
W

E§RiE] E5(i7 : 100052 A\
Shies (8 NHBT AHIRE  #EREmMm) EF1000PCS) B Shlet A% MHNBT HIIRE INEREmMmm) [E15(1000PCS)
A31 3-1 24 5.1 m/m 1.0-3.2 430 A55 5-5 40  127mm 8.5-0.5 430
A32 32 24 7.9 mm 3.2-6.4 450 A56 5-6 40  141mm 9.5-10.5 440
A4 4-1 3.2 58 m/m 1.8-2.6 270 A57 57 40  160mm  10.5-13.0 460
Ad2 42 32 74 m/m 2.6-4.2 280 A58 5-8 40  19.0m/m 13034 L 520
A43 43 32 8.9 m/m 4.7-57 290 A1 6-1 48  64mm 0.5-3.0 480
Ad4 44 32 10.2 m/m 5.7-6.5 300 A62 6-2 48  89mm 4.2-58 500
A45 45 32 1.4 m/m 6.5-8.5 310 A63 6-3 48 10.2m/m 5.8-6.5 540
Ad6 46 32 12.7 m/m 8.5-0.5 330 A64 6-4 48  127mm 6.5-9.5 590
A48 4-8 32 16.0 m/m 10.5-13.0 390 A65 6-5 48  160mm  115-135 640
A51 5-1 4.0 58 m/m 0.5-2.5 340 A66 6-6 48  191mm  13.0-165 690
A52 52 40 7.9 mm 4.3-55 370 A67 6-7 48  221mm  16.5-18.0 800
A53 53 40 9.4 m/m 5.5-6.5 400 A68 6-8 48  254mm  18.0-222 990
A54 54 40 1.4 m/m 6.5-8.5 420

131



e $RA% TS

R 103248 B &
T101 T 180 60
T102 24501 180 60
T105 hak 180 60
T103 = 180 60

T71 E 250 160
T72 X 250 160
T75 A 250 160
T73 = 250 160
T74 plty== 250 160

IR AR/ SSEHTE)

NIKO51 3 300
NIK052 XL 300
NIK055 A 300
NIK053 = 300
NIK054 Lt)=2 300

ERg)

TALEEY FY-I £ 100 m/m B : 12 m/m

B2
EfisimaR I\ RRAs B1%
XERNIKO02 NO2# 0.25 320
XERNIKO03 NO3# 0.30 340
XERNIKO04 NO4# 0.35 380
XERNIKO05 NO5# 0.40 420
XERNIKO06 NO6# 0.50 470
XERNIKO7 NO7# 0.55 600
XERNIKO08 NOB8# 0.63 690
XERNIK10 NO10# 0.80 1,660
XERNIK12 NO12# 2.00 6,000

132



BRI ERE A BT oR 2
RUTEILR B RTERATE - AT TRER
RS+ S EREA R T SR - 158
SERMEBRERER « BENRLT - LHEL
ERRISAMAERE - 28] - R WA » MEES
BRI HURIE -

‘@ mBEE I #00) B &
SREISHENL — AR
% KIREREE o
ity PRTRR 2 B
@ = @) (RETHE - _—
#400

o3mm: EfETIEIRER

=
a
i
B
[1:3)

FHRRE -

$58017E5XHRC 50°C XA
FERMREG - INTiEH -

ERRHIDDRZ
R -

3
3
a
m®

+

15 #800 #1000 #1200
1 IFe Ee =)= #E
1x4x100 510 510 400 455 455 455 455
1x6x100 800 800 600 740 740 740 740
1x10x100 1020 1020 810 968 968 968 968
R-3x100 1030 1030 1030 1030 1030 1030 1030
{8 2225
=S
EfisimsR N B B EEfi7 : #H
PENB NO.003 il S 60 BRI B8
PENA T e 40 20DB 1252 / # 70

133



=
|§
3
)
2
:J
1l

4/0GA DEBURRING SYSTEM

Ef : # Efi] =
B kiR BN EtS W =ik BN
NB3000 JJ7) 3PCS 440 NBS S10, S20, S30 64
NB5000 J17) 5PCS 520 NBS35 S35 80
NB3000SE ZRJJHE  4614HE 28,890 NBK101 BK101 67
NB1900 7J7) 10PCS S10 600 NBN8O N80 240
NB1902 J17) 10PCS S20 6

7o T S

PT802 PT803

B AkHmER
PT802 800
PT803 1,000

134



paEJIVKRA Y b
EfHRER
PH41280
PH40280
PH40450
PH55320
PH55450
PH65410
PH65550

MR
PH-41 2801
PH-40 2801
PH-40 4501
PH-55 3201
PH-55 4501
PH-65 4101
PH-65 5501

FIRREENIETIN

B JEE 3V KFFEL

==
200
150
290
290
380
580
900

EfiimaR

PH41280A
PH40280A
PH40450A
PH55320A
PH55450A
PH65410A

=N~ [

=
H-41
PH-40
PH-40
PH-55
PH-55
PH-65

15

2801
2801
4501
3201
4501
4101

g il
116~1/4  13PCS
1565  13PCS
116~1/2  29PCS
1.0~130  100PCS
10~130  121PCS

135

Sl
1/64"
0.5m/m
1/64"
0.1 m/m
0.1 m/m

TOOL
700
680

ke
SAM

700

700
1,000
12,000
21,000

B2

B
200
150
290
290
380
580

BN - #

SAMEEER
1,800
1,800
3,000
30,000
48,600



2K#Y15,000rpm

EhsiweR B

R

B84 :

=3

EhisimsR ahe

Bk

DREMEL

Efil: 8
B8

2K LEVTOR 110V5060BA& 4 m/m 10,000 USA275 USAEIZ=kS O75#ASEE 3,200
USA2750 USAEIZERR  2750#({d=f+#E) 3,800
» o
g5 15 oreneL EEZI|SE
=1 B A BAT %
EHSHRoR Rign B SRR [RhE BusR Big
KE13B D13 13mm 7,600 USA290 USAE=ke 290# 1,600
KE23B D23 23mm 2# 13,000  T290 Fal=% it 110V 900
KE23BV D23 23mm 2# 220V 15,000  T290V Fal=% st 220V 1,000
5 ~ Vaxax
N 3 > EE‘ %ﬁ E* \
/ I)J\== 2K 12 y I
Adhesive,Meter ¥5EETEARIBE SR I EEBRYE
Z=Rs ©
==L (WA
FMPO M D 80 80
FMP1 M = 80 80 L
FMP2 M = 80 80
FMP3 M #I 80 80 N
FMP4 M = 80 80 EEfi : #E
FMP5 M =2} 80 80 SRR mE B
FMP —48 11,520 IWS FEEET 1,400

136



hAVL B2 hAEVSREESE

Efi] : 32 BN 32
EfisimeR UIER=s EFREEE = L HRER e INTAR= B8
1,100 OX3 /_l \BY 0.5-2.0 840
1,800 (0),¢ 2.0-5.0 900

2

Bi: =
BhSiRR @R R R ER&HR5R =] RS ==las)
OX Ey3=z= MASTER25-250kg 1,100  AC Z¥RZ  MASTER0-25kg 1,100
OX5 fisFHZE  0-25kg 270 AC2 frFE= 0.2kg 270
OX5 iz 0-250kg 270 AC2 @E%E  0-25KG 570
ACH1 R (B) 140

Vapea3eidls

FOR OXYGEN .':.“:"‘..::‘:f::‘ o o v e |

B : 48
BRI R fE1
AC3/16 1 —HySF—1EE3/16,5/16 1,600
AC5/16 EIHET3/16,5/16 1,600
AC17 —NF—F 1,600

137



e s s e AUgR
BAER o KDS401 KDS 401+# 150
34 36 m/m 3# 780 120 KDSL17 KDS JI\T)iESE 600
o# 39 m/m 2# 780 120  KDSL19 KDS IRHATN 150
KDSH11 KDS H11 400
e\ 1 EIJ LB1014 KDS717] 1477) 8
KY V2 ) LB107 KDS717] 77 8
LB107H KDS7J7] 77 60
B /)
— [
EAIRSE SRR EEfi1 =g R
BUTI ) 11 700 -{ ol
e
Bfi] 2
ERsHRER RS B3
3SQUARE4 4" 320
3SQUARE5 5" 350
3SQUARE6 6" 370
3SQUARE8 8" 440
3SQUARE10 10" 480
TR I8 uE ™ ﬁzz"‘|||$@1fjlﬂ-’g"
OlL81 8"X2"X1" 600 480 -1 on
E517 : B
BRI
Bfil: & ST1 150 m/m 500

B
20

138

ARG
STONEPEN




3)[ma][ I} B JEE A

Bf] 32 BEf\7 - 4
E SRR BER J EhkiRER FRAR B
AP-150 6" 600 0,050 0203 0.4 0.5 mim 5
L6 6" (%) 209 TOP1 060708 0.9 mmE3k 3000
L5 5"(B%) 180

RIEA

Bosch BEfi7 : 2 King BN : 2
EfdmeR B 5% = ERS oS BEEY FiE B8
T101B T-101B 7T A~ FER 40  King124 1# 24T BIR 34
T144D T-144D 7T AR~ EK 40 King314 3#9T. 14T AIHE 24
T244D T-244D 7T E ~ EUK 40  King624 6# 24T =Fz2] 70
T118A T-118A 24T i IRae 40
T118G T-118G HiEEA 70

Iv

FEE  WRFEN K5 J)

B[ : 32
ERLHRER AR B8N EBfil (B8 W TGRSR S CIEIBE)  EEfu 18RS
HO06 12"f4% 18T < 50 TCH BRI (H) 2-10m/m % 710
SMoX1218  12"(%®)  18T24T G 640  STCT 1# (B) 5mmlAE 3T 4,200

STC2 2# (H) 8-5m/m ¥J 4,000
STC3 3# (H) 2-3m/m ¥J 3,800

139



USA
' t % ]
SC5
SC3/16
SC1/4

EREHRIR
E-030(E-0) 30
E-035(E-1) 35
E-045(E-11/2) 45
E-050(E-2) 50
E-055(E-3) 55
E-060(E-4) 60
E-065(E-5) 65
E-080K5 80

5

TR IR 28

57

fismee RIS

SC5/16
SC3/8
SC1/2

Y T

3/16~1/2(55z48) (&
E553/16",1/83@F

1/4"
5/16"
3/8"
1/2"

80
90
90
105
110
120
130
200

232
245
255
270
300
315
315
900

o

B hkimER
USA5
YC5
USA6

140

fahe
USA

Y.C.(B)

USA

BN 2

5828 B
262 260y 320
280 400g 360
300 580g 380
320 810g 450
355 1,050g 490
375 1270 640
380 1,540g 900
980 4,500g 3,000
BS(i] B
18 840
= 140
= 160
53 190
= 210
= 250
BN\ : 48
R B
5374 500
5324 160
6374 1,000



BN 32

EfisimER E ki RS Bt
364 1/4 1/4" 540 364 1/2 1/2 1,000
364 5/16 5/16" 580 364 5/8 5/8 1,680
364 3/8 3/8" 760 364 3/4 3/4 1,920

s ERLIiE

B : 2
EsHmER RS {FARHE
Efi/:# 274 274-FC 1/8~11/8 280
127 127-FB 1/8~5/8 160
1 226 1226-FA 3/16~5/8" 640 2741 7] 274#H 50
275 275-FS 1/8~3/4" 900 1271 T37] 127#H 50

=155y EREEH

Bfi] 2

BRI BU5R RS B8
1.25~8 mm? 710

1.25~14 mm? 1,060
5.5~22 mm?> 1,400

RYOS RYO-8(£)
RYO14  RYO-14(8)
Bf7:2 RYO25  RYO-25(8&)
G =71  RYO38  RYO-38(&) 8~38 mm> 1,900
)
)
)

EfiimsR BUER
RYC250 RYC-250 250mm? 2,200 DT8 DT-8(H 1.25~8 mm? 1,300
RYC400 RYC-400 400mm? 2,600 DT14 DT-14(H 1.25~14 mm? 2,000

RYC500 RYC-500 500mm? 3,800 RYO080 RYO-80(& 8~100 mm2z 3,600

141



e

a)|
-
c
1
du
I

EfisimsR
*89
*810
*1012
*1113
*1214
*1417
*1719
*1921
*2123
*2224
*2326
*2427
*2932
*3032
*3235
*3236

B kiR
OPENG67
OPENG68
OPEN810
OPEN1012
OPEN1113
OPEN1214
OPEN1417
OPEN1719
OPEN1921

R

8x9
8x10
10x12
11x13
12x14
14x17
17x19
19x21
21x23
22x24
23x26
24x27
29x32
30x32
32x35
32x36

B

EEfi] : 77

B
420
430
440
480
480
620
720

1,000
1,060
1,100
1,200
1,800
6,700
6,700
7,300
7,300

e

EhsiwaR RS B

UNO6 6m/m 120 UNO025
UNO7 7m/m 120 UNO26
UNO8 8 m/m 120 UNO27
UNO09 9m/m 120 UNO028
UN10 10m/m 130 UNO29
UNO11 11 m/m 140 UNO30
UNO12 12m/m 160 UNO32
UNO13 13 m/m 180 UNO33
UNO14 14 m/m 180 UNO034
UNO15 15m/m 210 UNO35
UNO16 16 m/m 210 UNO36
UNO17 17 m/m 240 UNO38
UNO18 18 m/m 280 UNO41
UNO19 19 m/m 280 UNO042
UNO20 20m/m 350 UNO044
UN021 21 m/m 350 UNO046
UNO22 22 m/m 400 UNO048
UN023 23 m/m 500 UNO50
UN024 24 m/m 500

R

RS

6x7 m/m
6x8 m/m
8x10 m/m
10x12 m/m
11x13 m/m
12x14 m/m
14x17 m/m
17x19 m/m
19%x21 m/m

230
230
240
260
290
300
380
480
560

BALHRGE

OPEN2123
OPEN2224
OPEN2326
OPEN2427
OPEN2629
OPEN2932
OPEN3235
OPEN3541

142

RS

21x23 m/m
22x24 m/m
23x26 m/m
24x27 m/m
26x29 m/m
29x32 m/m
32x35 m/m
35x41 m/m

slEELTE

LA

Ehisimek RS

25 m/m
26 m/m
27 m/m
28 m/m
29 m/m
30 m/m
32 m/m
33 m/m
34 m/m
35 m/m
36 m/m
38 m/m
41 m/m
42 m/m
44 m/m
46 m/m
48 m/m
50 m/m

EEf1I
]
17
]
]
]
3l
]
17

B8
560
560
720
900
920
940

1,090

1600
1,800
2,070
2,380
2,890
2,970
3,280
3,670
4,260
4,750
5,150

630
960
960



8RR SE

11Pcs.
COMBINATION WRENCH SET

PROFESSIONAL QUALITY

SIZE: 6mm

ORGED

@ FULLY DROP F
D0 AND TEMPERED

© HARI
e POLISHED AND TRIPLE CHROME PLATED

EN - 7

ERGHRER B
UNO11PCS 8.10.11.12.13.14.15.17.19.22.24 2,540
UNO14PCS 8.9.10.11.12.13.14.17.19.22.24.27.30.32 5,200
Y el o -~
‘ p—
A NES |
E5{\7 : #
ER&HR5E RIS B8
KT6 01, m/m, 6pcs 400
o H
PA N I
BN : #
Eh&HRGR RS B8
160

CTC®6 09, m/m, 6pcs

143



Ft1EH 5[

<& ¥
BN ¥] B : 17
ER&HmoR RRhE FRAE B1g N Sh&imsR [ARhE R B
CK150 6" 1,400 GK150 axl 6" 1,400

ax
BLARRE

i ] AR

! REESEAP .
F. u—t,{ P, r.rc.g.r.r.r.ro.g'.r.r.r.M.r.r.r.@r.r.r.r.u;.r.r.r.rg.r.r.r.rr.'l;.r.r.r.r.r.r.r.r.;-‘_r.r.r.ni

il - 52 B{7 : 2

BhkHmsR E ik BUER RRAs B8
GLASSJY 1256 YEehR 560 BOX BOX 5XE 2,000

RRERIR =

LA
L

EEILTE

BN+ 32

SRS A ES1] e B ) SRR KA fB15
H150 6"x150 ) 1,080 7810 8x10 100
H200 8"x200 1 1,440  Z1012 10x12 120
H250 10"x250 ) 1,800 71113 11x13 140
H300 12"x300 11 2,160  Z1214 12x14 140
H375 15"x375 = 500  Z1417 14x17 160
H450 18"x450 < 1,000  Z1719 17x19 180

Z1921 19x21 240

144



-~
=

EhisimsR
FSS125
FSB125
FHS125
FHB125
FSS175
FSB175
FHS175
FHB175
FSS230
FSB230
FHS230
FHB230

RRAs
SS-125
SB-125
HS-125
HB-125
SS-175
SB-175
HS-175
HB-175
SS-230
SB-230
HS-230
HB-230

&
HAEM
BHAHRM
TRHEM
TXFRHAT
HAREM
B AR T
TXFREM
7XFHRIT
FAREM
BHAERM
aGEEN
TR

B2

E ik RRAs B1S
T10WR 5"7",10" 100
T8R 8R9R 200
T11R 1R 200

il it EH

BN - 77
EhikHRGR R AR B
T2001 B 8" 1,400

==L (WAES
FAITH (&) ﬁg é A‘H‘
400 TI= =92 "\ﬁ
400
400
400
400 200
400 200
400 200
400 200
ggg 807 ¢ 4]
500 ERSHRER i & Big
200 FK200 e 8" 900

145



VISE-GRIP Al ook
COMPANIES. INC.
® @’ﬁ :
=S hR B B EH =i
EBIEFFEEEER - tRsesTE
i N G E & it oy | A8 E &
=155 8] 10WR 600 24 R 2,200
7 WR 600 18R 1,550
5 WR 560 1R 985
4 WR 530 6 R 680
10 CR 620
9 DR 1,000
7CR 620
18 DR 2,000
10R 600
- T — 24 SP 2,400
7R 500 18 SP 1,700
11 SP 1,050
9P 1,000
9 LN 950 6 SP 800
4 SP 680
6 LN 720
4LN 680 20 R 1,550
9 BN 1,100
RS g 6 BN 1,000
y 4 BN 860
8R 950
IR HkeH 10 LW 1,000
TR 7LW 850
41LW 700
9R 1,200
Y5 FEE 12 LC 1,400
Vi
6LC 1,100
9AC 1,400
RR 900
80DB 143%#8 (MimT2L)
5WR, 7ZWR , 10WR , 7CR 12,000 e
10CR, 6LN , 6R , 7R, 8R (48) BAH | 49 p 1,700
9R, 10R, 11R, 18RE20R (I EHE@
004-AT 10348 (HIRTE2) 1500 M)
4SP ,6SP, 11SP, 18SP, 6R , 11R, ’
18R, 8R, 9R , 20R (#8) 310 S 1,500
(€i1D)
003-AT 11378 (MiETEE)
10R , 7R, 10WR , 7WR , 5WR , 4WR , 7(':0;) 318 R 1800
Fis| ,

10CR, 7CR,4LN, 6LN , 9LN

146



BONDHUS" J\B

BEN7 : #H
B AkimER o B
351H101 7\E105Z4#8, 1Y, m/m 50
Q8 DREY7 SZHE 240
K8 ERI8ZHE 240
Faith BREYINR103Z4E 360

ISP

N
c
e
clet
S~
[mll
1]
=H
-H
>
H
.xi
7
St

Bl : K
ESHRTR BUSR FxBxE Bi&
1A 1A 108x51x2.8 20 i Bl R
12A 12A 108x51x2.8 20 KEELDE il B8
9A 9A 108x51x2.8 35 MT230 BOFT A 500
10A 10A 108x51x2.8 20 MT3300 N ERLHR 640

TAXTERT

B2
EfisimsR RRAS Bt
PDA100 180mm 80
PDA100A 180mm(#iS5) 150

147



O
"

FOR

®

EhisiRR

X'o,

—]
LH

2

= eororerets ™

B

NO.

44106A
77407A
77408A
77409A
77410A
77411A
77412A
77413A
77414A
77415A
77416A
7T7T417A
77418A
77419A
77420A
77421A
77422A

ElsHmaR

NO.

9.4
11
12.2
13
14.6
16
17.2
18
19.7
22
23
24
25.5
26.6
28
29
30

330
330
300
300
300
320
320
320
340
360
360
360
420
420
550
550
600

7741.4A
7745.16A
7743.8A
7747.16A
7741.2A
7749.16A
7745.8A
7743.4A

1/4
5/16
3/8
7116
1/2
9/16
5/8
3/4

10
12
14.6
16
18
19.7
23.5
26.6

148

300
300
300
300
300
300
300
300

360
360
360
400
400
450
480
500



THS

—_—

/\

B eim

LINE

LA

BArH8
EhSRR AR =]
2097 O-TRINBRT 2,000

2,2.5,4,5,6,7,8,10mm
2097B(FR#) O-THNART 2,300
2,2.5,4,5,6,7,8,10mm

B
EiSHReR FRAR REmM/m =t
72402 2 130 120
724025 2.5 130 120
72403 3 130 130
72404 4 184 150
72405 5 184 160
72406 6 238 200
72407 7 238 250
72408 8 238 260
72410 10 238 300
7243.32 3/32" 130 140
7247.64 7/64" 130 150
7241.8 1/8" 130 150
7245.32 5/32" 184 170
7243.16 3/16" 184 180
7247.32 7/32" 238 220
7241.4 1/4" 238 270
7245.16 5/16" 238 330

149



FORCE, TEItRF

TEIZEANRS TEIERIMZERT

BiZ B2
g W8 BEmm BR Wi Mg BEmm B
72606 T6 130 210 72707 T-7H 130 260
72607 T7 130 210 72708 T-8H 130 260
72608 T8 130 210 72709 T-9H 130 260
72609 T9 130 210 72710 T-10H 130 260
72610 T10 130 210 72715 T-15H 130 270
72615 T15 130 220 72720 T-20H 134 280
72620 T20 134 230 72725 T-25H 134 280
72625 T25 134 230 72727 T-27H 238 290
72627 T27 238 240 72730 T-30H 238 290
72630 T30 238 240 72740 T-40H 238 350
72640 T40 238 300 72745 T-45H 238 400
72645 T45 238 330 72750 T-50H 238 420
72650 T50 238 350 72755 T-55H 238 430
72655 T55 238 360 72723420 T-20H 234 310
72623420 T20 234 260 72723425 T-25H 234 310
72623425 T25 234 260

BN

TEYLKHZ 7 NN (BBAR) i 8 EEmm B

72502 2 130 160

725025 25 130 160

72503 3 130 170

72504 4 184 180

72505 5 184 200

72506 6 238 240

72507 7 238 290

72508 8 238 300

72510 10 238 330

7253.32 3/32" 130 180

A 7257.64 7/64" 130 180

7251.8 1/8" 130 180

@ 7255.32 5/32" 184 210

7253.16 3/16" 184 220

s FE==—=— =1 - ..

7257.32 7132 238 260

b 7251.4 1/4" 238 260

% 7255.16 5/16" 238 310

%}w £ 8 7253.8 3/8" 238 380

150



FORCE, RAEFERINF

REESTEGSRF TRESRT (TEBR)

B2 B2
EfisimsR ARt fEmM/m B8 EfisiimER ARt KEM/m B1S
74425004 4 250 320 77430004 4 300 330
744250045 4.5 250 320 774300045 4.5 300 330
74425005 5 250 320 77430005 5 300 330
744250055 515 250 320 774300055 5.5 300 330
74425006 6 250 320 77430006 6 300 330
74425007 7 250 320 77430007 7 300 330
74425008 8 250 320 77430008 8 300 330
74425009 9 250 320 77430009 9 300 330
74425010 10 250 320 77430010 10 300 330
74425011 11 250 330 77430011 11 300 330
74425012 12 250 330 77430012 12 300 340
74425013 13 250 340 77430013 13 300 340
74425014 14 250 360 77430014 14 300 350
74440008 8 400 360 77440008 8 400 380
74440010 10 400 360 77440010 10 400 380
74440011 11 400 360 77440011 11 400 380
74440012 12 400 360 77440012 12 400 400
74440013 13 400 380 77440013 13 400 400
74440014 14 400 400 77440014 14 400 420
7442503.16  3/16" 250 340 7743003.16  3/16" 300 380
7442501.4 1/4" 250 340 7743001.4 1/4" 300 380
7442505.16  5/16" 250 340 7743005.16  5/16" 300 380
7442503.8 3/8" 250 340 7743003.8 3/8" 300 420
7442507.16  7/16" 250 350 7743007.16  7/16" 300 420
7442501.2 172" 250 360 7743001.2 172" 300 450
7442509.16  9/16" 250 380 7743009.16  9/16" 300 460
2134 135z#8 5,500 2095 9%%# 5,6,7, 8,9, 10, 4000

4,45,5,55,6,7,8,9, 10, 11, 12, 13, (300 m/m)

11,12, 13, 14 (250 m/m)

151



— vl ==
FORCE, FEJE(E sockeT wReNcH

Rig 14" 1/4"RE  3/8" 3B"REE 12" 12"RE  3/4"
4 80 120

4.5 80 120
5 80 120

5.5 80 120
6 80 120 90 150
7 80 120 90 150
8 80 130 90 150 100 200
) 80 130 90 150 100 200
10 80 130 90 150 100 200
11 100 140 90 150 100 200
12 100 150 90 150 100 200
13 120 160 100 150 100 200
14 130 180 100 160 100 210
15 100 160 120 220
16 120 160 120 220
17 120 160 120 220 280
18 140 180 130 220
19 140 180 130 220 280

20 150 200 150 230 280

21 180 200 150 230 280

22 180 250 150 230 280

23 220 280 150 250 300

24 240 300 160 250 300

25 180 300 320

26 180 300 320

27 180 300 320

28 220 360 320
29 220 360 350
30 220 400 350
31 250 430 380
32 250 430 350
33 350
34 420
35 420 700
36 420 700
38 450 750
40 550
41 550 750
42 550
44 700
46 700 1,000
50 800 1,200
54 1,200 1,200
55 1,200 1,400
58 1,400 1,400
60 1,400 1,600
63 2,000
65 2,000
67 2,500
70 2,700
71 2,800
75 3,500
77 4,200
80 4,500

152



Py -
FORCE., EFBLY sockeT AccESSORIES

L.

24 58 /IR

B B
EREHRIR FRA8SIZE REL B8 ER&HRT FRA&SIZE REL B8
H1/4%2 1/4" 2" 70 22540 1/4" 5"(125M/M) 300
H1/4 k4 1/4" 4" 80 23540 3/8" 10"(250M/M) 450
H1/4 k6 1/4" 6" 110 24540 1/2" 15"(380M/M) 700
H3/8%1-1/2 3/8" 1-1/2" 80 24541 1/2" 18"(450M/M) 750
H3/8 k3 3/8" 3" 80 26540 3/4" 19"(475M/M) 1,500
H3/8 k6 3/8" 6" 130 21540 1" 24"(600M/M) 7,000
H3/8%10 3/8" 10" 270
H1/2:K3 1/2" 3" 150
H1/2:k5 1/2" 5" 180
H1/2K10 1/2" 10" 300
H3/4 X4 3/4" 4" 580
H3/4 k8 3/4" 8" 650
H3/4X16 3/4" 16" 1,100
H12k8 1" 8" 1,500
H1:X16 1" 16" 2,000

L 258 IRAT 58/ J/B1%

WL 2NTONTRIN R R VI M S O 1 A P | Nt DA s

B BII®

EhiRee 3RHRSIZE EEL fEi% Il ThGRSE  ARIRSIZE REL
L1/2 1/2" 10" 550 H205 1/4" 5"(125MM) 150
L3/4 3/4" 13" 1,000  H308 3/8" 8"(200MM) 190
H410 1/2" 10"(250MM) 210
H412 1/2" 12"(300MM) 500
H620 3/4" 20"(500MM) 1,200
H130 " 30"(750MM) 3,000

153



f— — l *-
FORCE, =] E{—- SOCKET ACCESSORIES

AL

B R
E R FRAESIZE B
H1/4 1/4" 180
H3/8 3/8" 180
H1/2 172" 230
H3/4 3/4" 1,300
H1 1" 2,000
SEEE
B
e FRI8SIZE  EEMM =4
CRV1/4 1/4" DR 155 800
CRV3/8 3/8" DR 215 800
CRV1/2 1/2" DR 265 800
CRV3/4 3/4" 505 2,800
CRVA1 1" 800 8,400
R IR AR SR EY
FE)A/) VB #85E
B R
ERS RS FRIB M CSIZE B8
HD2030 1/4 "Fx3/8" M 170
HD3020 3/8"Fx1/4" M 170
HD3040 3/8"Fx1/2" M 180
HD4030 1/2"Fx3/8" M 200
HD4060 1/2"Fx3/4" M 320
HD6040 3/4"Fx1/2" M 400
HD6010 3/4"Fx1" M 550
HD1060 1"Fx3/4" M 700

154



X% ",H ét':f”, ; é

B4

EfisimsR 2203 B8 2300

13xEE4,4.5,5,5.5,6,7,8,9,10, 11,12, 13, 14
IXSEENE

2X 1R

IXTEET)BR

IXB O EHE

1IXT31%

BRRRRRRLL °-=--
Qo000 o

ETe

2253 B8 3100

11xEE 4,5,5.5,6,7, 8,9, 10, 11, 12, 13MM
IXREF5,6,7,8,9, 10, 11, 12, 13MM
2x1E1F 2", 6"

1IXEENR

1XJ51%

BN
ERHRER 2281 B8 2600

11xE34, 5, 6,7, 8,9, 10, 11,12, 13, 14
Ax7\BOSEER S, 4, 5, 6,

3x0 FEBIEF0.5x4, 1.0x5.5, 1/2 x7
3x® FEBIEFNOT, NO2, NO3
1XHENT

2xIBIR 2", 6"

1IXTEURT)BR

1XEEE

1XJI1E

BEfi] - 48
E SRR FFRIERY SIZE B
*K3051M 1EENT 2,200
2x1EE1-1/2", 3"
ANEEER

16(5/8")20.6(13/16)

K3051 1x/&E)1¥RH3D 1,600
2xiE1§1-1/2" 3"
ANEEERF
16(5/8")20.6(13/16)

M #0 Fisth E7
155



EHReE *3073 B 1,600 ERSHRER 3061 fE1% 1,300
7x3/8'DRERER 6x3/8" DREZER
E5, E6, E7, E8, E9, E10, E12, E14 T9,T10,T15,720,T30,T40

41417 "B SEERSM

(T
a

i
s

FORCEa 0 211

The Bast Tut Teu

BN 18 BN

SRR #2112 B 2,700 e K4141 = 4,300
6x1/4 "DR T10H,T15H,T20H,T25H,T27H,T30H Ix7\AIBEERE( 4, 5, 6, 8,10, 12, 14,17, 19)
5x3/8 "DR T40H,T45H,T50H,T55H, T60H 15", 1XEENFCR-V

1XT B5E77/81F12", 1xEB[#EEE

EfisimeR #R1& SIZE RE(MM) B8

Eﬂ@%ﬁ-}ﬂ KT6 T6 50 210

KT7 T7 50 210
KT8 T8 65 210
KT9 T9 65 210
KT10 T10 70 225
KT15 T15 70 240
KT20 T20 85 240
KT25 T25 85 255
KT27 T27 100 255
KT30 T30 100 270
KT40 T40 100 280
KT45 T45 100 312
X2086 T8.T10.T15.720.2,100
T25.727.730.T40

156



Yalax

EifE socker seTs

BP0 0,0' 7000006086
A ;

‘: "" .

ELIVR e BT - 48
E SRR %3251 B 3,400 S 33351 B 4,400
17xE6, 7, 8,9, 10, 11,12, 13,14, 15, 16, 17, 26xE[ 7/8", 13/16", 3/4", 11/16", 5/8", 9/16", 1/2",
18, 19, 20, 21, 22 716", 3/8", 5/16", 1/4", 6, 7, 8, 9, 10, 11, 12,
1XEENE 13, 14, 15, 16, 17, 18, 19, 21
1XEQEE IXNEEEF5/8" 3xIEZE3",6",9"
1XT RS )BHE 1CHENSE 1XEOEE
2x¥E1E3", 6" 2x B {45834, 2—3
X NEEEF16, 21 1x;B1E5E3/8", 1/2" ERFH#ESOCKET SET
1 /2" =t H
= ||:|:], i1 SOCKET SETS
=, . e \\

B oG eeesesssTty
s = S

BGHRIR K4243 K4243S ERHRER K4173 #K4173S
18-EfF 18-EfF 13-EF 13-EF
10, 11, 12, 13, 14, 3/8", 7/16", 15/32", 1/2", 9/16", 8,10, 11,12, 13, 5/16", 3/8", 7/16", 1/2", 9/16",
15,16, 17, 18,19, 19/32", 5/8", 11/16", 3/4", 14,15,16,17,19, 5/8" 11/16", 3/4", 13/16",
20, 21, 22, 23, 24, 25/32",13/16", 7/8", 15/16", 1, 21, 23, 26 7/8",15/16", 1, 1-1/16"
27, 30, 32 1-1/16", 1-1/8", 1-3/16", 1-1/4"
1IXSEENR

1T Y58 7]81F10" 1x;HEENFCR-V 1XTEY5877784F 10"

IXE [ 2x1Z1E5",10" IXEZE 5"

1XFELETIIRAE IXNEZEERF 21MM
{Bt& 5,000 5,500 B+% 3,000 3,300

157



FORCE, 1/2"ERIESFHH socker seTs

& 1748 - ’ E(4A

EhisiRR k4093 B , EhsiRR 4102 Bt 2,700
9-1/2'DREHER 9-1/2'DREHER
E10,E11,E12,E14,E16,E18,E20,E22,E24 T20, T25, T27, T30, T40, T45, T50, T55, T60

SR - s

SRR K4067 fE1% 2,800 ERiLHRER #4041 =k 2,700
6-1/2'DRREZEHER 4-1/2'DREREF
E10, E12, E14, E16, E18, E20 2R ARTHE T40x120MM, T45x120MM,

T50x140MM, T55x140MM

SR BN

EENHE
ERSHRE #5091 B 1,200
25092 (HhZE) 1,300
T10~T50 92 A
T10,T15,T20,T25,T27,
T30,T40,T45,T50

158



FORCE, O 3/4"EF#H socker seTs

3/4" 21PCS 3/4 " 15PCS

TR | (g

SRR 36201 E1&13,000 SRR *6141 {511,000

%#6201S {B%%15,000 ¥6141S {&4%13,000
16X ERF 16X Ef 10-E8 10-E1F
19, 21, 22, 23, 24,26,  7/8",15/16", 1", 1-1/16", 1-1/8", 22,24,27,30,32,36,38, 7/8" 15/16", 1", 1-1/8",
27,29,30, 32, 35,36,  1-3/16", 1-1/4", 1-5/16", 1-3/8", 41,46, 50 1-1/4",1-7/16", 1-1/2",
38, 41, 46, 50 1-7116", 1-1/2", 1-5/8", 1-3/4", 1-5/8", 1-3/4", 2"

1-13/16", 1-7/8", 2"
1CHENE

1XEENE 2xIZIE 4", 8"
2x1E1Z 4", 8" 1XBIE

1818

;i
§ B :‘ﬁﬂ SOCKET SETS

AL

148 B8
#8211 {B4&40,000 [l SRR #8141 {E#%27,000
3£8211S {8%%40,000 *K8141S {E1828,000
17xER= 17X ER 10X E(S 1-E7
36, 38, 41, 46, 50, 54,  1-7/16",1-1/2", 1-5/8", 1-11/16", 1-3/4", 36, 41, 46, 50, 55, 60,  1-7/16",1-1/2", 1-11/16", 1-7/8",
55, 58, 60, 63, 65, 67,  1-13/16", 1-7/8", 2", 2-1/8", 2-3/16", 65, 70, 75, 80 2', 2-1/4", 2-3/8", 2-5/8, 2-15/16,
70, 71,75, 77, 80 2-1/4", 2-3/8", 212", 2-5/8", 2-34" 3-1/8
2-15/16", 3-1/8"
1OHENF 32"
1x/B1%F 22"
1x>§§)3’|‘?= 32" 2XT§¢$ 8", 16"
1X/81%F 22"
2xiE1 8", 16"

159



k]
6
7
8
3
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
41
42
46
48
50
52
54
55
56
58
60
63
65
67
70

3/ n

110
110
110
110
110
110
110
110
110
120
120
120
140
140
180
180
180

3/8" KA

150
150
150
150
150
150
150
150
150
180
180
180
200
200
230
230
230

1/2"

140
140
140
140
140
140
140
160
160
160
160
160
180
180
180
200
200
240
240
240
290
290
300
320
320
400
420
420
450

480
520
580

1/2"RE

220
220
220
220
220
220
220
240
240
240
250
250
280
280
280
330
330
370
370
370
450
450
450
460
460
700
700
780
780

780
850
850

200
200
200

220
220

220

230
250
270
300

12" pRE  3/4"

350
350
350
350
350
370
370
370
370
370
370
430
430
430
430
430
450
450
470
500
500
550
650
650
820
820
900
1,100
1,400
1,400
1,500
1,700
1,700
2,300

160

BR
3/4"RE

620
620
620
620
620
620
620
620
650
650
650
650
650
700
700
700
700
760
760
800
850
800
1,300
1,300

1,700

1,800

18

19
21
22
23
24
25
26
27
28
29
32
33
34
35
36
38
41
46
50
52
54
55
56
58
60
63
65
67
68
70
72
75
76
77
78
80
85
88
90
95
100
105
110
115
120
125
130

1"
620
620
620
620
620
620
620
650
650
650
650
700
700
700
720
900
900

1,200

1,500

2,000

2,000

2,000

2,200

2,200

2,400

2,700

2,900

3,200

3,500
4,500
5,200
5,500

5,600
7,000

7,800

B

900
900
900
900
900
900
900
900
900
900
900
1,000
1,000
1,000
1,050
1,050
1,200
1,800
2,000
2,200
2,300
2,300
2,400
2,500
2,700
3,000
3,300
4,200

4,300
6,000
8,000
8,000

9,000

EfLR
1-1/2"

7,200
7,500
8,000
8,500
8,800
9,000

9,200
9,500

10,000

10,500
11,000
11,500
12,000

12,500
13,000
13,500
17,000
18,000
26,000
29,000
31,000
33,000
34,000
35,000
40,000
50,000



o = FhzEs =71 H
Faith REIEROEF
(IMPACT SOCKET ACCESSIORIES)
R E) 5 1a5E RENEIT

BILR B
ERSHRR }RAESIZE B EhsiwoE  RI&SIZE REL Bi&
AD3020 3/8"M(F)x1/4" 4 (M) 160 A3/8K3 3/8" 3"(75MM) 250
AD3040 3/8" U (F)x1/2" (M) 170 A3/86 3/8" 6"(150MM) 300
AD4030 1/2"(F)x3/8" 5 (M) 220  A1/235 1/2" 5"(125MM) 300
AD4060 1/2"[M(F)x3/4" (M) 300 A1/22K10 1/2" 10"(250MM) 450
AD6040 3/4" I (F)x1/2" (M) 400  A3/4K4 3/4" 4"(100MM) 850
AD6080 3/4" I (F)x1"H(M) 520  A3/4K7 3/4" 7"(175MM) 950
AD8060 1"[H(F)x3/4" (M) 850 A3/4K10 3/4" 10"(250MM) 1,050
AD80120 1" (F)x1-1/2" (M) 1,200  A3/4313  3/4" 13"(330MM) 1,300
AD12080 1-1/2"M(F)x1" (M) 10,000 AlK4 1" 4"(100MM) 1,800
A1%7 1" 7"(175MM) 2,000
A1310 1" 10"(250MM) 2,100
A1K13 1" 13"(330MM) 2,500

REIEOELE
BMR
e T FRAESIZE Bi&
A3/8 3/8"D.R 350
A1/2 1/2'D.R 400
A3/4 3/4"D.R 1,700
A1l 1"D.R 2,400

161



STRAIGHT SHANK DRILLS

48 (Material) : HSS A% : mm - ¢/ K(NT/PCS)
wiE R OFR o wig MR RR g M o BROER g W opgg BRORR g
. Flute ~ Overall , Flute ~ Overall \ . Flute  Overall : , Flute  Overall .
Dia. Length  Length Dia.  pength Length  Price Dia. Length  Length Price Dia.  pength Lengn Price
0.2 3 19 | 180 36 | 48 76 38 70 | 73 | 105 | 93 104 | 98 | 133 | 230
03 | 35 | 20 110 37 | 48 76 38 7.1 75 | 108 | 108 10.5 | 100 | 137 | 230
04 | 55 | 24 90 38 | 48 76 38 7.2 75 108 | 108 10.6 | 100 | 137 | 240
05 | 75 | 27 75 39 | 51 79 38 73 75 | 108 | 108 10.7 | 100 | 137 | 240
06 | 85 | 30 60 40 | 54 83 38 74 78 1 | 108 10.8 | 103 | 140 | 240
0.7 10 32 50 4.1 | 54 83 45 7.5 78 | 111 | 108 109 | 103 | 140 | 240
0.8 11 34 38 42 | 54 83 45 76 | 78 | 111 | 120 11.0 | 103 | 140 | 240
09 13 36 38 43 | 54 83 45 7.7 81 114 | 120 11.1 | 103 | 140 | 280
1.0 18 40 35 44 | 56 86 45 7.8 81 114 | 120 112 | 106 | 143 | 280
1.1 20 42 32 45 | 56 86 45 79 81 114 | 120 113 | 106 | 143 | 280
12 20 42 32 46 | 56 86 52 8.0 81 114 | 120 114 | 106 | 143 | 280
1.3 22 45 32 47 | 39 89 52 8.1 84 | 117 | 140 1.5 | 106 | 143 | 280
14 23 48 32 48 | 59 89 52 82 84 | 117 | 140 11.6 | 109 | 146 | 300
1.5 23 48 32 49 | 62 92 52 83 84 | 117 | 140 117 | 109 | 146 | 300
16 | 25 | 50 32 50 | &2 92 52 84 | 87 | 121 | 140 11.8 | 109 | 146 | 300
17 | 25 | 50 32 51 | 62 92 60 85 | 87 | 121 | 140 119 | 109 | 146 | 300
1.8 28 52 32 52 | o4 95 60 8.6 87 | 121 | 150 12.0 | 111 | 149 | 300
19 | 28 52 32 53 | o4 95 60 8.7 87 | 121 | 150 121 | 111 | 149 | 330
20 30 55 32 54 | o4 95 60 8.8 89 | 124 | 150 122 | 111 | 149 | 330
2.1 30 55 32 55 | o4 95 60 8.9 89 | 124 | 150 123 | 111 | 149 | 330
22 33 58 32 56 | 67 98 72 920 89 | 124 | 150 124 | 114 | 152 | 330
23 33 58 32 57 | 67 98 72 9.1 89 | 124 | 180 125 | 114 | 152 | 330
24 35 61 32 58 | 67 98 72 92 | 92 | 127 | 180 12.6 | 114 | 152 | 340
2.5 35 61 32 59 | 67 98 72 93 92 | 127 | 180 127 | 114 | 152 | 340
2.6 37 64 32 60 | 70 | 102 | 72 94 92 | 127 | 180 128 | 114 | 152 | 340
2.7 37 64 32 61 | 70 | 102 | 80 95 92 | 127 | 180 129 | 114 | 152 | 340
2.8 39 67 32 62 | 70 | 102 | 80 9.6 95 | 130 | 190 13.0 | 114 | 152 | 340
29 42 71 32 63 | 70 | 102 | 80 9.7 95 | 130 | 190 135 | 122 | 168 | 520
30 | 42 | 71 32 64 | 73 | 105 | 80 98 | 95 | 130 | 190 140 | 122 | 168 | 535
3.1 42 | 71 34 65 | 73 | 105 | 80 99 | 95 | 130 | 190 145 | 122 | 168 | 630
3.2 42 | 7 34 6.6 | 73 | 105 | 93 10.0 | 95 | 130 | 190 15.0 | 132 | 181 | 640
33 45 73 34 67 | 73 | 105 | 93 10.1 | 98 | 133 | 230 155 | 132 | 181 | 680
34 45 73 34 68 | 73 | 105 | 93 102 | 98 133 | 230 16.0 | 132 | 181 | 700
35 45 73 34 69 | 73 | 105 | 93 103 | 98 | 133 | 230 16.5 | 132 | 181 | 760
ARARI 2GR
RTES a5

162



¢\

o A B 2% B T A 3 U

INCH STRAIGHT SHANK DRILLS TiN STRAIGHT SHANK DRILLS

#1 8 (Material) : HSS TiN Coating BTt inch -mm - 5/ A(NT/PCS)

wpmEg MR 2R kR AR skl | OEBIER e iR

Flute Overall

Dia.(inch) Price Dia.(inch) Price Dia.(inch) Price
Length ~ Length
1/32 11 34 58 1.0 55 1/16 54
3/64 20 42 45 1.1~2.0 55 5/64
1/16 25 50 35 2.1~3.0 56 3/32 54
5/64 30 55 42 3.1~35 62 7/64
3/32 33 58 32 3.6~4.0 70 1/8 62
764 | 39 67 35 4.1~4.5 80 9/64
18 42 71 34 4.6~5.0 88 5/32 70
9/64 48 76 46 5.1~5.5 100 11/64
5/32 51 79 38 5.6~6.0 115 3/16 88
11/64 54 83 50 6.1~6.5 130 13/64
3/16 59 89 52 6.6~7.0 150 7/32 115
13/64 62 92 66 71~7.5 170 15/64
7/32 64 95 68 7.6~8.0 190 1/4 130
15/64 67 98 84 8.1~8.5 215 17/64
1/4 70 102 80 8.6~9.0 235 9/32 180
17/64 73 105 105 9.1~94 300 19/64
9/32 75 108 119 9.5 280 5/16 200
19/64 78 111 141 9.6~9.9 320 21/64
5/16 81 114 120 10.0 300 11/32 270
21/64 84 117 173 10.1~10.4 375 23/64
11/32 87 121 150 10.5 340 3/8 295
23/64 89 124 209 10.6~10.9 400 25/64
3/8 92 127 180 11.0 370 3/32 350
25/64 95 130 253 11.1~114 460 27/64
3/32 98 133 240 115 420 7/16 420
27/64 | 100 137 341 11.6~11.9 500 29/64
7/16 103 140 280 12.0 460 15/32 460
29/64 | 106 143 363 12.1~12.4 540 31/64
15/32 109 146 300 125 490 1/2 550
31/64 | 111 149 396 12.6~12.9 600
12 114 152 340 13.0 550
ARERA Y2 EHEER
RSTiE BT

163



o)
Ko W i S

STRAIGHT SHANK DRILLS

“Toor
48 (Material) : HSS BN :mm - 53/ %(NT/PCS)
@® SD (5,7100) @® SD (1,7100)

A IFSEN O = AN EIFSTE v Y AN EIFSEN O = U A EIFSTN O = U A EIFSEN O = U
(m/m) Price (m/m) Price (m/m) Price (m/m) Price (m/m) Price
0.35 130 4.65 96 8.95 250 0.31~0.34 150 2.46~2.49 58
0.45 115 4.75 96 9.05 290 0.36~0.39 130 2.51~2.54 56
0.55 90 4.85 96 9.15 290 0.41~0.44 120 2.56~2.59 56
0.65 80 4.95 96 9.25 290 0.46~0.49 110 2.61~2.64 56
0.75 62 5.05 110 9.35 290 0.51~0.54 100 2.66~2.69 56
0.85 58 5.15 110 9.45 290 0.56~0.59 90 2.71~2.74 56
0.95 58 5.25 110 9.55 330 0.61~0.64 80 2.76~2.79 56
1.05 60 5.35 110 9.65 330 0.66~0.69 80 2.81~2.84 56
1.15 54 5.45 110 9.75 330 0.71~0.74 70 2.86~2.89 56
1.25 54 5.55 130 9.85 330 0.76~0.79 70 2.91~2.94 56
1.35 54 5.65 130 9.95 330 0.81~0.84 62 2.96~2.99 56
145 54 5.75 130 10.05 380 0.86~0.89 62
1.55 54 5.85 130 10.15 380 0.91~0.94 62
1.65 54 5.95 130 10.25 380 0.96~0.98 62
1.75 54 6.05 140 10.35 380 1.01~1.04 60
1.85 54 6.15 140 10.45 380 1.06~1.09 60
1.95 54 6.25 140 10.55 420 1.11~1.14 60
2.05 52 6.35 140 10.65 420 1.16~1.19 60
2.15 52 6.45 140 10.75 420 1.21~1.24 60
2.25 52 6.55 160 10.85 420 1.26~1.29 60
2.35 52 6.65 160 10.95 420 1.31~1.34 60
2.45 52 6.75 160 11.05 470 1.36~1.39 60
2.55 52 6.85 160 11.15 470 1.41~1.44 60
2.65 52 6.95 160 11.25 470 1.46~1.49 60
2.75 52 7.05 190 11.35 470 1.51~1.54 58
2.85 52 7.15 190 1145 470 1.56~1.59 58
2.95 52 7.25 190 11.55 480 1.61~1.64 58
3.05 62 7.35 190 11.65 480 1.66~1.69 58
3.15 62 7.45 190 11.75 480 1.71~1.74 58
3.25 62 7.55 200 11.85 480 1.76~1.79 58
3.35 62 7.65 200 11.95 480 1.81~1.84 58
3.45 62 7.75 200 12.05 550 1.86~1.89 58
3.55 64 7.85 200 12.15 550 1.91~1.94 58
3.65 70 7.95 200 12.25 550 1.96~1.99 58
3.75 70 8.05 230 12.35 550 2.01~2.04 58
3.85 70 8.15 230 12.45 550 2.06~2.09 58
3.95 70 8.25 230 12.55 580 2.11~2.14 58
4.05 84 8.35 230 12.65 580 2.16~2.19 58
4.15 84 8.45 230 12.75 580 2.21~2.24 58
4.25 84 8.55 250 12.85 580 2.26~2.29 58
4.35 84 8.65 250 12.95 580 2.31~2.34 58
4.45 84 8.75 250 2.36~2.39 58
4.55 96 8.85 250 2.41~2.44 58

FE ()M - IRIRCR R > FTIRAEE - RIRAINZ {ERGER
(2)SD(1/100) I 5 7 » BBk B EZH20 % DL | » T A4 - JGTEE BE ST

164



N\
74

Tooi

TV I 9

STRAIGHT SHANK LONG DRILLS

Tool

2 R(L) : Overall Length

48 (Material) : HSS {#5%(1) : Flute Length BA7:mm - 55/ S(NT/PCS)
100L 150L 200L 250L 300L 400L
Length wwp  mm mE K BE MR BE SR BE  EROEE 0K
Lk;lltlgtteh Price Lk;ll:lgtteh Price LF;II:lgtfh Price lellllgt:h Price Lh;llilgt:h Price L?:llgtteh Price
1.0 40 160 | 60 220
11~15 40 160 | 60 220
1.6~1.9 40 160 | 60 210
2.0 40 140 | 60 170| 100 240
21~24 50 150 [ 60 170 100 250
2.5 50 150 [ 60 170 100 240
2.6~29 50 160 | 75 180 100 250 | 125
3.0 50 160 | 75 180 100 230 125 260 150 300
3.1~34 50 170 | 75 190 | 100 230 125 280 150 330
35 50 170 | 75 190 100 230 125 280 150 330
3.6~3.9 50 180 | 75 210 100 250 125 300( 150 350
4.0 50 180 | 75 210 100 250 | 125 300( 150 350
4.1~4.4 75 230 100 280 | 125 330( 150 380
45 75 230 100 280 | 125 330( 150 380
4.6~4.9 75 250 [ 100 300 125 360 150 420
5.0 75 250 100 300 125 360 150 420
5.1~54 90 290 100 360 | 125 440 150 510
55 90 270 100 330 125 400 | 150 500
5.6~59 90 330| 100 390 125 460 150 550
6.0 90 290 | 100 360 | 125 440 150 510
6.1~6.4 90 360 100 430 125 5001 150 570 | 200
6.5 90 330 100 390 125 460 | 150 550 [ 200
6.6~6.9 90 420 100 470 | 125 550 150 620 | 200
7.0 90 360 | 100 430 125 500 150 570 200
75 90 420 100 470 | 150 550 150 620 | 200
8.0 90 470 | 125 510 | 150 600 | 175 680 | 200 1200
8.5 100 535( 125 580 | 150 650 175 750 | 200
9.0 100 570 125 620 | 150 710|175 800 | 200 1400
9.5 100 615|125 670 | 150 750|175 870 | 200
10.0 670 125 720 | 150 850|175 950 | 200 1700
10.5 750 | 125 850 | 150 900 | 175 1,000 | 200
11.0 150 950|175 1,100 | 200 1900
11.5 150 | 1,100( 175 1,200 | 200
12.0 150 | 1,150( 175 1,300/ 200 | 2100
12.5 150 | 1,250(175 1,420 | 200
13.0 1,300 175 1,500| 200 | 2350
# o 1~ F RST400LFBET 15 2R » Bol AT i -
2~ 7.0~13 0 [#H BHO.1~0.4 50.6~0.9 % B #4 R ~F KA (ERE R
s i A Z R E M 10% ~15% - RT3 Bia ATk

165



(A~ 1 ) 3k i A 4 B

COBALT HSS STRAIGHT SHANK DRILLS

(FOR STAINLESS STEEL)

AP

'8 (Material) : HSS-CO

BA7 : inch mm +  J/Z(NT/PCS)

2l R {E% e Tl B (B
(m/m) Price (inch) Price
0.5 90 1/6 54
0.6 80 3/32 54
0.7 75 1/8 62
0.8 58 5/32 70
0.9 58 3/16 100

1.0 55 7/32 130
1.1~1.5 55 1/4 150
1.6~2.0 55 9/32 200
2.1~2.5 56 5/16 230
2.6~3.0 56 11/32 330
3.1~3.5 62 3/8 380
3.6~4.0 70 13/32 450
4.1~4.5 88 7/16 570
4.6~5.0 100 15/32 600
51~5.5 110 1/2 600
5.6~6.0 140
6.1~6.5 150 I FR0.05m/mEf%  (Step 0.05mm )
6.6~7.0 180 N RS (m/m) B4 {8 (Unit Price)
7.1~7.5 200 0.55 135
7.6~8.0 230 0.65 125
8.1~8.5 260 0.75 115
8.6~9.0 280 0.85~0.95 95
9.1~9.5 330 1.05~1.45 80
9.6~10.0 380 1.55~1.95 80

10.1~10.5 450 2.05~245 80
10.6~11.0 500 2.55~2.95 80
11.1~11.5 570 3.05~345 90
11.6~12.0 600 3.55~395 100
12.1~12.5 640 4.05~4.45 130
12.6~13.0 660 4.55~4.95 150
Frtkakar - RRARYI %R
1. R0 F130 0 HIRHEFBARE %18 R ReTiRie A i

2. R e (e 2 B e P R S P TR (B CO 8% )

3. Rk Bh i P 8L SRS L (1) Al B 1% (HRC 67 1)

166




Tooi
DRILL BLANKS
.
8 (Material) : HSS BA7 :mm I8/ F(NT/PCS)

Length PR

Length

Standard 50L 100L 150L 200L 150L 200L
Dia. Dia.
0.2 125 135 320 470
0.3 70 120 14.0 350 520
04 55 115 145 370 550
0.5 40 65 75 15.0 400 580
0.6 ~0.7 30 45 70 155 420 610
08 ~0.9 28 34 60 16.0 440 640
1.0 26 34 50 100 150 16.5 460 680
11 ~2.0 26 25 45 80 120 17.0 480 710
21 ~3.0 26 25 45 70 100 175 510 760
31 ~35 28 28 45 60 110 18.0 530 790
3.6~ 40 32 28 45 60 110 185 550 920
41~ 45 36 30 45 64 115 19.0 580 970
4.6 ~ 5.0 42 35 50 75 125 195 600 1070
51~ 55 52 55 80 135 20.0 650 1210
5.6 ~ 6.0 58 60 88 155 205 | 210 700 1440
61~ 65 65 70 98 165 215 |, 220 750 1560
6.6~ 170 75 80 108 180 225 230 820 1620
71~ 175 85 90 124 195 235 , 240 940 1800
7.6 ~ 8.0 95 95 135 210 245 | 250 1020 1980
81~ 85 110 145 225 255 | 26.0 1180 2100
8.6 ~ 9.0 120 150 240 265 , 270 1300 2280
91~ 95 140 160 260 275 |, 280 1400 2520
9.6 ~ 10.0 155 170 270 285 |, 29.0 1500 2700
10.1 ~ 105 180 180 290 295 | 30.0 1650 2880
10.6 ~ 11.0 200 195 310
1.1~ 115 235 230 330
11.6 ~ 12.0 250 235 370
12.1 ~ 125 275 420
12.6 ~ 13.0 290 450
KRFAR I fEE R
T a1

167



74

Tool

NOSS DRILLS

S5

#8 (Material) : HSS & HSS-CO B ¢ inch mm - ¢/ K(NT/PCS)
AWIBUE BT MR WWEK M T M@ EHIBE BT MW
(mm) HSS HSS-CO (mm) HSS HSS-CO (inch) HSS HSS-CO
13.0 440 840 13.1~13.4 600 1,100 12 440 840
13.5 470 900 13.6~13.9 640 1,160 17/32 470 900
14.0 480 960 14.1~14.4 680 1,240 9/16 540 1,040
145 540 1,040 14.6~14.9 740 1,340 | | 19/32 720
15.0 560 1,100 15.1~154 780 1,420 5/8 620 1,200
155 600 1,160 15.6~15.9 820 1,500 % 21/32 780
16.0 620 1,200 16.1~16.4 850 1,560 11/16 760 1,440
16.5 670 1,280 16.6~16.9 900 1,660 | | 23/32 950
17.0 710 1,360 171~174 960 1,760 3/4 890 1,640
175 760 1,440 17.6~17.9 1,020 1,860 | |:x 25/32 1,100
18.0 780 1,500 18.1~18.4 1,060 1,940 13/16 1,000 2,000
185 820 1,560 18.6~18.9 1,100{ 2,020 [ 27/32 1,250
19.0 850 1,640 19.1~19.4 1,160 2,120 7/8 1,300 2,300
195 890| 1,700 19.6~19.9 1200 2,200 | 29/32 1,500
20.0 970 1,840 | || 20.1~20.4 1,280 2,400 15/16 1,400 2,600
20.5 521.0 1,100 2,000 | || 20.6~20.9 1,360 2,600 ¥ 31/32 1,650
215 ,220 1,200 2,200 | x| 21.1~21.4 1,500 2,740 1" 1,760 3,200
225 ,23.0 1,300 2,400 | |x| 21.6~21.9 1,560 2,860 3 1-1/32 2,090
235 ,240 1,400| 2,600 | |x| 22.1~22.4 1,680 3,120 || 1-1/16 1,870
245 ,25.0 1,500 3,000 | || 22.6~22.9 1,680 3,120 1-3/32 2.420
255 ,26.0 1,600 x| 23.1~23.4 1,820 3,380 1-1/8 2,310
26.5 ,27.0 1,700 x| 23.6~23.9 1,820 3,380 P 1-5/32 2910
27.5 ,28.0 1,900 x| 24.1~24.4 2,100 3,900 x| 1-3/16 2,700
28.5 ,29.0 2,100 x| 24.6~24.9 2,100 3,900 % 1-7/32 3,850
29.5 ,30.0 2,200 1-1/4 3,630
30.5 »31.0 2,640 P 1-9/32 4,400
315 »320 3,300 x| 1-5/16 4.400
325 5330 3,700 P 1-3/8 4,620
335 5340 4,000 x| 1-7/16 4,950
345 ,35.0 4,200 1-1/2 5,060
o MR - IR (RORELE > BT AR - AFAR I 2 ek
TS a5

168




TAPER SHANK DRILLS

#'8&(Material) : HSS BT :inch - mm - 5 Z(NT/PCS)
NRIRURE (R RIS (R B R B BB
(m/m) Price (m/m) Price (inch) Price (inch) Price
8.0 450 35.5,36.0 | 5,130 1/2 810 1-7/16 6,600
85,9.0 510 36.5,37.0 | 5560 17/32 810
9.5, 10.0 570 37.5,38.0 | 6,250 9/16 900 1-1/2 6,890
10.5 , 11.0 630 38.8 ,39.0 | 6,350 19/32 1,000
11.5 680 39.5,40.0 | 6,550 5/8 1,000 1-9/16 8,380
12.0 720 41.0 7,700 21/32 1,140
12.5 720 42.0 8,000 11/16 1,190 1-5/8 8,400
13.0 720 43.0 9,000 23/32 1,330
13.5 ,14.0 760 44.0 9,600 3/4 1,570 1-11/16 10,160
14.5 , 15.0 890 45.0 9,900 25/32 1,520
15.5 , 16.0 950 46.0 10,500 13/16 1,570 1-3/4 10,450
16.5 ,17.0 | 1,090 47.0 11,000 27/32 1,660
17.5 ,18.0 | 1,230 48.0 11,600 7/8 1,760 1-13/16 12,350
18.5 ,19.0 | 1,280 49.0 12,000 29/32 | 2,090 1-7/8 12,730
19.5 ,20.0 | 1,420 50.0 13,550 15/16 2,180 1-15/16 14,250
20.5 ,21.0 | 1,500 31/32 | 2,330 24 14,800
21.5,22.0 | 1,610 1" 2,330
22.5,23.0 | 1,710
23.5,24.0 | 1,950 1-1/16 2,750
245 ,25.0 | 2,160
25.5,26.0 | 2,330 1-1/8 3,090
26.5 ,27.0 | 2,470
27.5,28.0 | 2,660 1-3/16 3,700
28.5,29.0 | 2,950
29.5,30.0 | 3,370 1-1/4 3,990
30.5 ,31.0 | 3,660
31.5,32.0 | 3,990 1-5/16 5,600
32.5,33.0 | 4420
33.5,34.0 | 4,700 1-3/8 5,220
34.5,35.0 | 4990
KRRARIZ fEHE R

T EE Tl




FHRARIN IRHERRIN Tkl IRIEFRIN

AEISGM H.T S.F.T P.O.T. N.T SKS
= SKS(32) SKS(itHl) SKH(32) | SKS(32) SKH(x) | SKS(32) SKH(2) | R(2) #E(X)

M1x0.25 102.00

M1.2x0.25 95.00

M1.4x0.3 78.00

M1.6x0.35 83.00

M1.7x0.35 64.00

M2x0.4 59.00 177.00 325.00 315.00

M2.3x0.4 69.00 207.00 333.00 290.00

M2.5x0.45 65.00 195.00 291.00 265.00

M2.6x0.45 56.00 168.00 237.00 229.00 110.00
M3x0.35 85.00 255.00

M3x0.5 43.00 129.00 136.00 196.00 191.00 150.00 100.00
M3x0.6 43.00 129.00 83.00 196.00 191.00 150.00 100.00
M3.5x0.35 243.00

M3.5X0.6 52.00 156.00 88.00 206.00 200.00 160.00 120.00
M4x0.5 82.00 246.00

M4x0.7 43.00 129.00 136.00 186.00 184.00 150.00 100.00
M4x0.75 43.00 129.00 186.00 184.00 150.00 100.00
M4.5x0.5 65.00 195.00

M4.5x0.75 51.00 153.00 234.00 230.00 190.00 140.00
M5x0.5 61.00 183.00

M5x0.75 228.00

M5x0.8 46.00 138.00 140.00 83.00 190.00 184.00 160.00 115.00
M5x0.9 46.00 138.00 190.00 83.00 184.00 160.00 115.00
M5.5x0.5 225.00

M5.5x0.75 264.00

M5.5x0.9 64.00 192.00 86.00 239.00 86.00 239.00 200.00 160.00
M6x0.5 93.00 279.00

M6x0.75 64.00 192.00

M6x1.0 50.00 150.00 160.00 201.00 196.00 180.00 130.00
M7x0.5 402.00

170



WD IZHRIN A 2%

SO SEREMI SIRMIN IRIEEI

: S ET PO.T. N.T SKS
.
BHIFM gz skl skr) | ks skH) | sks(z skH(= 7
M7x0.75 103.00 309.00

M7x1.0 86.00 258.00 267.00 260.00 260.00 180.00
M7x1.25 423.00

M8x0.5 618.00

M8x0.75 148.00 444.00 210.00
M8x1.0 103.00 309.00 170.00 416.00 170.00 406.00 210.00
M8x1.25 76.00 228.00 205.00 275.00 265.00 260.00 180.00
M8x1.5 426.00

M9x0.5 1,116.00

M9x0.75 801.00

M9x1.0 552.00

M9x1.25 115.00 345.00 200.00 436.00 200.00 436.00 300.00 230.00
M9x1.5 606.00

M10x0.5 801.00

M10x0.75 579.00

M10x1.0 122.00 366.00 510.00 495.00 260.00
M10x1.25 98.00 294.00 260.00 365.00 152.00 355.00 310.00 240.00
M10x1.5 98.00 294.00 260.00 365.00 152.00 355.00 310.00 240.00
M11x0.5 1,209.00

M11x0.75 873.00

M11x1.0 576.00

M11x1.25 438.00

M11x1.5 438.00 228.00

M12x0.5 1,020.00

M12x0.75 783.00

M12x1.0 167.00 501.00 592.00 592.00 380.00
M12x1.25 142.00 426.00 375.00 490.00 260.00 490.00 320.00
M12x1.5 142.00 426.00 375.00 260.00 490.00 260.00 490.00 480.00 320.00
M12x1.75 142.00 426.00 375.00 490.00 260.00 490.00 480.00 320.00
M13x1.0 741.00

M13x1.25 741.00

M13x1.5 741.00

M13x1.75 810.00

M14x1.0 204.00 612.00 370.00 837.00 837.00

171



FHRARIN IRHERRIN FolmAkIN IRIEFRIN

AGIFM : SFET P.O.T. N.T SK_S
SKS(%2) SKS(#8) SKH(2) | SKS(2) SKH(Z) | SKS(X%) SKH(Z)

M14x1.25 204.00 612.00 819.00 780.00 450.00

M14x1.5 184.00 552.00 503.00 350.00 654.00 320.00 640.00 680.00 450.00

M14x1.75 612.00

M14x2.0 184.00 552.00 503.00 350.00 654.00 320.00 640.00 680.00 528.00

M15x1.0 320.00 960.00

M15x1.5 320.00 960.00

M15x2.0 960.00

M16x1.0 311.00 933.00 1,140.00 1,060.00

M16x1.5 260.00 780.00 725.00 500.00 867.00  470.00 850.00 880.00 570.00

M16x2.0 260.00 780.00 725.00 867.00 850.00  920.00 570.00

M17x1.0 366.00 1,098.00

M17x1.5 1,098.00

M17x2.0 1,170.00

M18x1.0 413.00 1,239.00 1,846.00 1,796.00

M18x1.5 359.00 1,077.00 898.00 1,188.00 1,158.00 730.00

M18x2.0 1,104.00 620.00 1,375.00 1,307.00 770.00

M18x2.5 359.00 1,077.00 898.00  570.00 1,188.00 1,158.00 730.00

M19x1.0 453.00 1,359.00

M19x1.5 1,263.00

M19x2.5 1,263.00

M20x0.5 3,171.00

M20x1.0 504.00 1,512.00 2,106.00 2,066.00

M20x1.5 430.00 1,290.00 1,075.00 1,601.00 1,560.00

M20x2.0 441.00 1,323.00 858.00 1,924.00 1,864.00

M20x2.5 430.00 1,290.00 1,075.00 1,601.00 1,560.00

M22x1.0 616.000 1,848.00 2,696.00 2,646.00

M22x1.5 526.00 1,578.00 1,315.00 2,062.00 2,062.00

M22x2.0 539.00 1,617.00 1,350.00 2,490.00 2,420.00

M22x2.5 526.00 1,578.00 1,315.00 2,062.00 2,062.00

M24x1.0 785.00 2,355.00

M24x1.5 683.00 2,049.00 1,708.00 1,470.00 2,720.00 2,720.00

M24x2.0 701.00 2,103.00 3,185.00 3,085.00

M24x3.0 683.00 2,049.00 1,708.00 2,720.00 2,720.00

M25x1.0  1,079.00 3,237.00

M25x1.5 768.00 2,304.00 2,170.00

M25x2.0 768.00 2,304.00

172



WD IZARIN T as

\ e taladatelated o
:'. H’h \' il

)
l

FHHRIN PRHRHRIN g B
SKS(2) SKS(#8)  SKH(®) SKH SKH

M26x1 1,763.00 3,525.00

M26x1.5 1,253.00 2,505.00 2,200.00 2,320.00 3,320.00
M26x2 1,253.00 2,505.00

M26x3 1,253.00 2,505.00

M27x1 1,707.00 3,414.00

M27x1.5 1,707.00 3,414.00 2,850.00 4,100.00 4,100.00
M27x2 1,707.00 3,414.00

M27x3 1,707.00 3,414.00 2,850.00 4,100.00 4,100.00
M28x1 1,485.00 2,970.00

M28x1.5 1,385.00 2,769.00

M28x2 1,385.00 2,769.00

M30x1 2,061.00 4,122.00

M30x1.5 1,473.00 2,946.00 3,120.00 4,742.00 4,742.00
M30x2 1,473.00 2,946.00 3,420.00 5,692.00 5,485.00
M30x3 1,473.00 2,946.00 3,420.00

M30x3.5 1,473.00 2,946.00 3,120.00 4,742.00 4,742.00
M32x1 3,825.00 7,650.00

M32x1.5 3,330.00 6,660.00 5,190.00 6,040.00 6,040.00
M32x2 3,330.00 6,660.00 5,190.00

M32x3 3,825.00 7,650.00 5,190.00 6,040.00 6,040.00
M33x1.5 3,555.00 7,110.00 5,230.00 6,430.00 6,430.00
M33x2 3,825.00 7,650.00

M33x3 3,555.00 7,110.00 5,750.00

M33x3.5 3,555.00 7,110.00 5,230.00 5,850.00 5,850.00
M34x1 4,275.00 8,550.00

M34x1.5 3,720.00 7,440.00 5,340.00

M34x2 4,095.00 8,190.00 5,870.00

M34x3 4,095.00 8,190.00 5,870.00

M35x1.5 3,780.00 7,560.00 5,530.00

M35x2 4,155.00 8,310.00 6,080.00

M35x3 4,155.00 8,310.00 6,080.00

173



T YT T ST TR e AT S )
Qe b8 L by Smibp i i i e R iy i

FHRARIN IRHERRIN FolmAkIN IRIEFRIN

. H.T S.F.T P.O.T. N.T SKS
Rl W SKS(%) SKS(#) SKH(X) | SKS(X%) SKH(Z) | SKS(3) SKH(X)

W1/16-60 203.00 609.00
Wa3/32-48 158.00 474.00

W1/8-40 47.00 141.00 148.00 90.00 203.00 90.00 196.00 170.00 130.00
W5/32-32 47.00 141.00 148.00 203.00 90.00 196.00 170.00 130.00
W3/16-24 51.00 153.00 156.00 196.00 90.00 192.00 155.00 140.00
W7/32-24 116.00 348.00

W1/4-20 57.00 171.00 178.00 249.00 210.00 180.00 160.00
W5/16-18 67.00 201.00 193.00 328.00 318.00 260.00 190.00
Wa3/8-16 84.00 252.00 234.00 395.00 170.00 385.00 300.00 230.00
W7/16-14 125.00 375.00 218.00 479.00 218.00 469.00 382.00 310.00
W1/2-12 145.00 435.00 411.00 658.00 284.00 648.00 493.00 410.00
W9/16-12 681.00 437.00 1,020.00 437.00 1,000.00

W5/8-11 227.00 681.00 671.00 1,020.00 437.00 1,000.00 860.00 630.00
W11/16-11 1,035.00

Wa3/4-10 314.00 942.00 968.00 640.00 1,544.00 640.00 1,524.00 1,150.00 950.00
W13/16-10 1,353.00

W7/8-9 440.00 1,320.00 1,320.00 2,390.00 2,350.00

W15/16-9 2,493.00

Wi1-8 600.00 1,800.00 1,760.00 3,426.00 1,470.00 3,386.00

W11/8-7 1,400.00 2,799.00 4,693.00 4,640.00

W11/4-7 1,742.00 3,483.00 5,773.00 5,710.00

W13/8-6 2,139.00 4,278.00 7,791.00 7,700.00

W11/2-6 2,721.00 5,442.00 9,357.00 9,250.00

W15/8-5 4,125.00 8,250.00

W13/4-5 4,950.00 9,900.00 14,080.00

W17/8-41/2 6,105.00 12,210.00 21,720.00

W2-41/2 7,755.0015,510.00

174



BEAE

1/16-28
1/8-28
1/4-19
3/8-19
1/2-14
5/8-14
3/4-14

SIS SKS(2)

150.00
134.00
196.00
320.00
463.00
650.00
671.00
1,097.00

1,764.00
2,498.00
5,465.00

SKH(32)

341.00
486.00
780.00
1,207.00

1,713.00
2,662.00
3,900.00
5,390.00
10,200.00

SKS(%)
170.00
155.00
231.00
370.00
546.00
760.00
778.00

1,247.00

1,812.00

2,792.00

6,432.00

BEFE
NPSEHF

ifﬁugj SKS(3%2) SKH(3%)
1/16-27 154.00

1/8-27 154.00 402.00
1/4-18 233.00 563.00
3/8-18 377.00 903.00
1/2-14 546.00 1,302.00
3/4-14 742.00 1,800.00
1-111/2 1,217.00 2,840.00
11/4-111/2 1,951.00 4,.100.00
11/2-111/2 2,790.00 5,660.00
2-111/2 6,467.00 10,980.00

PTHRIZF

SKH(32)

390.00
557.00
910.00
1,390.00
2,014.00
2,014.00
3,058.00
4,420.00
6,240.00
11,568.00

390.00
557.00
910.00
1,390.00

2,214.00
3,358.00

NPTHISF

SKS(32) SKH(X)

181.00

181.00 463.00

270.00 662.00

435.00 1,102.00

644.00 1,644.00

861.00 2,120.00
1,405.00 3,210.00
2,137.00 4,640.00
3,292.00 6,545.00
7,904.00 13,250.00

175

EFSKH(3Z) BEFSKH()

768.00
1,103.00
1,729.00
2,702.00

4,533.00
8,484.00

1

SKS(32)

147.00
220.00
344.00
497.00
700.00
703.00
1,170.00

1,794.00

SKH(X)

377.00
527.00
845.00
1,326.00

1,888.00
2,980.00

NPTFFRISF
SKS(2)

200.00
297.00
479.00
709.00
947.00

,546.00

SKH(32)

510.00

729.00
1,213.00
1,809.00
2,515.00
3,749.00



NO.0-80
NO.1-72
NO.2-64
NO.3-56
NO.4-48
NO.5-44
NO.6-40
NO.8-36

UNF F
LA
UNF

UNF
UNF
UNF
UNF
UNF
UNF
UNF

NO.10-32 UNF
NO.12-28 UNF

1/8-44
5/32-36
3/16-32
7/32-32
1/4-28
5/16-24
3/8-18
3/8-24
7/16-20
1/2-20
9/16-18
9/16-20
5/8-18
5/8-20
3/4-16
7/8-14
1-12
1-14
11/8-12
11/4-12
11/2-12
17/8-12
2-12

UNF
UNF
UNF
UNF
UNF
UNF
NS

UNF
UNF
UNF
UNF
UNS
UNF
UNS
UNF
UNF
UNF
UNS
UNF
UNF
UNF
UNF
UNF

TN

SKS(32)

88.00

50
50.00
52.00
60.00
65.00
65.00
60.00

110.00
71.00
83.00

106.00
146.00
167.00

240.00
359.00
478.00
610.00
1,548.00
1,964.00

3,074.00

8,925.00

SKS(#8)
363.00
306.00
285.00
264.00
249.00
171.00
150.00
150.00
156.00
180.00
195.00
195.00
180.00
330.00
213.00
249.00
318.00
318.00
438.00
501.00
684.00
861.00
720.00
912.00
1,077.00
1,434.00
1,830.00
2,070.00
3,096.00
3,927.00
6,147.00

14,040.00

17,850.00

176

WRHEFRIN
SFT

230.00

340.00

520.00

795.00

225.00
216.00
214.00
214.00
220.00
225.00

225.00

230.00
303.00

370.00
475.00
570.00
840.00

886.00
1,375.00
2,100.00

3,010.00

4,498.00
5,286.00

AR I

PO T.
SKH(®)

216.00
208.00
205.00
205.00
210.00
216.00

216.00

218.00
279.00

337.00
465.00
557.00
800.00

872.00
1,312.00
2,034.00

2,920.00

4,498.00
5,286.00



FHRERIN IZHERRIN STtk %?lll'é"ﬁfflﬂ

UNF 5 H.T SFT POT.

EFIHESF SKS(%)  SKS(#) SKH() SKH(3% SKS §)
NO.1-64 UNC 10200  306.00

NO.256 UNC 9200  276.00

NO.3-48 UNC 86.00  258.00

NO.4-40 UNC 8300  249.00 225,00 216.00

NO.5-40 UNC 171.00 216.00 208.00

NO.632 UNC 50.00  150.00 214.00 205.00

NO.8:32 UNC 50.00  150.00 214.00 205.00

NO.10-24 UNC 5200  156.00 220.00 210.00

NO.12-24 UNC 60.00  180.00 225,00 216.00

NO.1/8-40 UNC 195.0

3/16-24  UNC 180.00

1/4-20  UNC 71.00  213.00 230.00 218.00 120.00
5/16-18  UNC 8300  249.00 303.00 279.00 150.00
3/8-16  UNC 106.00  318.00 370.00 337.00 180.00
7M6-14  UNC 146.00  438.00 475.00 465.00

1/2-13  UNC 167.00  501.00 570.00 557.00

9/16-12  UNC 684.00 840.00 810.00

5/8-11  UNC 24000  720.00 886.00 872.00

3/410  UNC 350.00  1,077.00 1,357.00 1,312.00

7/89  UNC 47800  1,434.00 2,100 2,034.00

1-8 UNC 62000  1,830.00 3,010.00 2,920.00

11/87  UNC 3,096.00

1147 UNC 3,927.00

13/86  UNC 5,055.00

11/26  UNC 6,147.00

18/4-5  UNC 11,400.00

2.41/2  NUC 17,850.00

177



o L

SKS
RS 201%(R) 251%() 38fE(R) 501E((R) RRA 251%(R)  381E(R) 501E(R)
M2x0.4 400.00 M11x0.5 460.00 950.00
M2.3x0.4 330.00 400.00 M11x0.75 460.00 950.00
M2.5x0.45 400.00 M11x1.0 460.00 850.00
M2.6x0.45 330.00 400.00 M11x1.25 370.00 720.00
M3x0.35 460.00 M11x1.5 370.00 720.00
M3x0.5 370.00 M12x0.5 460.00 950.00
M3x0.6 330.00 370.00 M12x0.75 460.00 950.00
M3.5x0.35 460.00 M12x1.0 460.00 850.00
M3.5x0.6 370.00 M12x1.25 370.00 550.00  720.00
M4x0.5 460.00 M12x1.5 370.00 550.00  720.00
M4x0.7 370.00 M12x1.75 370.00 720.00
M4x0.75 370.00 M13x1.0 850.00
M4.5x0.5 400.00 460.00 M13x1.25 720.00
M4.5x0.75 330.00 370.00 M13x1.5 720.00
M5x0.5 460.00 M13x1.75 720.00
M5x0.8 330.00 370.00 M14x1.0 850.00
M5x0.9 330.00 370.00 M14x1.25 720.00
M5.5x0.5 400.00 460.00 M14x1.5 720.00
M5.5x0.9 330.00 370.00 M14x2.0 550.00  720.00
M6x0.5 400.00 460.00 M15x1.0 850.00
M6x0.75 460.00 M15x1.5 720.00
M6x1.0 330.00 370.00 720.00 M15x2.0 720.00
M7x0.5 460.00 M16x1.0 850.00
M7x0.75 460.00 M16x1.5 550.00  720.00
M7x1.0 370.00 M16x2.0 550.00  720.00
M8x0.5 460.00 M17x1.0 850.00
M8x0.75 460.00 M17x1.5 720.00
M8x1.0 370.00 720.00 M17x2.0 720.00
M8x1.25 370.00 720.00 M18x1.0 850.00
M9x0.5 460.00 950.00 M18x1.5 720.00
M9x0.75 460.00 950.00 M18x2.0 720.00
M9x1.0 460.00 850.00 M18x2.5 720.00
M9x1.25 370.00 550.00 720.00 M19x1.0 950.00
M10x0.5 460.00 950.00 M20x0.5 950.00
M10x0.75 460.00 950.00 M20x1.0 950.00
M10x1.0 460.00 850.00 M20x1.5 720.00
M10x1.25 370.00 550.00 720.00 M20x2.0 720.00
M10x1.5 370.00 550.00 720.00 M20x2.5 720.00

178



IZ AT IR

H.T.D
] 5075() 637E()
M22x1.0 950.00 M26x2.0 850.00 2,350.00
M22x1.5 720.00 M27x1.0 950.00
M22x2.0 720.00 M27x1.5 850.00
M22x2.5 720.00 M27x2.0 850.00
M24x1.0 950.00 M27x3.0 850.00 2,350.00
M24x1.5 720.00 M28x1.0 950.00 2,920.00
M24x2.0 720.00 M28x1.5 850.00 2,350.00
M24x3.0 720.00 M28x2.0 850.00 2,350.00
M25x1.0 950.00 M30x1.0 1,050.00 2,920.00
M25x1.5 850.00 M30x1.5 850.00 2,350.00
M25x2.0 850.00 M30x2.0 1,050.00 2,420.00
M26x1.0 950.00 M30x3.0 1,050.00
M26x1.5 850.00 M30x3.5 850.00 2,350.00
ERHEFZHRFIR
UNC #R4% SKS 201%(5) SKS251%(5) SKS501%R) | UNCHAE  SKS 251%(R) SKS501%(R)
NO4-40UNC 370.00 3/8-16UNC 370.00 760.00
NO5-40UNC 370.00 7/16-14UNC 760.00
NO6-32UNC 370.00 1/2-13UNC 760.00
NO8-32UNC 330.00 370.00 9/16-12UNC 760.00
NO10-24UNC 370.00 5/8-11UNC 760.00
NO12-24UNC 370.00 3/4-10UNC 760.00
NO1/4-20UNC 370.00 760.00  7/8-9UNC 760.00
NO5/16-18UNC 370.00 760.00  1-8UNC 760.00
.
ERMFIEHFR g
f R
UNFA848 SKS 25f%(H)  SKS 501&(R) UNF#R4% SKS 501%(5)  SKS631E(R)
NO3-56UNF 480.00 7/16-20UNF 760.00
NO4-48UNF 370.00 1/2-20UNF 760.00
NO5-44UNF 370.00 9/16-18UNF 760.00
NOB-40UNF 370.00 9/16-20UNF 950.00
NO8-36UNF 370.00 5/8-18UNF 760.00
NO10-32UNF 370.00 5/8-20UNF 950.00
NO12-28UNF 370.00 3/4-16UNF 760.00
NO1/8-44UNF 370.00 7/8-14UNF 760.00
NO5/32-36UNF 370.00 1-12UNF 760.00
NO3/16-32UNF 370.00 1-14UNF 950.00
NO7/32-32UNF 480.00 11/8-12UNS 2,760.00
NO1/4-28UNF 370.00 760.00 1 1/8-12UNF 2,760.00
NO5/16-24UNF 370.00 760.00 1 1/2-12UNF 2,760.00
NO3/8-24UNF 370.00 760.00

179






¥ PNEUMATIC TOOLS-PROFESSIONAL
.4 DESIGN & PRODUCTION

A113-1

E = A113-2 :
sl A113:3
A113-4 ﬂﬁ-—-ﬂm

. A113:5 3 g g "
A113-6 % = "3 '@ N
:;‘L _— : e Wl W 74 )2 @\
’ xR -
o A107-7 A107-8 A107-9 A107-10 A107-11

B101-4 -—
v ¥ v = -
P B101-3 -
REZ . " " -'\,:
B101-1 "'K,-!‘\L’_ ‘ """,:-\,‘—3'—
- B101-2
> [ b ‘ Y
B101-6 i T i
e i k-
e ey, e
r B105 » ;

A107-12



WY 2E25eRBERAT
H EEBZERAT
10148 R REZ{EH312255%
40148 NO. 225, CHIEN-TE ST, E. DIST., TAICHUNG, TAIWAN.
TEL:886-4-22805685 FAX:886-4-22811973
E-mail:h805@ms14.hinet.net  http://www.king-diamond.com.tw




	益菖1-24
	益菖P1-P61
	益菖P62-P177


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


